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CPA ADVANCED LEVEL
ADVANCED FINANCIAL MANAGEMENT

TUESDAY:: 23 April 2024. Morning Paper. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your
workings. Do NOT write anything on this paper.

QUESTION ONE

@ Summarise FOUR causes of hard capital rationing as used,in capital budgeting. (4 marks)
(b) Outline FOUR limitations of Treynor’s measure of portfolio performance. (4 marks)
(© Kangaro Youth Sports Ltd. wishes to design @ new sports bicycle. The company will have to invest Sh.100

million at the beginning of the first year for the design and model testing of the new bicycle.

The firm’s managers believe that there is’an 80% probability that this phase will be successful and the project will
continue.

If Phase 1 is not successful, the project will be abandoned with zero salvage value.

The next phase, if undertaken, would consist of making the molds and producing twenty prototype bicycles. This
would cost Sh.400 millionvat the end of the first year. If this phase is successful, the firm would go into full scale
production. If the phase is not successful, the molds and prototypes could be sold for Sh.150 million. The
managers estimate that the probability that the bicycles will pass the test is 90% and that Phase 3 will be
undertaken.

Phase 3 consists of changing over current production line to produce the new design. This would cost Sh.1,100
million in year 2.

If the economy is strong at this point, the net value of cash flows would be Sh.3,500 million, while if the economy
is weak the net value of cash inflows would be Sh.2,600 million. Both net values of cash inflows will be realised
at the end of year 3 and both states of the economy are equally likely.

The company’s cost of capital is 13%.

Required:
(M Using a decision tree, determine the project’s expected net present value (ENPV). (5 marks)
(i) Calculate the project’s standard deviation of expected net present value and comment on the result.

(4 marks)

(iii) Using the normal probability distribution, compute the probability that the project’s net present value
will be at least Sh.80 million. (3 marks)
(Total: 20 marks)

QUESTION TWO
@ Two assets, A and B are known to lie on the security market line (SML). Asset A has a beta of 0.5 and a risk
premium of 4%. Asset B has an expected rate of return of 20% and a beta of 1.75.

You are considering the following securities which are available in the market:

Security Expected return (%0) Beta
A 20 2.00
B 14 0.75
C 15 1.25
D 12 -0.25
E 31 3.25
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Required:

M Determine the risk free rate of return. (2 marks)
(i) Calculate the required rate of return of each security. (4 marks)
(iii) Identify which security is undervalued, overvalued or correctly valued. (2 marks)
(b) Cosmos Operators Ltd. have an optimal capital structure given as follows:
Sh.<000”
Ordinary share capital (Sh.20 par value each) 80,000
Reserves 20,000
16% debt (Sh.100 par value each) 40,000
10% preference share capital (Sh.30 per value each) 60,000
200,000
Additional information:
1. The firm is considering raising Sh.20 million for an expansion programme of which Sh.2,000,000 is
expected to be raised from internal sources.
2. New ordinary shares will be issued at Sh.35 each.~A floatation cost of Sh.5 per share issued will be
incurred.
3. The firm’s most recent earnings per share (EPS) is Sh.3. The firm adopts 50% pay out ratio as its
dividend policy. Dividends are expected to.grow at a rate of 5% each year in a perpetuity.
4, New 10% irredeemable debentures will~be issued at Sh.110 each. A floatation cost of Sh.10 per
debenture will be incurred.
5. New 10% irredeemable preference shares will be issued at Sh.40 each.
6. Corporation tax rate is 30%.
Required:
0] The retained earnings break point. (2 marks)
(i) The number of new)erdinary shares to be issued to raise the desired external equity. (2 marks)

(iii) The weighted-marginal cost of capital (WMCC) in each of the intervals between the breakpoints.
(8 marks)
(Total: 20 marks)

QUESTION THREE

€)] Explain the following option trading strategies:
(i) Bull spread. (2 marks)
(i) Bear spread. (2 marks)
(iii) Covered call. (2 marks)
(b) Duet Ltd. is considering a takeover bid for Small Ltd., another company in the same industry. Small Ltd. is

expected to have earnings next year of Sh.129,000,000.

If Duet Ltd. acquires Small Ltd., the expected results from Small Ltd. will be as follows:

Year after acquisition

Year Year 1 Year 2 Year 3
Sh.«000” Sh.«000” Sh.«000”

Sales 300,000 420,000 480,000

Cash costs/expenses 180,000 240,000 270,000

Capital allowances 30,000 45,000 60,000

Interest charges 15,000 15,000 15,000

Cash flows to replace assets and finance growth 37,500 45,000 52,500

Additional information:

1. From year 4 onwards, it is expected that the annual cash flows from Small Ltd. will increase by 4% each
year in perpetuity.

2. Tax is payable at the rate of 30%. Tax is paid in the same year it falls due.

3. If Duet Ltd. acquires Small Ltd., it estimates that gearing after the acquisition will be 35% (measured as
the value of its debt capital as proportion of total equity plus debt).

4, The cost of debt is 7.4% before tax. Duet Ltd. has an equity beta of 1.60.

5. The risk free rate of return is 6% and the return on the market portfolio is 11%.
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Required:

M The offer price for Small Ltd. assuming Duet Ltd. chooses to value Small Ltd. on a forward price
earnings (P/E) multiple of 8 times. (2 marks)
(ii) The cost of capital of Duet Ltd. (4 marks)

(iii) Determine the offer price for Small Ltd. using discounted free cash flow (DCF) valuation method.
(8 marks)
(Total: 20 marks)

QUESTION FOUR
@ Explain FOUR advantages of real estate investments. (4 marks)

(b) Jacob Ouma, a financial analyst, gathered the following financial information from the banking industry in Kenya.
The interest rate on a one year Kenyan bank is 16%.

The interest rate on a one year foreign bank deposit is 22%.

Required:

(i) Compute the percentage change in the value<of the foreign currency according to International Fisher
Effect. (3 marks)

(i) Given a spot rate of Tshl = Ksh. 6.06, calculate the forward rate of Tsh after one year. (2 marks)

(© The following are the financial statements of Bobi Ltd. for the year ended 31 December 2023:

Bobi Limited
Statement of profit or loss for the year ended 31 December 2023:
Sh.«000”
Revenue 60,000
Cost of sales (35,000)
Gross profit 25,000
Operating expenses (10,000)
Operating profit 15,000
Finance cost (11,000)
Earnings before tax 4,000
Income tax expense (1,200)
Profit for the year 2,800
Bobi Limited
Statement of financial position as at 31 December 2023:
Sh. “000” Sh.«000”
Net tangible assets 126,000
Intangible assets 42,000
168,000
Current assets:
Inventory 48,000
Trade receivables 36,000
Bank balance 4,800 88,800
256,800
Financed by:
Equities and liabilities:
Equity:
480,000 preference shares (Sh.25 each) 12,000
500,000 ordinary shares (Sh.24 each) 12,000
Share premium 24,000
Retained earnings 16,800
64,800
Non-current liabilities:
Mortgage (20 years) 48,000
8% debentures 72,000 120,000
Total equity and reserve 184,800
Current liabilities:
Trade payables 12,000
Notes payable 60,000 72,000
Total liabilities and equity 256,800
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Additional information:
1. The Z-score is to be calculated using the following formula:
Z-score =1.2X; + 1.4X5+ 3.3X3+ 0.6X4 + 1.0X5

Where:

X1 = Working capital/Total assets

X, = Retained earnings/Total assets

Xs = Earnings before interest and tax/Total assets

Xs = Market value of equity/Book value of debt

Xs = Sales/Total assets
2. The current market price per share is Sh.42.
Required:
Q) The Z-score of Bobi Ltd. for the year ended 31 December 2023. (6 marks)
(ii) Interpret the meaning of Z-score obtained in (c) (i) above. (2 marks)
(iii) Outline THREE limitations of Z-score model. (3 marks)

(Total: 20 marks)

QUESTION FIVE

@ Discuss THREE factors that distinguish between the. cost of capital of a multinational corporation and the cost of
capital of a domestic firm. (6 marks)
(b) In relation to financial risk management, explain FOUR advantages of plain vanilla currency swaps with monthly
delivery compared with a strip of forward contracts. (4 marks)

(© Kawaida Ltd. has Sh.3,000,000 in.equity capital and Sh.1,000,000 in debt capital (at market values). The beta
value of the equity is 1.126 and the beta of the debt capital is 0.

The risk free cost of capital(is 5% and the market portfolio return is 11%.

The tax rate is 30%:

Required:
0] Calculate the current weighted average cost of capital (WACC). (3 marks)
(i) Compute the asset beta for the company and explain what this means. (3 marks)

(iii) Calculate the equity beta, the cost of equity and the WACC would be if the company consisted of 60%
equity and 40% debt. (4 marks)
(Total: 20 marks)
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kasneb

CPA ADVANCED LEVEL

ADVANCED FINANCIAL MANAGEMENT

TUESDAY: 5 December 2023. Morning Paper. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your
workings. Do NOT write anything on this paper.

QUESTION ONE

(a)

(b)

The management of Kapricon Ltd. are in the process of estimating utile and establishing the categories of
investors. The management has approached CPA Samuel Okeyo, a financial management consultant and provided
him with the following cases:

Case 1: There is 0.50 chance of receiving Sh.30 million and 0.50 chance of receiving Sh.100 million. The
investor is willing to pay a maximum of Sh.60 million.

Case 2: There is 0.40 chance of receiving Sh.55 million and 0.60 chance of receiving Sh.100 million. The
investor is willing to pay a maximum of Sh.82 million.

Case 3: There is 0.30 chance of receiving Sh.30 million and 0.70 chance of receiving Sh.60 million. The investor
is willing to pay a maximum of Sh.45 million.

Assume that utile values of 0 and 1 are assigned to a pair of wealth representing the two extremes Sh.0 and Sh.100
million respectively.

Required:

(1) Using the expected monetary value (EMV) technique, determine the category of investor in case 1, case
2 and case 3 above. (6 marks)

(i1) Compute the utile value for case 1, case 2 and case 3 respectively. (3 marks)

In a study carried out by a financial analyst, the earnings before interest and tax (EBIT) of Papa Ltd. and Kaka
Ltd. was found to be Sh.10 million.

Papa Ltd. is fully equity financed while Kaka Ltd. is financed partly using equity and debt. The capital structures
of both firms are given as follows:

Papa Ltd. Kaka Ltd.

Sh.“million” Sh.“million”
Equity (market value) 100 70
5% debt (trading at par) - 50
Additional information:
I. Both firms adopt a 100% pay out ratio as their dividend policy.
2. The cost of equity of Papa Ltd. is 10%.
Required:
Using Modigliani and Miller’s proposition in the absence of taxes:
(1) Determine the cost of equity of Kaka Ltd. (3 marks)
(ii) Comment on the equilibrium position on the value of both firms and hence show that the capital structure

decision will have no effect on both value of the firms and their weighted average cost of (WACC).
(4 marks)

(1ii) Calculate the arbitrage profit (if any) for a shareholder holding 10% of the shares of Kaka Ltd. (4 marks)
(Total: 20 marks)
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QUESTION TWO

(a) Economic and Monetary Union (EMU) was formulated by European leaders. On 1 January 1999, the new
European currency, the Euro, came into being. From that date, there was to be no change in the exchange rates of
the member countries.

Euro notes and coins were introduced into circulation on 1 January 2002. Dual circulation of the Euro and the
legacy currencies of each country continued for a short period of time. Thereafter, participating countries have
only used Euro notes and coins.

Required:
In regards to the above statements, explain SIX arguments in favour of Economic and Monetary Union (EMU).
(6 marks)
(b) Daniel Wekesa, an investment specialist has been entrusted with Sh.5,000,000 by an investment club and
instructed to invest the money optimally over a 1-year period.
Part of the instructions are given as follows:
1. The funds be invested in one or more of the three specified projects and in the money market.
2. The three projects are not divisible and cannot be postponed.
3. The investment club requires a return of 14% per annum.
4. The following details relate to the projects and money market:
Initial cash Forecasted rate of return Expected standard
outlay Sh. “000" (%) deviation of return (%)
Project 1(P1) 3,000 16 8
Project 2(P») 2,000 15 6
Project 3 (P3) 2,000 22 10
Money market (MM) 3,000 12 4
5. The correlation coefficients of returns of the above combination of projects are as follows:

Between projects Between projects and Between projects and Between money market
market portfolio (MP) money market (MM) (MM) and market
portfolio (MP)

P, and P, =0.90 P, and MP = 0.80 P, and MM = 0.30 MM and MP = 0.40
P;and P; =0.50 P, and MP =0.10 P, and MM = 0.75
P, and P; =0.20 P; and MP = 0.65 P; and MM = 0.15

Additional information:

1. The risk free rate of return is 12%.

2. Expected return of the market portfolio is a weighted average return. Given below are forecasted rate of
returns from a market portfolio and their probability of occurrence in different states of nature:

State of nature Probability  Forecasted rate of return (%)

Recession 0.30 10
Average 0.40 15
Boom 0.30 20
Required:
Evaluate how Daniel Wekesa should invest the Sh.5 million using:
(1) Capital market line (CML) analysis in portfolio theory. (7 marks)
(i1) Capital asset pricing model (CAPM). (7 marks)

(Total: 20 marks)
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QUESTION THREE

(a) Highlight SIX economic and financial justifications advanced for mergers and acquisitions. (6 marks)
(b) Kubwa Ltd. is considering acquisition of Ndogo Ltd., a firm in an unrelated line of business in order to diversify
their risks.
Selected financial data for both firms are provided as follows:
Kubwa Ltd. Ndogo Ltd.
Sales (Sh.million) 100 50
Cost of sales (Sh.million) 30 10
Operating costs (Sh.million) 10 5
Finance cost (Sh.million) 5 2
Number of issued shares (million) 10 7
Market price per share (Sh.) 40 20
Additional information:
1. Kubwa Ltd. is considering financing the acquisition of Ndogo Ltd. using a share for share exchange or
share debenture exchange.
2. Corporation tax rate applicable is 30%.
Required:
(1) Non-diluting maximum exchange ratio. (3 marks)
(ii) The post acquisition earning per share (EPS) assuming an offer price is set at Sh.30 per share. (2 marks)
(iii) The post acquisition EPS assuming 1,000 ordinary shares are exchanged for 10 units of 15% debenture
with par value of Sh.100 each. (3 marks)
(iv) Considering your results in (b) (ii) above and (b) (iii) above, advise on the best financing plan. (1 mark)
(©) A bond with a five year to maturity has a current value of Sh.92.41, a coupon rate of 8% per annum and a current
market yield of 10% per annum.
The bond will be redeemed at a par value of Sh.100.
Required:
Using the Macaulay duration method, compute the bond’s duration. (5 marks)
(Total: 20 marks)
QUESTION FOUR
(a) Discuss FOUR real estate financing options available to real estate investors in your country. (8 marks)
(b) Highspeed Electronics Ltd. has taken delivery of 50,000 electronic devices from an American company. The

seller is in a strong bargaining position and has priced the devices in American dollars at $ 12.00 each.

Highspeed Electronics Ltd. has been granted three months credit. Assume that interest rates in America are 3%
per quarter. Highspeed Electronics Ltd. has all its money held up in its operations but it could borrow in United
States dollars at an interest rate of 3% per quarter if necessary.

Additional information:

1. The following foreign exchange rates are applicable:

United State Dollar (US$)/Kenya Shilling (KES)

Spot rate 0.013

Three month forward rate 0.0154
2. A three month dollar call option for US $ 600,000 is available at a premium of US $ 15,000.
Required:
Determine the amount payable by Highspeed Electronics Ltd. using the following hedging strategies:
(1) Forward contract. (2 marks)
(i1) Leading. (2 marks)
(iii) Money market hedge. (2 marks)
(iv) Use of options. (2 marks)
v) Distinguish between a “currency option” and a “currency swap”. (4 marks)

(Total: 20 marks)
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QUESTION FIVE

(a) Explain the following terms as used in behavioural finance:
(i) Market paradox. (2 marks)
(i1) Herd mentality bias. (2 marks)
(ii1) Loss aversion bias. (2 marks)
(b) One of the most notable qualitative model of predicting corporate failure is Argenti’s A model score. Argenti

suggested that the failure process follows a predictable sequence.

Required:
Examine the THREE failure sequence processes as predicted by Argenti’s model score. (6 marks)

(c) The current share price of Nonop Ltd. is Sh.7.00.

Additional information:

1. The continuously compounded risk free rate of interest is 8% per annum.
2. The variance of the rate of return on the share has been 12% per annum.
Required:

Using the Black-Scholes option pricing model, estimate the value of a European call option on the shares of the
company that has an exercise price of Sh.6.60 and has 3 months to run before it expires.

Note: The Black-Scholes formula is given as follows:

P. = Ps N(d)) — Xe 7rTN(d2)
Where:
N@d) = Cumulative distribution function
d; = Iy 'S +1T
X +0.58T
ST
da = di - 3VT
Ps = Share price
e = The exponential constant 2.7183
X = Exercise price of option
T = Annual (continuously compounded) risk free rate of return
T = Time of expiry of option in years
) = Share price volatility, the standard deviation of the rate of return on shares.
N(dy) = Delta, the probability that a deviation of loss than dx will occur in a normal distribution with a
mean of zero and a standard deviation of one
I = Natural log

(8 marks)
(Total: 20 marks)
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kasneb

CPA ADVANCED LEVEL

ADVANCED FINANCIAL MANAGEMENT

TUESDAY: 25 April 2023. Morning Paper.

Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your

workings. Do NOT write anything on this paper.

QUESTION ONE
(@) (1)

(i)

Yield to maturity on debt

Market value of debt

Number of ordinary shares

Market price per ordinary share
Cost of capital if all equity financed
Marginal tax rate

Additional information:
1. Johnson Njogu, a financial analyst expects t
increase its costs of debt and equity.

Explain the term “static trade off theory of capital structure”.

(2 marks)

Selected financial information for Tembo Ltd. is shown below:

8%

Sh.100 million
10 million
Sh.30
10.3%
30%

OO

afl increase in Tembo Ltd’s financial leverage will

%&n Tembo Ltd. industry, Johnson Njogu estimates that the

2. Based on an examination of similar comp
company’s cost of debt and cost of equ'@ various debt to total capital ratios are as shown below:
Estimates of Tembo Ltd. before % sts of debt and equity:
Debt to total capital ratio (2 Cost of debt (%) Cost of equity (%)
20 7.7 12.5
30 O 8.4 13.0
40 C,) 9.3 14.0
50 10.4 16.0
Required
Determine the debt to total capital ratio that would minimise Tembo Ltd.’s weighted average cost of capital
(WACCQ). (5 marks)
(b) Adept Consultants is a research firm that provides market related data for use by market participants. Michael
Aloo is a financial manager at Adept Consultants tasked with estimating stock beta.
Required:
Explain THREE practical considerations that Adept Consultants should take when forecasting beta of an asset.
(3 marks)
() XYZ Limited is considering six investment projects with the following details:
Project Initial outlay Net present value
Sh. «“000” Sh. «“000”
1 1,000 390
2 750 325
3 1,125 590
4 1,850 840
5 1,300 635
6 1,500
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Additional information:

1.

Project 6 is expected to generate the following annual cash flows:

Year 1 2 3 4

Sh. «“000” Sh. “000” Sh. «“000” Sh. «“000”
Sales 725 765 885 612
Cost 145 168 202 94

Project 6 cash flows are exclusive of inflation at the rate of 4% per year for sales income and 5% per year
for costs.

2. The cost of capital is 10%.
3. Due to management reluctance to raise additional finance, the capital for investment is currently
restricted to Sh.5,000,000.
4. Project 1, 3, 5 and 6 are all independent but project 2 and 4 are mutually exclusive.
5. All of the above projects are divisible and none can be delayed or repeated.
Required:
(1) The net present value (NPV) for project 6. (3 marks)
(i1) The optimum investment combination given the capital constraint. (6 marks)
(ii1) The resulting net present value (NPV) in (c) (ii) above. (1 mark)
(Total: 20 marks)
QUESTION TWO
(a) (1) Differentiate between “white knight” and “white squire” in relation to mergers and acquisitions.
(4 marks)
(i1) Felix Bodo has collected the following information relating te the pro-forma financial statements of ABC

Ltd., a company that is a target of its competitors.

O

Pro forma statement of profit or loss: C/
° Year
2022 @' 2023 2024 2025 2026
Sh.«0 Sh.“000”  Sh.“000”  Sh.“000” Sh.«000”
Revenue 15 @' 17,327 19,060 20,966 23,023
Cost of goods sold @5264 9,530 10,483 11,531 12,685
Gross profit 7,088 7,797 8,577 9,435 10,378
Selling, general expenses /O« 2,363 2,599 2,859 3,145 3,459
Depreciation @ 551 606 667 734 807
Earning before interest an €s 4,174 4,592 5,051 5,556 6,112
Net interest expense O 642 _ 616 583 543 495
Earning before taxe&%) 3,532 3,976 4,468 5,013 5,617
Income tax 1,236 1,392 1,564 1,755 1,966
Net income 2.296 2.584 2.904 3.258 3,651
Selected pro forma statement of financial position:
Year
2022 2023 2024 2025 2026
Sh.“000”  Sh.“000”  Sh.“000”  Sh.“000” Sh.«000”
Change in deferred income tax 19 21 23 26 28
Selected pro forma cash flow statement:
Year
2022 2023 2024 2025 2026
Sh.“000”  Sh.“000”  Sh.“000”  Sh.“000” Sh.«000”
Change in networking capital 455 551 607 667 734
Capital expenditures 1,461 1,709 1,880 2,068 2,275
Additional information:
1. ABC Ltd. has a corporate tax rate of 30%.
2. The weighted average cost of capital is 10%.
3. The terminal growth rate is 6%.
Required:
Determine using the discounted free cash flow analysis the value of ABC Ltd. (10 marks)
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(b) Consider a two-period binomial model in which a share currently trades at a price of Sh.65. The share price can
go up 20% or down 17% each period. The risk free rate is 5%.

Required:
The price of a put option expiring in two periods with an exercise price of Sh.60. (6 marks)
(Total: 20 marks)
QUESTION THREE
(a) In regards to restructuring in the public sector, the ministry of finance or an equivalent body can use performance

results to motivate agencies to improve performance.

Required:

Examine THREE broad categories of potential mechanisms available to the Ministry of Finance to motivate

performance including the rewards and sanctions in each category line. (6 marks)
(b) One of the instruments of real estate financing is mortgages.

Highlight FOUR methods by which the interest on a mortgage may be charged. (4 marks)
(c) You have been appointed as a finance manager of Mamba Ltd. After evaluating the investment portfolio of the

company, you have divided the market into four portfolios following two dimensions; value/growth and

small/large.

The weight of each portfolio in the index is given below:

Portfolio Weight Sensitivity to factor 1 Sensitivity to factor 2 Sensitivity to factor 3
(%) (Market beta) (Price/book) Average capitalisation

Small value 10 0.87 &83 2

Small growth 10 0.97 ()7033 2

Large value 30 0.92 ) s 20

Large growth 50 1.12 ° 6 22

Risk premium 8% 3% 0.40%

%”O
The risk free rate is 3%. /Q
",

Required: \%,
(1) Using the arbitrage pricing theor%& T), determine the portfolio that has the highest expected return.

@ (4 marks)

(i1) The portfolio that woul@gm%’mise your return if you decide to use capital asset pricing model (CAPM).
(4 marks)
(iii) In order to diversify his perceived risk, a competitor wants to combine the small value and large growth

portfolios. The new portfolio should have an overall sensitivity to factor 1 (market beta) of 1.

Determine the proportion to be invested in the small value and large growth. (2 marks)
(Total: 20 marks)

QUESTION FOUR
(a) Explain THREE differences between “futures contracts” and “forward contracts”. (6 marks)
(b) Pine Ltd. is considering an investment in one of two corporate bonds namely A and B. Both bonds have a par

value of Sh.1,000 and pay coupon interest on an annual basis.

The market price of bond A is Sh.1,079.60 with a coupon rate of 6% and is due to be redeemed at par in five
years. Bond B is about to be issued with a coupon rate of 4% and will also be redeemable at par in five years.

Additional information:
1. Both bonds are expected to have the same gross redemption yield (yield to maturity).
2. The yield to maturity of a company bond is determined by its credit rating.

Pine Ltd. considers duration of the bond to be a key factor when making decisions on which bond to invest in.

Required:
(1) The Macaulay duration for bond A and bond B. (10 marks)
(i1) Discuss TWO limitations of duration as a measure of a bond price to changes in interest rates. (4 marks)
(Total: 20 marks)
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QUESTION FIVE

(a) Globalisation has resulted in several organisations engaging in corporate alliances and the establishment of

trading blocks. The advent of e-commerce has enabled companies to greatly expand their market.

Required:

Elaborate on FOUR factors that complicate financial management in multinational firms. (8 marks)
(b) Explain THREE divestment strategies available to a company undertaking restructuring. (6 marks)
(c) A group of companies controlled from the United States has subsidiaries in the United Kingdom (UK), South

Africa (SA) and France (FR).

As at 30 November 2022, intercompany indebtness were as follows:

Debtors Creditors Amount Currency
UK SA 1,236,000 SA Rand
UK FR 494,400 Euro
FR SA 824,000 SA Rand
SA UK 76,220 Sterling Pound
SA FR 386,250 Euro
Additional information:
1. It is the company’s policy to net off inter-company balances to the greatest extent possible.
2. The central treasury is to use the following exchange rates for netting off purposes:

USS$ = SA Rand 6.4323/£0.7140/Euro 6.1740

Required:

Calculate the net payment to be made between the subsidiaries afetting of inter-company balances. (6 marks)

(Total: 20 marks)
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kasneb
CPA ADVANCED LEVEL
ADVANCED FINANCIAL MANAGEMENT

TUESDAY: 6 December 2022. Morning Paper. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your
workings. Do NOT write anything on this paper.

QUESTION ONE

(a) (1) Explain the term “real option” as used in capital investment appraisal. (2 marks)
(i1) Evaluate THREE types of real options. (6 marks)

(b) The management of College Publishers Ltd. has estima he following initial cash outlays and net cash flows

and probabilities for a new printing process in each ccai@cenarioz

Year Worst case Most probable,case Best case

Sh.“000” Sh.“% Sh.<000”
0 (100,000) (1 ) (100,000)
1 20,000 ,000 40,000
2 20,000 \g/ 30,000 40,000
3 20,000 ’O« 30,000 40,000
4 20,000 Y, 30,000 40,000
5 20,000 @ 30,000 40,000
S5* 5,00060 20,000 30,000
Probability 0.20 0.60 0.20

Year 0 is the initial cost of the new printing process, years 1 — 5 are the operating net cash flows and year 5* is the
estimated salvage value. The firm’s cost of capital for a project of average risk is 13% per annum.

Required:

(1) Assuming that the above project has an average risk, compute the expected net present value (ENPV) of
the project. (4 marks)

(ii) A sensitivity analysis of the salvage value if this variable changes from the base case value by + (plus or
minus) 80%. (4 marks)

(iii) Assume that all cash flows are positive perfectly correlated and that there are only three possible cash

flow scenarios over time namely; worst case, most probable case and best case with probabilities of 0.2,
0.6 and 0.2 respectively.

Determine the project’s standard deviation of the net present value (NPV). (4 marks)
(Total: 20 marks)

QUESTION TWO
(a) The modern portfolio theory (MPT) is a practical method for selecting investments in order to maximise their
overall returns within an acceptable level of risk.

Required:
Outline FIVE assumptions of modern portfolio theory (MPT). (5 marks)
(b) The following information is provided on the market, risk free rate and two stocks A and B:
Expected return Correlation with market Standard deviation
% %

Treasury bill rate 4 0.00 0.00

S & P 500 index 11 1.00 15.00

Stock A 14 0.70 25.00

Stock B 9 0.40 20.00
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Required:

(1) Draw the capital market line (CML). (3 marks)
(i1) Calculate the betas of Stock A and Stock B. (2 marks)
(1ii) Calculate the Alphas (a) of the Stock A and Stock B. (2 marks)
(iv) Plot the Stocks A and Stock B relative to the CML and comment. (3 marks)
(c) Describe five forms of debt financing in regards to real estate. (5 marks)

(Total: 20 marks)
QUESTION THREE
(a) Two firms, A Ltd. and B Ltd. operate in the same industry. The two firms are similar in all aspects except for their

capital structures.

The following additional information is available:

1. A Ltd. is financed using Sh.100 million worth of ordinary shares.
B Ltd. is financed using Sh.50 million in ordinary shares and Sh.50 million 7% debentures.

3. The earnings before interest and tax (EBIT) are Sh.10 million for both firms. These earnings are
expected to remain constant indefinitely.

4. The cost of equity in A Ltd. is 10%. '®

5. The corporate tax rate is 30%. C/O

Required: ¢

Using the Modigliani and Miller (MM) model @{ermine the following:

(1) The market value of A Ltd. a @%d. (4 marks)

(ii) The weighted average C@@f capital (WACC) of A Ltd. and B. Ltd. (4 marks)

&

(b) Rema Limited, a Unite diom (UK) based firm bought goods from a United States (US) supplier and must
pay US Dollars 4,000,000"1n three months time.

The company is considering three choices in order to hedge the transaction exposure and has collected the
following information:

Annual interest rates and exchange rates currently available:

US Dollar Sterling Pound (£)
Deposit rate Borrowing rate Deposit rate Borrowing rate
% % % %
1 month 6 9.25 9.75 13.00
3 months 6 9.75 10.00 13.25
$/£ Exchange rate ($ = £1)

Spot 1.8625 —1.8635

1 month forward 1.8565 — 1.8577

3 months forward 1.8445 — 1.8460
Required:
Determine the amount payable using the following methods:
(1) Forward exchange contracts. (4 marks)
(i1) Money market borrowing or lending. (4 marks)
(ii1) Making a leading payment. (2 marks)

(c) Advise on the cheapest method based on your results in (b) (i) — (b) (iii) above. (2 marks)

(Total: 20 marks)
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QUESTION FOUR
Examine FOUR stages that a company might go through during restructuring.

(a)
(b)

The Altman formula for prediction of bankruptcy is given as follows:

Z-score =1.2X;+ 14X, +3.3X53+ 1X4 +0.6X5

Where:
X1
X2
X3
X4
X5

= Working capital/Total assets.

Retained earnings/Total assets
Earnings before interest and tax/Total assets
Sales/Total assets

= Market value of equity/Book value of debt

You are provided with the following information in respect of three listed companies:

(4 marks)

Working
capital

Retained
Earnings

Earnings before
interest and tax

Market value
of equity

Total
assets

Liabilities

Sales

Sh.“000”

Sh.“000”

Sh.“000”

Sh.“000”

Sh.“000”

Sh.“000”

Sh.“000”

A Ltd.

4,000

60,000

10,000

20,000

200,000

120,000

200,000

B Ltd.

2,000

20,000

0

5,000

100,000

80,000

120,000

C Ltd.

6,000

20,000

-30,000

48,000

800,000

740,000

900,000

&

Required
(1) The Z-score for each of the three companie@
(i)
() Kilop Ltd. has decided to instal a new mill@gﬁiachine.
<
Additional information:
1. The machine costs Sh.287090,000 and it would have a useful life of five years with a trade in value of

Sh.5,600,000 at the e year five.
2. The company has ptions:

Option A @
Purchase the machine for cash using a bank facility. The current rate of interest is 15% before tax.

(6 marks)

Comment on your results in (b) (i) abd@« ‘ (2 marks)

Option B
Lease the machine under an agreement which would entail payment of Sh.6,720,000 at the end of each
year for the next five years.

3. The corporate rate of tax is 30%.

4. Capital allowance is given at the rate of 100% in year one if the machine is purchased.
5. Tax is payable one year in arrears.

Required:

Advise Kilop Ltd. whether to lease or buy the machine. (8 marks)

(Total: 20 marks)

QUESTION FIVE
(a) Explain FIVE limitations of financial derivatives used in financial risk management. (5 marks)
(b) The International Monetary Fund (IMF) has implemented many reforms in recent years designed to strengthen its

cooperative nature and improve its ability to serve its membership.

In context of the above statement, propose FOUR main reforms that have been designed by IMF in recent years.
(4 marks)

(c) Alpha Ltd. and Beta Ltd. are companies operating in the same line of business. In the recent past, Alpha Ltd. has
experienced very stiff competition from Beta Ltd. such that Alpha Ltd. is considering acquiring Beta Ltd. in order
to consolidate its market share.

The following financial data is available about the two firms:

Alpha Ltd. Beta Ltd.
Annual sales (Sh.million) 400 100
Net income (Sh.million) 150 20
Outstanding number of ordinary shares (millions) 50 10
Earnings per share (Sh.) 3.0 2.0
Market price per share (Sh.) 30 15
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Both companies are in the 30% income tax bracket.

Required:
(1) Maximum exchange ratio that Alpha Ltd. should agree to if it expects no dilution in its post acquisition
Earning Per Share (EPS). (2 marks)
(i1) Alpha Ltd.’s post acquisition earning per share if the companies agree on an offer price of Sh.40.
(2 marks)
(iii) Alpha Ltd.’s post acquisition earning per share if for every 200 ordinary shares of Beta Ltd.’s are
exchanged for 5 units of 10% debenture of Sh.500 per value each. (3 marks)
(iv) Combined operating profit (EBIT) and post acquisition earning per share at point of indifference between
earnings of the firm under the financing plans in (c) (ii) and (c) (iii) above. (4 marks)

(Total: 20 marks)
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CPA ADVANCED LEVEL

ADVANCED FINANCIAL MANAGEMENT
TUESDAY: 2 August 2022. Morning paper. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your
workings. Do NOT write anything on this paper.

QUESTION ONE
(a) A project requires an initial investment of Sh.500,000. It is expected to generate cash inflows of Sh.200,000 per

annum for the next 5 years.

Additional information:

1. The firm is indifferent between a certain amount of Sh.181,347 at the end of the first year and the
expected amount of Sh.200,000.
2. The risk free rate of return is 5% per annum. O®
. @)
Required: .
(1) The net present value (NPV) of the p@é@ét incorporating certainty equivalent coefficient (CEC).(5 marks)
(i1) Advise the management on w]%_@r the project is worthwhile. (1 mark)

(o
(b) An investor has decided to invest §&2,000,000 in the shares of two companies namely Dela Ltd. and Alpha Ltd.
The projections of returns fro shares of the two companies along with their associated probabilities are as

follows: %)
Probability Returns %
Dela Ltd. Alpha Ltd.
0.20 6 8
0.25 7 5
0.25 =35 14
0.30 14 -1
Required:
(1) Determine the proportion of each of the above shares required to formulate a minimum risk portfolio.
(8 marks)
(i1) The amount (in shillings) that should be invested in each share using the proportions determined in (b) (i)
above. (2 marks)
(c) Describe four factors that could significantly impact on the price of cryptocurrencies. (4 marks)
(Total: 20 marks)
QUESTION TWO
(a) Libe Ltd. debt-equity ratio, by market value is 2:5. The corporate debt, which is assumed to yield a return similar

to treasury bills have a rate of 10% before tax.
The beta value of the company’s equity is currently 1.1. The average returns on stock market equity are 15%.

The company is now proposing to invest in a project which would involve diversification into a new industry.

The following information is available relating to this industry:

1. Average beta coefficient of equity capital is 1.60.

2. Average debt-equity ratio in the industry is 1:2 (by market value).

3. The corporation rate of tax is 30%.

Required:

Determine the suitable cost of capital to apply to the project. (6 marks)
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(b) Rona Hotel Ltd. is currently evaluating a proposal to take over Duet Restaurant Ltd. The Board of directors of
Rona Ltd. is in the process of making a proposal for acquisition of Duet Restaurant Ltd. but first needs to place a
value on the company.

Rona Ltd. has gathered the following financial data:

Rona Hotel Ltd.:

1. Weighted average cost of capital 12%

2. Price to earnings (P/E) ratio 12 times

3. Shareholders required rate of return 15%

Duet Restaurant Ltd.:

1. Current dividend payment per share (DPS) Sh.2.7

2. Past five years dividend payment:
Year 2017 2018 2019 2020 2021
Dividend per share (DPS) (Sh.) 1.5 1.7 1.8 2.1 2.3

3. The current Earnings Per Share (EPS) is Sh.3.7

4. The number of issued ordinary shares are 5 million shares.

Additional information:

1. It is estimated that the shareholders of Duet Restaurant Ltd. require a rate of return of 10% higher than
that of Rona Ltd. owing to the higher level of risk associated with Duet Restaurant Ltd.’s operations.
2. Rona Restaurant Ltd. estimates that the free cash flows from Duet Restaurant Ltd. at the end of the first

year will be Sh.2.5 million and these will grow at an annual rate of 5% for the first 4 years after which
the growth rate will revert to the historical earnings/dividend growth rate in perpetuity.

3. Rona Ltd. expects to raise Sh.5 million at the@ad of year 2 by selling off hotels of Duet Ltd. that are
surplus of its needs. O
Required: ’
Estimate values of Duet Restaurant Ltd. usi ‘l%e following valuation approaches:
(1) Price/earnings ratio model. \g_,® (2 marks)
(ii) Dividend growth model. @ (3 marks)
(iii) Discounted free cash%?ow basis. (5 marks)
(©) Discuss Modigliani and Miller’s proposition in a real estate finance context clearly stating the assumptions of the
theory. (4 marks)
(Total: 20 marks)
QUESTION THREE
(a) Evaluate five benefits of a currency swap. (5 marks)

(b) A United States (US) company buys goods worth 1,440,000 Euros (€) from a German company payable in 30
days. The US company wants to hedge against the Euro (€) strengthening against the United States dollar ($).

The following exchange rates are provided:

Current spot rate: $/€ 0.9215 —0.9221
Futures exchange rate:  $/€ 0.9245.

The standard size of a 3 month € futures contract is €125,000. In 30 days time, the spot rate is 0.9345 — 0.9351
$/€ and closing futures price will be 0.9367 $/€.

Required:
Determine the net outcome of the futures currency hedge. (5 marks)
(c) Bezo Construction Company Ltd. made a Sh.20 million bond issue 5 years ago when interest rates were

substantially high. The interest rates have now fallen and the firm wishes to retire this old debt and replace it with
a new and cheaper one. Given below are details about the two bond issue:

Old Bond: The outstanding Sh.20 million bond has a nominal value of Sh.1,000 and a coupon rate of 20%. They
were issued 5 years ago with a 25-year maturity. They were initially sold at 5% discount to attract investors and
the firm incurred a floatation cost of Sh.450,000. The bond is callable at Sh.1,150 per unit.

New Bond: The new bond issue of Sh.20 million would have Sh.1,000 nominal value per unit and 18% coupon
rate. They would have a 20-year maturity and will be sold at 10% discount to attract investors. Floatation cost on
the new bond are estimated at Sh.550,000.
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Assume two months overlapping period and corporation tax rate of 30%.

Required:

6) Determine the incremental initial cash outlay required to issue the new bond. (4 marks)
(ii) Calculate the annual cash flow saving (if any), expected from the bond refinancing. (3 marks)
(iii) Determine the net present value (NPV) of the bond refinancing and hence advise the company
accordingly. (3 marks)
(Total: 20 marks)

QUESTION FOUR
(a) Assess four circumstances under which a company would consider reorganising its operations rather than
liquidating. (4 marks)
(b) In relation to corporate restructuring and reorganisation, discuss the potential advantages for a company

undertaking the divestment of one of its division by means of:

(1) A sell off. (2 marks)
(i1) A demerger. (2 marks)
(1ii) A divestment. (2 marks)
(©) Ngao Ltd. is considering investing in two capital investment projects; X and Y. The projects cash flows are
provided as shown below: @
Project OO
Year X Y,
Cash flow Sh.“000” Cash Sh.«000”

0 (40,000) e 0,000)

1 (80,000) @~ (40,000)

2 (120,000) -

3 400,000 @/O' 240,000

The funds available for invest%Qt in both projects are restricted as follows:

Year Amount Sh.“000”
0 100,000
1 80,000
2 60,000

Additional information:
1. None of the projects will delay, that is, both investments will start in year 0.

2. The funds not utilised in one year shall not be available for investment in the subsequent years.
3. Both projects are divisible, that is, a project can be undertaken in part or in whole.
4. The cost of capital is 13%.
Required:
(1) Formulate a linear programming model to solve the problem. (4 marks)
(ii) Using the graphical approach, solve the linear programming model and hence determine the proportion
of each project to be undertaken to maximise net present value (NPV). (6 marks)
(Total: 20 marks)
QUESTION FIVE
(a) Summarise four objectives of the International Monetary Fund (IMF). (4 marks)
(b) Discuss four advantages of Foreign Direct Investment (FDI). (8 marks)
(c) The following information relates to the performance of three portfolios; A, B and C during the year ended
30 June 2022:

Portfolio Average return (%)  Standard deviation (%) Covariance of portfolio
return with market returns

A 17.55 30 0.0088

B 13.26 34 0.0750

C 9.34 28 0.0021
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Additional information:

1. The market return and the risk-free rate averaged 14% and 7% respectively during the year ended
30 June 2022.

2. The standard deviation of the market is 10%.

Required:

Evaluate the performance of the three portfolios using:

6) Sharpe’s performance measure. (4 marks)

(i1) Treynor’s performance measure. (4 marks)

(Total: 20 marks)
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CPA ADVANCED LEVEL
ADVANCED FINANCIAL MANAGEMENT

TUESDAY: 5 April 2022, Morning paper. Time Allowed: 3 hours,

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.
Do NOT write anything on this paper.

QUESTION ONE
(a) Treetop Limited is constdering an investment project in the tourism industry worth Sh.48 million which will be a
diversification from the mainstream activities.

The 5h.48 million project cost will be financed as follows: Sh‘t@nillion using internal funds; $h.20 million using a
rights issue and $h.18 million with long-term loans. O

@)

The investment is expected to generate pretax net cash i flows of approximately Sh.14 million per year for a period
of 10 years. The residual value at the end of the 10 yea@%eriod will be Sh.15 million after taxes. As the investment is
in an area where the government wishes to deve]op\i_géubsidised loan of Sh.8 million out of the total Sh.18 miflion is
available. This will cost 2% below the company’é@rormal cost of long-term debt finance which is 8%.

&

Additional information: @O
L. The company’s equity beta is 085 and its financial gearing is 60% equity and 40% debt by value.
2. The average equity beta inéhé ourism industry is 1.2, and average gearing is 50% equity and 50% debt by

market value.

3 The nisk free rate is 5.5% per annum.

4, The market return is 12% per annum.

5. Issue costs are estimated to be [% of debt financing (excluding the subsidised loan) and 4% for equity
financing. These costs are not tax alfowable.

6. The corporate tax rate is 30%.

Required:

') The adjusted present value {APV) of the proposed investment project. {9 marks)

(i) Propose three circumstances under which the APV may be preferred to the net present value (NPV)
approach as a method of evaluating a capital investment project. {3 marks)

(h) Dansof Limited is a juice processing firm which is solely equity financed. The company’s board of directors are

considering diversifying their operations by entering into the soda processing industry.

Additional information:

1. The current unlevered equity beta is 1.4 for Dansott Limited and 1.5 for the soda processing industry
respectively.

The gearing in the soda processing industry is on average 40%. Hence, the capital structure comprises 40%
debt and 60% eguity.

The return on market portfolio is 15%,

The risk free rate of return is 12%.

Debt finance is considered to be risk free.

The Hamada Model should be used to determine the levered equity beta.

The cost of equity will be determined using the capital asset pricing model {CAPM).

Corporation tax rate is 30%,

o]

oS A
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Required:
Recommend the suitable discounting rate for the new investment if the directors were to finance the new proiect as

follows:
(i} 20% debt and 80% equity. {4 marks)
(i} 50% debt and 50% equity. (4 marks)
Hamada Model
BL = BU[1 + {1 - TYD/E}]
Where:
* PBL = Levered beta
s BU = Unlevered beta
e T = Taxrate
¢ D/E= Debtto equity ratio
(Total: 20 marks)
QUESTION TWO
(a) Examine three practical weaknesses of the arbitrage pricing model (APM) as used in portfolio theory, (3 marks)
{b) Albert Onchiri, a finance manager at Wema Limited, is cogdering investing in shares of Safari Airways, a company
quoted at the securities exchange. O

@)

The retumns on the securities exchange index and %ﬁhn Airways shares are shown below for the five possible states
of the economy that might prevail next year: @(}

Economic condition Probability @fﬁ' Market return Safari Airways return

& (%) (%)
Rapid expansion 0. IS@O 25 13
Moderate expansion 035 20 10
No growth \g@. 5 15 8
Moderate contraction 0.15 10 4
Serious contraction .10 4 2
Required:
(i) The expected return of Safari Airways shares, (2 marks)
(i1) The correlation between the returns on the securities exchange with the return on Safari Airways shares.

{6 marks)

(iii) Comment on the result obtained in {b) (ii) above. (2 marks)

{(iv) Albert Onchirt is thinking of undertaking an alternative investment but sintilar to that of Safari Airways’s
shares. If the risk free rate of return is 10%, determine the minimum required rate of return of this

investment, (3 marks)
(<) Explain the following terms as used in corporate restructuring and reorganisation:
(i} Leveraged buyout (LBO). {2 marks)
(ii) Argenti’s A Score Model. (2 marks)
(Total: 20 marks)
QUESTION THREE .
(a) Modigliani and Miller (MM) suggested that “real world considerations, primarily institutional ¢onstraints on high

leverage, would prevent firms from approaching 100% debt levels”.

Required:
Giving reasons, explain whether you agree with the above statement. (4 marks)
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(b) An unlevered firm operates in a perfect market and has a net operating profit (EBIT} of $h.4,000,000. The required
rate of return on assets of firms in this industry is 16%.
Assume that the firm issues Sh.10,000,000 worth of debt with a required rate of return of 14.5% and uses the
proceeds to repurchase outstanding shares.
There are no corporate or personal taxes,
Required:
(i) The market value and required rate of return of this firm’s shares before the repurchase transaction
according to MM proposition . (2 marks)
(ii) The market value and required rate of return of this firm’s remaining shares after the repurchase transactton
according to MM proposition IT. (4 marks)
{3] Summarise four disadvantages of using futures contracts as financial instruments. (4 marks}
(d) The current market price per ordinary share of Kanga Ltd. is Sh.58. A call option exists on the company’s shares
with an exercise price of $h.52 and with six months to maturity.
The option can only be exercised on maturity, that is, it is a European option.
The risk free rate of return is 6% and the variance of the rat@‘@f return on the shares is 15%.
@)
Required: >
Using the Black-Scholes option pricing model, esti@éie the value of the call option. {6 marks)
7]
Black - Scholes Option Pricing Formula; @fg\%
Value of call=S N (di)-K e‘é@l%g)
Where: ,QQ%
&
2
o[ S] e 9
di =
oVl
d =di- U\E
S = Current value of the underlying asset
K = Strike price of the option
t = Life to expiration of the option
r = Riskless interest rate corresponding to the life of the option.
& = Standard deviation of the underlying asset’s return
(Total: 20 marks)
QUESTION FOUR
(a) There are a number of different types of finance which can facilitate the trading of goods and services both globally
and domestically.
The trade finance industry also supports and accommodates transactions that facilitate international payments,
mitigate currency tisk and exposure and both debt and eguity financing.
Required:
In relation to the above statement, describe five types of trade finance. (5 marks)
(b) Propose three reasons why residential real estate investment trusts (RELTs) are not popular with investors. (6 marks)
(c) Highlight four advantages of big data analytics in the financial sector or project finance. (4 marks)
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(d)

Viwanda Manufacturers Ltd.’s current earnings per share (EPS) is Sh.5.0. The company has an asset beta of 0.90 and
adopts a 40% dividend payout ratio as its dividend policy. The risk-free rate of return is 5% and the equity market
risk premium is 10%.

The management of Viwanda Manufactuers Ltd. intend to undertake a financial reconstruction which will result in a
debt to equity ratio change from 0.15 to 0.30. Debt is considered to be risk free.
Corporation tax applicable is 30%.

Required:
Show the impact of the financial reconstruction on the weighted average of cost capital (WACC) of the firm.
(5 marks)
(Total: 20 marks)

QUESTION FIVE

(a)

(b}

Songo Ltd. has decided to acquire Twiga Lid.

The financial data for the two companies are given as foltows:

Songo Ltd. Twiga Ltd.

Net sales (Sh."million™) 350 45

Profit after tax {Sh.“million™} 28.13 3.75

Number of issued shares (*million™) 7.5 1.5

Eamnings per share (EPS) (Sh.) 3.75 2.5

Dividend per share (DPS} (Sh.) 1.3 O@ 0.6

Total market capitalisation (Sh.“million™) 420 @) 45

Required: ca

(i) Pre-acquisition market price per share (M]g} f the combined firm, {2 marks)

(it) Post acquisition earnings per share gﬁg) if Twiga Ltd.’s shareholders are offered a share of Sh.30 on a
share-for-share exchange. & (4 marks)’

(iii) If the Price-Earnings ratio of S&hgo Ltd. drops to 12 times after the acquisition, determine the firm’s post
acquisition market price pe\rgihﬁre. (2 marks)

{iv) Formulate a suitable crité%ia that should guide Songo Ltd. in determining whether to acquire Twiga Lid. or
not, {4 marks)

Popo Lid. is considering a project requiring an initial cash outlay of Sh.150 million. The project’s life is five years
after which there would be no expected salvage value. The possible incremental afier tax cash inflows and associated
probabilities of occurrence are as follows:

Probability Year 1 Conditional Year2 -5
Net cash inflows probability Net cash flows
Sh.“million” Sh.“million”
0.20 40
0.50 40 0.60 50 ‘
0.20 60
0.10 55
0.50 45 0.70 60
(.20 65

The company’s required rate of return for this investment is 12%.

Required:
(i) Using decision tree analysis, compute the Expected Net Present Value (ENPV) of the project. (4 marks)
(ii) Compute the standard deviation of the Expected Net Present Value in (b} (i) above. (4 marks)
(Total: 20 marks)
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Thistable providesthe area betwean
the mean and soime Z score.

Forexample, whenZ score=1.45
the area = 0.4265.

Areas Under the One-Tailed Standard Normal Curve

z 0.00 0.01 0.02 0.03 .04 0.05 0.06 ¢.07 0.08 0.09
0.6 0.0006 | 06.0040 | 0.008¢ ; 0.012¢ | 0.0160 | 0.0159 | 0.0239 | 0.0272 | 0.0319 | 0.0359
0.1 2.0398 | 0.0438 | 56,0478 | 0.0517 | 0.0557 | 0.059%6 | 0.0636 | 0.0675 | 0.0714 | £.0753
0.3 0.0793 | 0.0832 | 0.0871 | 0.0910 | 0.0948 | 0.0987 | 01026 | 610064 | 0.1103 | 0.1141
0.3 91179 | 01237 | 931255 | 03293 [ 0.1331 | 8,3368 | 0.1406 ; 0.1443 | 0.1480 | 0.1517
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2.5 0.4938 | 0.4940 ;| 0.4941 | 04943 | 0.4945 | 0.4946 | (.4948 | 0.4949 | 0.4951 | 0.4852
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3.4 0.4987 | 0.4987 | 0.4587 | 0.4988 | 0.4988 | 0.498% | 0,4985% | 0.498%9 | 0.4950 | 0.4990
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3. 04593 | 6.4993 | 0.4934 | 0.4994 | 0.4994 | 0.4994 | B.4994 | 04995 ; 1.4995 | 0.4595
33 0.4955 | 04995 | 04995 | 0.4990 | 0.4996 | G.4950 | 0.4996 | 0.4596  0.4996 | 04397
3.4 0.4957 | D.4997 | 049597 | 0.4997 | 0.4997 | 0.4957 | 0.4997 | 04597 | 0.4957 | 0.4598
35 0.4958 | 0.4998 | 0.4998 | 0.4998 | 0.4998 | 0.4958 | 24598 | 0.4998 | (.4998 | 047398
3.6 0.4998 | 0.4998 | 0.4999 | 04995 | (.4599 | 04999 | 04999 | 04959 | 0.4999 | 0.4959
37 D.4995 | 6.4999 | 0.4999 | 0.4999 | 0.4999 | 04995 | 0.4999 ) 0.4999 | 0.4999 | 0.45%9
3.4 0.499% | 0.4999 | 0.4999 | D.4999 | 0.4599 | 045959 | 0.4999 | 0.4999 | 0.4999 | 0.4599
149 §.5000 | 05000 | 0.5000 | £.5004 | 0.5000 | 05004 | 0.5000 | 0.5000 ;| 0.5000 | 0.5000
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Present Value Interest factor of 1 Received at the End of n Periods at r Percent:

PVIF o= 1/(141)" = (1 +1)"
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kasneb

CPA ADVANCED LEVEL
ADVANCED FINANCIAL MANAGEMENT

THURSDAY: 16 December 2021, Time Allowed: 3 hours.
Answer ALL questions. Marks allocated to each question are shown at the end of the question, Show ALL your workings.

QUESTION ONE
{a) Summarise four assumptions of Modigliani and Miller (MM) hypothesis. {4 marks)

(b) Zeka Ltd. has a cost of equity of 20%. The company currently has in issue 500,000 shares outstanding and selling
on the Securities Exchange at Sh.200 each. The firm's earnings per share (EPS) at the end of the current year is
estimated at Sh, 15 and it intends to maintain a constant dividend payout ratio of 60%.

The company’s expected net income is Sh.6 million and the available investment proposals are estimated to
require Sh,12 million.

Required:
Using Modigliani and Miller’s proposition on dividend irrelevance, show that the payment or non-payment of
dividend does not affect the current value of the firm. {10 marks)
(c) XYZ Limited’s share is currently selting at Sh.10. The share price will increase by 5% or reduce by 5% six months
from now. The risk free rate of return is 6% and the strike price is Sh.10. The option will be exercised after six
months.
Required: _
Using the risk neutral approach, determine the value of a put option at the initial node of the binomial tree.
{6 marks)
(Total: 20 marks)
QUESTION TWO
{(a) Imelda Nasimiyu hoids the following portfolio of four risky assets and a deposit in a risk free asser:
Asset Portfolio weight (%) Current return (%) Beta
A 20 12 1.5
B 10 18 20
C 15 14 1.2
D 25 3 0.9
Risk free asset 30 s 0

The overall return on the marker portfolio of risky assels is 11%.

Required; .
i) Determine the assets that are inefficient. efficient or super efficient using the capital asset pricing mode!
(CAPM). (6 marks)
(ii) Highlight four weaknesses of using CAPM in (a) {i) above. (4 marks)
(b} Kubwa Ltd. is considering acquiring Ndogo Ltd. The selected financial data for the two companies is as follows:
Kubwa Ltd. Ndogo Ld,
Annual sales (Sh.million) 500 150
Net income (Sh.million) 40 5
Number of ordinary shares (millions) 10 ’ 25
Earnings per share (Sh.) 4.0 2.0
Market price per share (8h.) 30 . 10
CA33 Page |
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Both companies are in the 30% tax bracket.

Required: :
(i) Kubwa Ltd.’s post acquisition earnings per share (EPS) assuming the two companies settle on an offer
price of Sh.20 on a share for share exchange. (3 marks)
(i} Kubwa Lid.’s post acquisition eamings per share (EPS) assuming Ndogo Ltd.’s shareholders accept one
10% debenture (par value of Sh.1,000 cach) for every 50 ordinary shares held. (3 marks)
(iti) The level of combined operating profit (EBIT) that Kubwa Ltd. will be indifferent between financing
options in (b) (i} and (b) (ii) above. (4 marks)
(Totak: 20 marks)

QUESTION THREE _ .

(a) Different companies have varied aims and timings for undertaking corporate restructuring. However, the single
common objective in every restructuring exercise is to minimise the disadvantages and maximise on the
advantages.

Comment on the above statement highlighting five reasons for undertaking corporate restructuring. (5 marks)

(b Distinguish between the following terms in relation to corporate resttucturing and reorganisation:

(0 *Demerger” and “spin-off™. (2 marks)
(ii) *Management buyout” and *management buy-in”. (2 marks)
(iii) “Unbundling™ and “capital re-organisation”. (2 marks)

(c) The following data relates to Kaban Ltd., a company that operates in the manufacturing sector for the year ended
31 December 2020:

Sh. “000”
Sales 25,678
Total assets 49,579
Total liabilities 5,044
Retained earnings 1,770
Net working capital (1.777)
Earnings before interest and taxes 2,605
Market value of equity 10,098
Book value of total liabilities 5.044

The company is currently paying interest on a long term debt instrument amounting to $h.905,000 per vear and
that the company’s total liabilities is constituted in the ratio of 2:5 between current and non-current components.

Required:
Using the Springate model, assess the financial health of the company. (9 marks)

Note: The Springate model takes the following form:

Z=1.03A+3.07B + 0.66C + 0.4D

Where:
A = Net working capital
Total asscts
B = Operating profit
Toual ussets
C = Net profit before taxes
Current liabilities
D = Sales
Total assets
(Total: 20 marks)
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QUESTION FOUR
(a) Discuss four defense tactics available to target compantes facing hostile takeover by predators. {4 marks)

b) Explain three differences between traditional finance and behavioural finance. {6 marks)
(c) Jaram Ltd., a2 United Kingdom (UK) based firm bought goods on credit worth 365.000 United States Dollars

(USD) from a firm in the United States of America (USA) payable in six months time from now. The company is
considering various choices in order to hedge the transactions exposure and has collected the following data:

Exchange rate (US$/1£):
Spot rate 1.3648 - 1.3722
Six months forward rate  1.3515 — 1.3633

The annual money market rates are given as follows:

Borrowing rate Dceposit rate

(%) (%)
US Dollars ($) 12 9
Sterling Pounds (£) 14 11

The foreign currency option prices (cents per Sterling Pound) for a contract size of £15,000 are as follows:

Exercise price 6-month call option 6-month put option
$1.40 4.7

Required:
Determine the amount payable using:
() Forward market cover, {2 marks)

(i} Money market cover. {4 marks)

(iti)  Currency options, (4 marks)
(Total: 20 marks)

QUESTION FIVE
(a) An investor is considering introducing new classic pens into the market. The firm is contemplating investing in

purchase of a new plant costing Sh,250 million. The plant has a useful lifc of five years and is to be depreciated to
zero on a straight line basis.

Due to market uncertainties, selling price per unit, unit variable cost and annual sales volume of the new classic
pens have been estimated stochastically as follows:

Unit selling price Unit variable cost Annual sales volume
Value Probability Value Probability Yolume Probability

Sh, Sh.

25 0.30 10 0.20 4.5 million 0.30

35 0.50 15 0.40 6 million 0.40

45 0.20 30 0.40 7.5 million 0.30

The firm will incur annual fixed operating costs excluding depreciation of Sh.20 million. The company’s cost of
capital is 10% and corporation tax rate applicable is 30%.

Required:
(i) The expected net present value (NPV) of the project. (4 marks)
{ii) Simulate the net present value (NPV) using the following random numbers:

(752560 658055 957530 869950  544025) and hence determine the expected Net Present

Value of the project. (10 marks)
(i) Determine the probability that the product will be a success. {1 mark)
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(b) Due to restrictions in the capital markets, Rahim Ltd.’s financial manager is able to provide only Sh.900 million
for investments in the next financial year,

An analysis of the project’s allowable for investment during the next financial year shows the following expected
net present values (ENPV) for each project:

Project Initial investment Net present value
Sh. (millions) Sh. (millions)
P 300 120
Q 300 30
R 600 150
S 300 30
T 150 12

Project  and R are mutually exclusive.
Required:

Advise the management on the project(s) to undertake. (5 marks)
(Total: 20 marks)
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PILOT PAPER
ADVANCED FINANCIAL MANAGEMENT
December 2021. Time Allowed: 3 hours.
Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.
QUESTION ONE

@ GLD Building Group is contemplating a takeover of Diarim Enterprise Ltd., a manufacturer of earthmoving
equipment.

The following information is available about the two companies.

GLD Diarim
Number of shares in issue 6,000,000 4,000,000
Dividend per share Sh.0.30 Sh.0.09
Price per price Sh.8.91 Sh.3.20
Additional information.
1. The cost of equity capital for both firms is 10%.
2. From a level of Sh.0.06 per share 6 years ago, GLD’s dividends has grown to the current level of Sh. 0.09 per share.
3. GLD’S management is confident that managerial synergies arising as a result of proposed takeover will enable them
to increase Diarim Ltd’s past dividends growth rate by a further 1%.
4, The merger will involve transactions cost of Sh.500000.
Required:
Based on the approximate dividend growth rate, estimate the post-acquisition value of Diarims Ltd. using the dividend growth
model, and evaluate the value gain arising as a result of the takeover. (7 marks)
(b) 0] Discuss the main economic and financial justification advanced for mergers and acquisitions. (4 marks)
(i) According to evidence, to what extent do the shareholders of the companies tend to benefit from such an
activity? (2 marks)
(iii) According to the evidence, to what extent do the managers of companies tend to benefit from such activity?
(2 marks)
(iv) Explain what are referred to as “managerial” motives for mergers and acquisitions (M&A). (5 marks)

(Total: 20 marks)

QUESTION TWO
Arkard, an investment specialist has been entrusted with Sh.10 million by a collective investment scheme (unit trust) and
instructed to invest the money optimally over a two-year period.

Parts of the instruction are that:

1. The funds be invested in one or more of four specified projects and the money market.
2. The four projects are not divisible and cannot be postponed.
3. The unit requires a return of 24% over the two years. The following are details of the investment in the projects and

the money market.
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Initial Cost Return over Expected Standard deviation

two years of returns over the two years
Sh.”000” % %
Project 1(pl) 6,000 22 7
Project 2(p2) 4,000 26 9
Project 3(p3) 6,000 28 15
Project 4(p4) 6,000 34 13
Money market (MM) 1,000 (minimum) 18 5

The correlation coefficients of returns over the two years are as follows:

Between Between projects Between projects Between money

Projects &market portfolio  and the money market and market
(MP) market (mm) portfolio

P1&p2=0.70 pl&mp=0.68 pl&mm=0.40 MM&MP=0.4

P2&p3=0.0 p2&mp=0.65 p2&mm=0.45

P1&p3=0.62 p3&mp=0.75 p3&mm=0.55

P1&p4=0.56 p4&mp=0.88

P2&p4=0.57

P3&p4=0

Over the two year period, the risk free rate is estimated to be 16%, the market portfolio return is 27% and the variance of the
return on the market 100%.

By analyzing the two assets portfolios:

(@) Use the mean variance dominance rule to evaluate how Arkard should invest the Sh.10 million. (8 marks)
(b) Determine the betas and required rates of return for the portfolios then use the capital assets pricing model to evaluate

how Arkard should invest the Sh.10 million. (8 marks)
(© Examine four criticisms of the Modigliani and Miller (MM) hypothesis without taxes. (4 marks)

(Total: 20 marks)
QUESTION THREE

An investor is considering introducing a new product code named super pad into the market. This would involve purchasing
a plant costing Sh.300 million.

Additional information:

1. The plant has a useful life of five years and is to be depreciated on a straight line basis.
2. The salvage value is nil.
3. Due to market uncertainties, the sale price, variable cost and sales volume of the super pad have been
estimated stochastically as follows:
Selling price Variable Cost Sales Volume
Value Probability Value  Probability Value Probability
Sh. Sh. units
30 0.20 10 0.20 4 million 0.20
40 0.60 20 0.50 6 million 0.50
50 0.20 30 0.30 8 million 0.30
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4. The company’s cost of capital is 12% and the corporate tax rate is 30%.
Required:

@) The expected net present value (NPV) of the new product using expected values for each variable. (4 marks)

(b) The expected NPV by performing ten runs using the following random numbers for each variable.
Selling price: 76 64 02 53 16 16 55 54 23 36
Variable cost: 20 82 74 08 01 69 36 35 52 99
Sales volume: 55 50 29 58 51 14 86 24 39 47

Required:

Determine the expected NPV as simulated. (20 marks)
(© The probability that this product will be a success. (1 mark)
(d) Discuss the advantage (merits) and disadvantages (limitations) of simulation analysis. (5 marks)

(Total: 20 marks)
QUESTION FOUR

@ Unbundling is the process of selling off incidental non-core businesses to release funds, to reduce gearing in order
to allow management to concentrate on their chosen core business.

In relation to corporate restructuring and reorganization, briefly explain the following forms of unbundling:

(i) Management buyout (MBO). (2 marks)
(i) Management buy in (MBI). (2 marks)
(iii) Spin off or demerger. (2 marks)
(iv) Sell off or divestment. (2 marks)
(b) Rhinox LTD is planning to invest in an expansion plan. The company has estimated Sh.20 million as the initial

investment for the expansion.

The plan is expected to generate Sh.5 million annual after tax cash inflow for the next 5 years. Cost of capital is

10%.
Required:
0] The NPV of the project. (2 marks)
0] The value of the call option to delay if the risk free rate of return is 7% and standard deviation of returns is
0% (6 marks)
(© In relation to financial risk management, briefly explain four advantages of financial derivatives. (4 marks)

(Total: 20 marks)

QUESTION FIVE

@) Alpha will receive US dollars 400,000 in 3 month’s time. The company treasurer has determined the following:
Spot rate Dollars 1.8250-Dollars 1.8361
3 months forward Dollars 1.8338-Dollars 1.8452
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Money market rates Borrowing Deposit
US Dollars 5.1% 4.2%
Sterling 5.75% 4.5%

The money market rates are annual rates.

Required:

Determine whether a forward contract hedge or a money market hedge should be undertaken. (8 marks)
(b) Explain four advantages of investing in Real Estate Investment Trusts. (8 marks)
(©) Explain the meaning of the term crypto currency and give an example. (4 marks)

(Total: 20 marks)
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CPA PART 11 SECTION §
ADVANCED FINANCIAL MANAGEMENT
THURSDAY: 2 September 2021, Time Allowed: 3 hours.
Answer ALL questions. Marks altocated to each question are shown at the end of the question. Show ALL vour workings.
QUESTION ONE
(a) Madern portfolio theory applies advanced mathematical models to determine the correlation berween risk and
return of investments. While it is commonly used, it does have some potential drawbacks.

In relation to the above statement, examine six shortcomings of the modern portfolio theory. (6 marks)

(b} Sofiex Limited is contemplating building a 3 - asset portfolio comprising assets of firms A. B and C.

The company wishes to invest Sh.5 million in the shares of these firms. Given below are the number of shares and
the current market prices per share for cach company:

Company Number of shares Current market price per share
Sh.
A 50.000 30
B 32,500 40
C 40,000 30

The forecasted market price for each share after one vear and their probability of occurrence in different states of
nature are given as fotlows:

State of nature Probabitity Forecasted share price
after 1 year (Sh.)
Company
A B C
Boom 0.30 60 50 36
Normnal 0.40 55 46 34
Recession .30 48 35 27

Additional information:
The correlation coetTicient of the returns of the assets are given as follows:

Aand B = +0.98

AandC = +0.76

Band C = +1

Required:

(1) The expected porttolio return. {4 marks)

(i} Using the mathematical model, compute the portfolio risk. {6 marks)
() Explain four reasons why derivative instruments have continued to become more popular in financial markets.

(4 marks)
(Total: 20 marks)
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QUESTION TWO

(a) Your country is considering establishing a mortgage refinancing company 1o support an affordable housing project
for its citizens. The company's mandate will be to provide secure, long-term finance to primary mortgage lenders
who will then advance the same to individual borrowers.

Required:
tn the context of the above statement:
(i) Identify three types of primary mortgage lenders that are likely to benefit from the mortgage retinancing
facility in your country. (3 marks)
(i) Summarise three objectives of @ mortgage refinancing company in an economy. (3 marks)
(i) Highlight three minimum requirements that one must fulfil in order to qualify for a maortgage in real
estate financing. (3 marks)
{b) Mamba Ltd."s existing debt to equity ratio is 0.5 and its asset beta is 0.40. The company decides to undergo s

financial reconstruction during which it would repurchase its outstanding shares using borrowed debt. This will
change iis debt to equity ratio to 1.90,

Additional information:

l. The risk-free rate is 6%.
2. The return of the market portfolio is 14%.
3. The firm adopts a 60% payout ratio and expects 10 generate earnings per share (EPS) of Sh.6.0 in the
current financial year.
4, The tirm generates a net income of Sh.12 million and equity capital is Sh.96 million.
5. Corporation tax rate applicable is 30%.
Required: .
(i) The firm’s levered equity beta before and after the tinancial reconstruction. ¢3 marks}
(i) The firm's cost of equity before and after the financial reconstruction using the capital asset pricing
model (CAPM).
{3 marks)
{iii} Analyse the impact of the financial reconstruction on the tirm’s share price. (5 marks)

{Total: 24 marks)

QUESTION THREE
{a) XYZ Ltd. is considering buying a new machine for its manufacturing processes at a cost of Sh.10 million. The
machine is expected to have a useful life of 2 years with no salvage value. The future net cash flows 10 bu
generated in each year are uncertain, The estimated cash lows and probability of their occurrence are given s
foltows:
Year 2
Sh.(*million™)

Yearl 7
Sh.(*million™)

6
0.4 3
0.3
7
0.
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Additional information:

[ The possibility of abandonment exists after 1 year.

2, The abandonment value is estimated at Sh.8 mitlion,

3 The cost of capital is 13%.

Required:

(i) Expected net present value of the project. Ignore the abandonment option. (4 marks)

(it} Uising suitable compuwtations, justify whether abandonment of the preject is a viable option. (4 marks)

(i) Determine the expected net present value (ENPV) of the project assuming it is advantageous to abandon

the project after | year. Comment on the financial implications to the firm. (3 marks)

(b) Zeltex Limited intends to acquire a mainframe computer for processing and storage of its data. The computer is

expected 1o cost Sh.800,004). Fhe finance director has made two proposals for acquiring the computer.

Proposal 1: Leasing option

Lease the computer for 5 years belore the new moded is introduced. The lease payments constitute Sh, 150.000 per
annum for § vears. Repair and maintenance costs incurred are estimated at Sh.HI0.000 per annum for 5 vears. The
firm can choose to exercise the option 10 buy the computer for Sh, 100.000 after 5 vears.

Proposal 2: Purchase option
The firm can borrow Sh.800.000 from a commercial bank at an interest rate of 16% per annum {e finance the
purchase of the asset. The interest on the loan is payable en a reducing balance basis.

The salvage value of the asset is estimated to be Sh.150.000 after 5 years. Depreciation is on a reducing balance
basis. Corporate tax rate is 3%, Service and maintenance cost would amount to Sh.80.000 per annum,

Required:
(0 An evaluation of both Option 1 and Option 2. {8 marks)y
(ii) Advise the company on whether it should buy or leise the asset. (1 marh}

{Total: 20 marks)

QUESTION FOUR

{a) In relation to international debt instruments:

(i) Explain the meaning ot the term “Eurcobond™. (2 marks)

(i Discuss four benelits of Eurobond financing. {4 marks)
{bh) Dinosott Limited’s capital structure. which it considers optimal, is given as follows:

Sh.*million™

Debenture capital 25

Reserves 15

Ordinary share capital 45

Preference share capital 15

100 .
Additional information:
1. The firm’s historical earnings per share (EPS) and dividend per share (DPS) over the last five years are

given as follows:

Year to 31 December EPS Drs
Sh. Sh.
2016 6.5 3.00
2017 6.8 3.10
2018 7.0 3.30
2019 7.3 3.50
2020 8 3.60

I~

The company’s ordinary shares currently sell at Sh.50 per share at the Securities Exchange. New ordinary
shares will be sold at this price.
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(PR

The company's expected net income for the year ending 31 December 2020 is Sh.40,000,000. Dinosolft
Limited adopts a constant pavout ratio of 40% as its dividend policy.
4, The company can raise additional capital as tollows to finance acceptable investment projects:

Equity capital: Utilise all available retained earnings for the year ended 31 December 2020. Any extra
external equity will be raised through issue of new ordinary shares at a floatation cost
of 10% of the issue price.

Preference share capital:  New preference shares will be issued at 11% coupon rate. The par value of
each share is Sh. 100, New preference shares will be issued at par subject to
a tloatation cost of Sh.5 per share '

Debentures: New debentures can be sold at a coupon rate of 13%. The debentures will be issued at
par.
5. Corporation lax rate is 30%,
Required:
(D Calculate the breakpoint in the marginal cost of capital schedule. (2 marks)
(i1 The weighted marginal cost of capital (WMCC) in each of the intervals between the breakpoints.
_ (6 marks)
(iii) Dinosoft Limited has the foflowing potential investment opportunities.
Project Initial cash outlay internal rate of return
Sh. (%)
v 10,000,000 16
W 20.000.000 14
X 10.000,000 11
Y 20,000,000 10
Z 10,000.000 8
Required:
Using the investment opportunities schedute. advise on which project(s) to accept and hence determine
the firm’s optimal capital budget. (6 marks)

(Total: 20 marks)

QUESTION FIVE
{a) The number of hostile takeovers relative to friendly or uncontested takcovers is smali. However, drama surrounds
them and they usvally capiure the interest of the press and the public.

In light of the above statement, examine four legal measures that could be applied to counter mergers and

acquisitions. (4 marks)
{b} Propose four types of financial synergies that could arise as a result of a tnerger. (4 marks)
(<) Duncan Kipchumba, the director of Wote Ltd. met Lewis Khaminwa, the director of Toa Limited during a

conference n Kisunmu City. They had some discussion about their two companies. After flying back to Nairobi,
Duncan Kipchumba proposed to his beard of directors the acquisition of Toa Lid.

During his presentation to the Board, he stated that “as a result of this takeover, we will diversify our operations
and earnings per share will rise by 13% bringing great bencfits to our shareholders™.

No bid has yet been made and Wote Limited currently owns 2% of Toa Lid. A bid would be based on an exchange
of shares between the two companies which would be one Wote Ltd. share lor every six Toa Ltd. shares.
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Financial data for the two companies include the following:

Wote Litd. TFoa Ltd.
Sh.(“million") Sh.(“million”)
Turmover 56.0 42.0
Profit before tax 12.0 10.0
Profit attributable to ordinary shareholders 7.8 6.5
Dividends payable 32 3.4
4.6 Al
tssued ordinary share capital (Sh."million™) 20 E5
Market price per share (MPS}) (Sh.) 3.20 0.45
Par value per share (Sh.) 0.50 0.10
Required:
(i) The pre-merger price to earnings (P/E) ratio for both companies. : (4 marks)
" (i} Poét merger earnings per share (EPS). (3 marks)
(iii) Explain whether you agree with Duncan Kipchumba when he says that the takeover would bring great
benefits to ordinary shareholders. Support your answer with relevant caiculations. {2 marks}
(iv) The post-acquisition price of a share of Wote Ltd. assuming the bid is successful. i (3 marks})

{Total: 20 marks)

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo
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CPA PARTIISECTIONS
ADVANCED FINANCIAL MANAGEMENT
THURSDAY: 20 May 2021. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each guestion are shown at the end of the question. Show ALL vour workings.

QUESTION ONE
(a) Citing four reasons. argue the case why firms undertake capita) rationing decisions tn vour country. (4 marks)
(b) You have been appointed by Biosoft Limited to review three investment project proposals. The investment funds are

limited to Sh.8.000.000 in the current financial vear. Details of the three possible investment projects. none of which
can be delayed are given below:

Project I: An investment of $h.3,000,000 in workstation assessments. Each assessiment would be on an individual
employee basis and would lead to a saving in labour costs from increased efliciency and reduced abscentecism. In
money terms, the savings in labour costs are expected toche as follows:

Year 1 2 3 4 5
Cash Flow (Sh. “000™) 850 K0 950 1,000 950

Project 2: An investment of Sh4.500000 in individual workstations for sl sthat 15 expected to reduce
administration costs by Sh.|1,408.000 per annum in money terms for (he next five vears,

Project 3: An investment of Sh.4.500.000 in new ticket machines. A net cash savings of Sh. 1,200,000 per annum is
expected in current money terms and is projected to increase by 3.6% per annum duc to inflation during the five years
life of the machines.

The money cost of capital for Biosoft Limited is 12%.

Required:

Advise the company on the profect(s) to invest the available funds and calculate the resuftant net present value (NPV)

assuming:

(i) The three projects are divisible. {7 marks)

(i) None of the projects is divisible, (5 marks)
(c) Dafina Limited is an export - import firm based in Kenya.

On | August 2020, the company exported tea to the United States of America {(USA) on a 3-month credit amounting
to US$10.000,000.

Additional information:
1. The rates in the forex and money market were as follows:

Ksh/1USS
1 August 2020 103
| December 2020 - 101
Interest rates (per annum)
Kenya . _ 8%
USA 12%

2. The customer will settle the amount on 1 December 2020.
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Required:
(i)  Using the interest rate parity, determine the expected 3-months forward exchange rate as at | December 2020.
{2 marks)

(i} Using suitable computations, advise Dafina Limited on the better hedging strategy betwceen a forward market

and money market hedge. (4 marks)
(Total: 20 marks)

QUESTION TWO
(a} In this era of globalisation, the functions of finance executives of multinational corporations (MNCs) have become
complex. o

Propose five factors that the Chief Finance Officer (CFO) of a MNC should consider in making internationa! financial
management decisions. " (5 marks)

(b) The arbitrage pricing theory (APT) and the capital asset pricing model (CAPM) have received much éttéﬁﬁoﬁ from
practitioners and academicians for their use in asset pricing and valuation.

Required:

Explain the difference between APT and the CAPM with respect to:

(i) Investor utility functions. . \(__2 marks)

(iiy Distribution of returns. - (2 marks)

(iii) The market portfolio. ' (2 marks)
(c) Zachary Mosomi, an investor holds the following porifoiio of four risky assets and a deposit in‘a risk-frec asset.

He has provided the information below:

Asset Weighting Current return Beta
(%) (%)
A 20 12 1.5
B 10 18 : 2.0
C 15 14 1.2
D 25 8 0.9
Risk-free asset 30 5 0

The overall return on the market portfolio of risky assets is 11%.

Reguired:
(i}  Portfolio return and beta. (2 marks)
(ii) Using the results in {i) above. deduce the type of investor Zachary is. (I mark)
(ii) Using suitable computations, determine the assets that are inefficient, efficient or super efficient. (4 marks)
(iv} Calculate the equilibrium refurn for the portfolio. .. (2 marks)
(Total: 20 marks)
QUESTION THREE .
(a) (i)  Explain the meaning of the term “unbundling” as used in corporate restructuring and reorganisation. (2 marks)

(ii) Describe four forms of unbundling a firm. - (4 marks)

CAS53 Page 2
Qutof4

Suggested answers available: www.someakenya.com/cpa-revision-kits



(b)

Bamboo Ltd. is currently an unlevered firm, The firm is expected to generate a constant operating profit (EBIT) of
Sh.20 million per annum in perpetuity. The firm’s current market value is Sh.80 million.

The management is considering undertaking an expansion activity by use of debt financing. The firm’s financial
analysts have estimated that the present value of any future financial distress cost is Sh.8 miltion. However, the
probability of distress would increase with leverage according to the following schedule:

Value of debt Probability of Pre-tax
Sh. “million” financial distress (%) | cost of debt (%)
| 25 0.00 4
5.0 i.25 6
7.5 25 10
0 6.25 15
12.5 12.50 18
15 31.25 20
20 75 22
Corporation tax rate applicable is 30%.
. Required:
(i)  The current cost of equity and weighted average cost of capital (WACC) of the firm. (2 marks)

(i} Using the “purc” Modigliani and Miller (MM) with tax model, determine the optimal level of debt. (4 marks)

(iii) Evaluate the firm’s optimal capital structure when financial distress costs are included. (8 marks)
(Total: 20 marks)

QUESTION FOUR
{(a) Evaluate five defensive tactics available to a firm threatened by a hostile takeover in the industry. (5 marks)

(b} Apco Limited is considering to acquire Alpha Limited. The following are the financial data for the two companies:

Apeo Limited Alpha Limited

Net sales {Sh.) 350,000 45,000

Profit after tax (Sh.) 18,130 3,750

Number of outstanding ordinary shares 7,500 1,500

Earnings per share (EPS) 395 2.50

Dividend per share (DPS) 1.30 , 0.60

Total market capitalization (Sh.) 420,000 45,000

Required:

()] Determine the pre-merger market value per share for both companies. (2 marks)
(i) Determine the post merger EPS, market price per share (MPS) and price earnings (P/E) ratio. (3 marks)

Ciii) Compare Apco Limited’s EPS assuming Alpha Limited's shareholders are offered Sh.100.000, 5%
convertible debenture for each share held in Alpha Limited.

Assume a corporate (ax rate of 30%. (2 marks)

(c) Makazi Ltd.’s current earnings per share is Sh.6.0. The firm has in issue 50 million ordinary shares which have a par
value of Sh.20 cach. The firm’s total revenue and capital reserves amounts to Sh.500 miilion.

The company has an asset beta of 0.9 and a retention ratio of 60%.

The management of Makazi Ltd. intends to undertake a financial reconstruction which will result in a debt-equity ratio
change from 0.45 10 0.2.
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Additional information:

I. The risk free rate of return is 8%.

2. Expected rate of return of a market portfolio is 18%.

3 Corpo‘ration tax rate is 30%,

4. The firm’s return on equity before and after the financial reconstruction will remain unchanged.
Required:

Evaluate the impact of the financial reconstruction on the firm’s share price. ' (8 marks)
(Total: 20 marks)

QUESTION FIVE

{a) Discuss four circumstances in which a decision could be made to liquidate a failing company rather than attempt 10
carry out a reconstruction. (4 marks)

(k) Examine four advantages of investing in real estate. {4 marks)

(¢) Zedtech Ltd. wishes to design a new product so as to catch the interest of their target market which is currently very
competitive.

The company will have to invest Sh.100.000 at the beginning of the first year (year 0) for the design and model testing
of the new product.

The company’s marketing manager believes that there is an 80% chance that this phase will be successful and the
project will continue. If phase | is not successful, the project wiil be abandoned with zero salvage value.

The next phase, if undertaken would consist of makingthe moulds and producing ten prototype products at a cost of
Sh.500,000 at the end of the first year. If the'products test well, the company would go into full scale preduction. If
they do not, the moulds and prototypes will all besold for Sh.400,000. The manager estimates that there is a 90%
probability that the products will pass testing and’phase 3 will be undertaken.

Phase 3 consists of changing over the firin's current production line so as to be able to produce the new products.
This will cost Sh.1,000,000 at the end of year 2. If the economic conditions are favourabte at this juncture, the net
value of the firm’s cash flows are estimated to be Sh.3,500,000, while if the economic conditions are unfavourable the
net cash inflows are estimated at Sh.2,500.000. Both net cash flows are expected at the end of year 3, and the fwo
states of econonty are equalty likely.

The tirm’s epportunity cost of capital is | 1%,

Required: :

(i) Construct a decision tree to depict payoffs. and hence determine the expected net present value (NPV) of the
project. (6 marks}

(ii) The project’s expected standard deviation and coefficient of variation. (5 marks)

(i Assuming the firm’s average project had a coefficient of variation of between 1.0 and 2.0, explain whether
the project would be of high, low or average risk. . (I mark)

(Total: 20 marks)
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13 12134 | 11,040 | 10638 | 99656 | 90938 | 64527 | £I5TT | 70038 | Taeeg | P04 | ol | 64235 | 61218 | Spdo4 | 55631 | 50423 | 45327 | dgta4 | 3TeM | 32033
14 135004 | 12106 [ v10m6 | 10560 | 99986 | 92050 | a5 | e2adz | Fres2 | 73657 | 69819 | 64282 | 63025 | 600 | 5745 | S.4¢i5 | 46106 | Jee1d | aEad | 22487
13 12065 | 1280 | 1103 | 14453 | 10280 | a7122 | o079 | 85595 | 50607 | TH081 | 74000 | 68109 | 64674 | 67422 | SHE4T4 | HEP56 | 46755 | 4.001) p 3059 ) BD6ED
% 14718 | 13578 | 12.561 | 11652 | 10828 | 10.106 | 94466 | 88514 | 83126 | 7.8230 | 7.5792 | 65740 | 68033 | 6.2651 | 50542 | 5.6685 | 47206 | 40333 | 1474 | 22432
17 15562 | 14.292 | 13166 | 12186 | 11,274 | 10477 | 97632 | 01216 | 95426 | 60046 | 75680 | T1996 | 67201 | 63720 | £.0472 | 57487 | 47746 | 40501 | 38000 | 13044
hi ] 16,998 | 14992 | 12754 | 12550 | 11.690 | 10626 | 10050 | o5719 ) 8755 | 63094 | 77016 | T407 | 683006 | 64674 | 69260 | SavTg | 48172 | 4076 | 5027 | 13037
.___19 T2 | 15678 | 14324 | 13004 F 12085 | 19956 | 10036 | 06036 | 2960 | 63649 | 7.809) | 73658 | 69060 | 65504 | 63962 | 54775 | 4.8435 | 40U67 | 39424 | JIWS
F.l 18048 | 16351 | 14877 | 43500 | 12462 | 11470 | 10504 | 08184 | 0285 | BS136 | 79633 | T.a604 { TO4 | £623 | 62993 | 50208 | 48606 | 41407 | 39530 | d01%4
- H 19,857 | 1L.0H1 154015 | 14029 | 1281 11784 | 1043% | 1007 | 92932 | E848F | 80751 5620 | 7016 | save | 83135 | 5470 | 48013 | 41312 | 29831 | 101be
Fry 19.660 | 17.656 | 15097 | 1445t | 10187 | 12042 | 10061 | 10207 | adad | 1705 | 9767 | 75446 | 71605 | 67429 | 6.3567 | 60113 1 4004 | 41300 | 28705 ) 3.22M
23 20456 | 18292 | 15.444 | 14657 | t2480 | 12905 [ 1227 [ 1037 | 05800 | eeesd | g2664 | Prma | 729007 | 67621 | 6308 | 60442 | 45245 | 4374 | DHFR4 | I
4 20243 | 1099 | 16806 | 15247 | 12798 | 12550 [ 10468 | wsro | o006 | goasd? | adet | 77940 | 72020 | 60351 | 64338 | 60726 | 49371 | 41428 | 3481t | 3072
25 22023 | 19525 | 17443 | 15627 | 14004 | 22763 [ 1965 | 10675 | 28226 | 00270 | 47 | Te4M | 70300 | 89720 | 64541 | 60071 | 40476 | £1474 | 15040 | 186
] 25.608 | 7299 | 19.600 | 17.262 | 15372 | 13765 [ 12408 | 11258 | 10374 | wazef | 6.6038 | 60550 | 74057 | o027 | 6.5660 | 69772 | 978% | 41601 | 38050 | 3300
¥ 29.400 | 24909 | 29487 | 18665 | 16374 | teaoa [ 17048 | 11655 | 10567 | 96445 | 58552 | BA755 | 75955 | 70000 | 6.6166 | 6.45% | 4P015 | 41644 ) 38964 | 3300
3% 20008 | 25429 | He32 | 1eops | 1esuy | a2 | 13005 | aniad | 10812 | ws7es | Be7e6 | 904 | FsaTd | TOT00 | 646239 | 62201 | &9020 | 41649 | 34687 | R3IH
4 JEBI5 | 27055 | 33115 | 10793 | 1750 | 15046 | 13332 | 11095 | 10767 | 9779y | 80511 | Sadip | 16344 | 7050 | 66418 | 62335 | 45965 | 41659 | 30985 | JaR
50 39196 | H4M | FSTM | N.482 18286 | 5762 | 1RG0 | 12233 10862 | G914k | G.0417 | 43045 16752 | TN | 66605 | 6.248) | 49905 41666 | 39908 | 33312
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kasneb

CPA PART HI SECTION 5

ADVANCED FINANCIAL MANAGEMENT
FRIDAY: 27 November 2020. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE
(a) Discuss four reasons for restructuring and reorganising an organisation. (8 marks)
(b) Professor Edward Altman’s model for prediction of bankruptey is given as follows:

Z —score = 1.2%; + 1.4xs + 3.3x;3 + 0.6x4 + 0.999%;

Xy, Xs; X3, X4 and xs are the financial ratios which according to Prof. Altman have the discriminating power.

Where: x; = Networking capital/Total assets
X, = Retained earnings/Total assets
X3 = Operating profit (EBIT)/Total assets
Xs = Market value of equity shares/Book value of debt including preference share capital
%s = Sales/Total assets

Given below are summarised financial statements of Alpha Limited for the year ended 31 December 2019:

Alpha Limited
Income statement for year ended 31 December 2019

Sh.“000”
Sales 400,000
Cost of sales (300.000)
Gross earnings 100,000
Operating expenses (60.000)
Operating profit 40,000
Financing cost: Interest (10.000)
Profit before tax 30,000
Corporation tax @ 30% (9.000)
Profit after tax 21,000
Ordinary dividend proposed and paid (11.000)
Retained profit for the year 10.000

Alpha Limited
Statement of financial position as at 31 December 2019

Sh.“000”

Assets:

Non-current assets 300,000

Current assets 100.000

Total assets 400,000

Financed by:

Ordinary share capital (Sh.10 each) 100,000 .

Retained profit 120,000

Share premium 40,000

Equity capital 260,000
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Sh.“000”

Total current liabilities _ 20,000
12% preference share capital 40,000
10% debenture capital 80.000
Total equity and liabilities _400.000

In this model, a Z — score of 2.7 or more indicates no signs of failure and a Z — score of 1.8 or less indicates there are
signs of failure, The firm’s ordinary shares are currently trading at Sh.15 each.

Required:

(i) The Z — score for Alpha Limited. (5 marks)

(ii) Comment on the results obtained in (b) (i) above. (1 mark)
(c) Chanzu Ltd. is considering a project which would cost Sh.5,000,000 now. The annual benefits for four years, would

be a fixed income of Sh.2,500,000 per annum plus other savings of Sh.500,000 in year 1, rising by 5% each year
because of inflation. Running costs will be Sh.1,000,000 in the first year but would increase at a rate of 10% each year
because of inflating labour costs.

The general rate of inflation is expected to be 7.5% per annum and the firm’s required nominal rate of return is 16%.

Required:

(1) Advise the management of Chanzu Limited on whether to undertake the project. (4 marks)

(i1) Comment on the impact of inflation in (¢) (i) above. (2 marks)

(Total: 20 marks)
QUESTION TWO
(a) The following information relates to two mutual funds operating in your country:
Omega Beta
Mutual fund Mutual fund

Realised return 13% - 18%

Beta 1.0 2.0

Standard deviation 19% 15%

Additional information:

1. The return on the market index is 12%.

2. The risk free rate is 8%.

Required:

For each of the above mutual funds, compute the following performance index scores:

(1) Jensen's alpha. (2 marks)

(ii) Treynor’s alpha. (2 marks)

(i) Sharpe index for the funds and the market. (3 marks)
(b) The estimated factor sensitivities of Diamond Ltd. to Fama-French factors and the Pastor-Stambaugh model factors

and the risk premium associated with those factors are given in the table below:

Factor sensitivity Risk premium (%)

Market factor 1.05 5.00

Size factor —0.65 2.50

Value factor —0.20 - 4.50

Liquidity factor 020 4,50

The treasury bill rate is 5%

Required: ;

(i) The required rate using the Fama-French model. (3 marks)

(i1) The required rate of return using the Pastor-Stambaugh model (PSM). (3 marks)
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(c) You have recently been hired as a financial manager at Panblock Limited, a locally incorporated company that deals
in imported building materials from the United States of America (USA). As the person in charge of negotiating the
exchange rates, you have noted the following indicative exchange rates and interest rates:

3-months forward exchange rates 105 KES/USD
Spot exchange rate 100 KES/USD
3-months interest rate in Kenya 8% per annum
3-months interest rate in USA 5.8% per annum

Assume that Panblock Limited can borrow as much as KES 1,000,000.

Required:
(1) Determine whether the interest rate parity (IRP) is currently holding. (2 marks)
(ii) Demonstrate how you could undertake a covered interest arbitrage assuming that IRP is not holding.
{4 marks)
(i11) Determine the arbitrage profit. (1 mark)
(Total: 20 marks)
QUESTION THREE
(a) Explain the difference between the following terms as applied in mortgage and financial markets:
(1) “Primary mortgage market” and “secondary mortgage market”. (2 marks)
(i1) “Fixed-rate mortgage” and “adjustable-rate mortgage”. (2 marks)
(1i1) “Lien” and “recourse’’. (2 marks)
(b) The shareholders of Mali Investment Holdings have for the last two years managed to save an accumulated fund of

Sh.15 million available for investment. A financial analyst they hired to appraise some possible projects they can
invest in, has availed the following information:

Project Initial cash outlay Lxpected return Standard deviation
Sh.“000” (%) (%)
P 9.000 12 25
Q 7,000 21 1.8
R 6,000 16 23
S 8,000 14 1.6

The co-variances between various projects contribution are as follows:

Project pairing Covariance
PQ —31
PR 1.3
PS -4
QR 1.5
Qs 1.7
RS 27
Additional information:
1% The management is planning to invest by pairing the projects.
2. The maximum capital that can be invested is the accumulated fund as shown above.
=S Any paired project is mutually exclusive and none of the projects is divisible.
Required:
(i) For each possible project pair combination, calculate the expected return, correlation coefficient and standard
deviation. (12 marks)
(ii) Advise the shareholders of Mali Investment Holdings on the optimal project pair based on the mean variance
criterion. (2 marks)
(Total: 20 marks)
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QUESTION FOUR

(a) Explain the following terms as used in the context of international parity conditions:
(1) Interest rate parity. (2 marks)
(i1) Purchasing power parity. (2 marks)
(iii) International Fisher effect. (2 marks)
(b) An investor has acquired a call option whose exercise price is Sh.100. The option’s premium is Sh.5 per option.

The following are the possible market prices (in shillings) of the option:

114 112 110 108 106 105 104 102 100 98 96 94

Required:
(i) Determine the options value based on each of the above market prices. (3 marks)
(i) Determine the profit or loss associated with the option on the basis of each of the possible market prices.
(3 marks)
(iii) Represent the information in (b) (ii) above in a diagram where the X — axis represents market price and y —
axis represents profit or loss for the option buyer. (3 marks)
(iv) Interpret the graph in (b) (iii) above. (1 mark)
(c) Describe four types of real options available to the management while making strategic capital budgeting decisions of
S : (4 marks)
(Total: 20 marks)
QUESTION FIVE z
(a) Explain six reasons why mergers and acquisition deals fail despite good planning. (6 marks)

(b) Zeltex Ltd. is an unlevered firm. The firm exXpects to generate operating profit (EBIT) of Sh.20 million each year to
perpetuity.

The firm’s current market value is Sh.80 million and pays corporation tax at the rate of 30%. The management of the
firm is considering the use of debt financing. The firm’s financial analysts have estimated that the present value of any
future financial distress costs is Sh.8 million and that the probability of financial distress would increase with leverage
according to the following schedule:

Value of debt Probability of Pre-tax cost of
(Sh.m) financial distress debt (%)

D5 0.00 6

5.0 0.0125 7.5

75 0.025 9

10 0.0625 10

12.5 0.125 11.5

15 0.3125 125

20 0.75 14

Additional information:
The firm’s ungeared asset beta is 0.60.

15

2 The risk free rate of return is 8%.

3 Expected return of the market portfolio is 15%.

4. The cost of equity of a levered firm shall be captured using capital asset pricing model (CAPM).

5 The Hamada model shall be applied to capture the levered equity Beta.

Required: ’

(1) The current cost of equity and weighted average cost of capital (WACC). (2 marks)
(ii) The firm’s optimal level of debt using the “pure” Modigliani and Miller with corporation tax model.

(4 marks)

(iii) The firm’s optimal weighted average cost of capital (WACC) and hence its optimal capital structure
proportions. (8 marks)
(Total: 20 marks)

CAS53 Page 4
Out of 4

Suggested answers available: www.someakenya.com/cpa-revision-kits




Present Value Interest factor of 1 Received at the End of n Periods at r Percent:

PYVIF o= 1/(140)" = (1 +)"

Period | 1% % | M A% L [ ™ [ 9% 10% 1% 12% 1% W | 1 | 1% 0% | 4% 5% 0%
1 028601 | 09804 | 09709 | 0.9615 | 09524 | 00434 | 09346 | 08250 | 09174 | 0.9091 | 09009 | 0.8929 | 0.8950 | 0.8772 | 0.8696 | 0.8621 | 0.8333 | 0.8065 | 0.8000 | 0.7632
Z 09803 | 09612 | 09426 | 00246 | 05070 | 08000 | 08734 | 08573 | 08477 | 0.8264 | 08116 | 07972 | 07831 | 07685 | 07561 | 0.7432 | 0.5044 | 06504 | 0.6400 | 05917
3 0.8706 | 08423 | 09151 | 08880 | 08638 | 083096 | 08163 | 07938 | 04727 | 67513 | 07312 | 0.7118 | 0,6931 | 0.6750 | 0.6575 | 0.6607 | 0.5787 | 0.5245 | 05120 | 04557
4 0.9610 | 89238 | 08885 | 08548 | 08257 | 0.7921 | 0.7629 | 0.7350 | 0.7084 | 06830 | 0.6587 | 0.6355 | 0.6133 | 0.5921 | 0.5718 | 05523 | 0.482) | 04230 | 04096 | 03501
5 0.9515 | G.0057 | 08626 | 08219 | O.7835 | O.7473 | 0.7130 | 06806 | 0.6409 | 0.6009 | 05035 | 0.5674 | 0.5428 | 0.5184 | 04972 | 0.4761 | 0.4010 | 03411 | 03277 | 02683
a 09420 | GBSO | 08375 | 07903 | 0.7462 | 0.7050 | 0.6663 | 0.6300 | 0.5063 | 0.5645 | 0.5346 | 05066 | 0.4803 | 04556 | 0.4323 | 0.41047| 03340 | 02751 | 02621 | 02072
T 09327 | 08706 | 08131 | 07500 | 07107 | 06651 | 06227 | 0.5835 | 05470 | 0513 | o4ee7 | 0450 | 04251 | 03006 | 09758 | 03538 | 0271 | 02218 | 02097 | 09504
a 00235 | 68535 | 0.7804 | 0.7307 | 06768 | 06274 | 0.5620 | 0.5403 | 05019 | 04665 | 04330 | 04030 | 03762 | 03500 | 03969 | 0.3050 | 02326 | 09788 | 01678 | 0.1236
9 05143 | 0BM8 | 07664 | 0.7026 | 0.6446 | 0.5915 | 0.5430 | 0.5002 | 04504 | (4241 | 03969 | 03606 | 03320 | 0.3075 | 62843 | 02600 | 01938 | 0.9443 | 01342 | 00848
1 09053 | 08203 | O.7441 | 06756 | 0.6139 | 0.5584 | 0.5083 | 04632 | 04224 | 03855 | 03522 | 03200 | 0.2046 | 0.2697 | 0.2472 | 02267 | 09615 | 0.1964 | 09074 | Q0725
1 08063 | 0.8043 | 0.7224 | 05496 | 0.5847 | 0.5268 | 04751 | 04280 | 03875 | 03505 | 0.M73 | 02875 023656 | D.2142 | 01554 | 09346 | 0.0038 | 0.085% | 00558
12 0.8874 | 0.7885 | 07014 | 05246 | 05568 | 04670 | 04440 | 03071 | 03555 | 0.3186 | 0.26858 | 02567 | 0.2307 | 0.2076 | 0.1660 | 0.1685 | 01122 | 0075/ | 00687 | 0.0420
13 08787 | 07730 | 06810 | 0.6006 | 0.5303 | 04688 | 04150 | D677 | 03262 | 0.2897 | 02575 | 09202 | 0.2042 | 01821 | 01625 | 0.1452 | 0.0935 | 0.0610 | 0.0550 | 0.0330
14 08700 | 07579 | 0.6611 | 05775 | 0.5051 | 04423 | 03678 | 0.3405 | 02992 | 03633 | 0.2320 | 0.2046 | 0.1807 | 0.9597 | 0.1413 | 01252 | 0.0779 | 0.0492 | 00440 | 0.0254
15 08613 | 07430 | 0.6419 | 05553 | 04810 | 04173 | 03624 | 03152 | D.2745 | 0.2304 | 02000 | 01827 | 01580 | 04401 | 01220 | 01070 | 0.0640 | 0.0007 | 00052 | 00195
16 0B528 | 07284 | 06202 | 05330 | 04581 | 0.3936 | 03387 | 02018 | 02519 | O.76 | 04883 | 04631 | 09415 | 01220 | 0.4060 | 0.0000 | 0.0541 | 0.000 | 0.0281 | 00150
1 08444 | 07142 | 06050 | 05134 | 04363 | 03714 | 0166 | 02700 | 011 | ooove | oveos | paase | o252 | ootore | oooze | oos02 | 00451 | 00258 | 00225 | oone
18 | 0.8350 IL?WZ_‘ 0.5874 | 04936 | 04155 | 03500 | 0295 | 02502 | 02120 | 04799 | 04528 | 01200 | 01108 | o.0045 | o.0808 | c.oe01 | 037 00206 | 00180 | 0.0089

18 0.8277 | 06864 | 05700 | 04746 | 03057 | 03305 | 02765 | 02917 | 09045 | 01635 | 049377 | 61161 | 0.0081 | 00829 | 00703 | 0.0586 | 0.0313 | 0.0168 | 0.0144 | 0.0068
20 08155 | 06730 | 0.5557 | 0.4584 | 03760 | 03118 | 02584 | 02145 | 01784 | 0.1486 | 0.1240 O.!E_T__‘ 00868 | 0.0728 | 0.0611 { 00514 | 0.0261 | 0.0135 | 0.0115 | 00053

el
Fil 08114 | 06508 | 05375 | 04388 | 0580 | 024942 | 0.2415 | 019687 | 09637 Ilgl?il 01117 | 00926 | 00765 | 0.0638 | 0.0531 | 0.0443 | 0.0217 | 00109 | 00092 | 0.0040
2 0.8034 | 05468 | 0.510 | 04270 | 03418 | 02775 | 0.2257 | 04839 | 04502 |(0.9228 | 0.4007 | 00826 | 0.0680 | 0.0560 | 0.0462 | 0.0382 | 0.0181 | 0.0088 | 0.0074 | 0.0031
fal 0.7954 | 06347 | 05067 | 04057 | 03256 | 02018 | 02109 | 0.9703 | 04378 ! 0.7 | 0.0007 | 00738 | 0.0601 | 0.0491 | 0.0402 | 0.0329 | 0.0151 | 0.0071 | 00050 | 0.0024
24 07876 | 06217 | 04919 | 03901 | 03101 | 0.2470 | 04971 | 03517 ll.ﬂﬂ 0.9015 | 00817 | 0.0850 | 0.0532 | 0.0431 | 00049 | 00784 | 0.0126 | 00057 | 00047 | 00018
25 07798 | 06095 | 04776 | 03751 | 02953 | 6330 | 0.1842 | 0.1460 (11)’80 00823 | 00735 | O.0588 | 0.0471 | G.0378 | 0.0004 | 0.0245 | 005 | 0.0045 | 0.0033 | 0.0014
%
30 07410 | 05521 | 04120 | 03083 | 92314 | 01741 | 0.1314 %ﬂ 00754 | 0.0573 | 0.0437 | 0.0034 | 0.0256 | 096 | 0.0151 | 0.0416 | 0.0042 | 00016 | 0.0012 =
35 07050 | 0.5000 | 03554 | 02534 | 01813 | 01301 | 0.0637 76 | 0.0490 | G.0356 | 0.0250 | 00189 | 0.0139 | 00102 | 0.0075 | 0.0055 | 0.0017 | 0005 = =
k] 06980 | GA902 | 03450 | 02437 | 01727 | 0127 | 0087 L0626 | 0.0445 | 0.032) | 0.0234 | 00169 | 0.0123 | 0.0089 | 0.0065 | 0.0048 | 0.0013 x A =
40 04520 | 03066 | 02083 | D420 | 90072 | 0.0668 | 0.0466 | 0.6318 | 0.0021 | 0.0154 | 0.0107 | 0.0075 | 0.0053 | 0.0037 | 0.0026 | 0.0007 * b x
50 II.:I?IS_ 02281 | 09407 n.n_m 0.0541_ m &_.0211 0.0114 B.& 0.0054 | 06035 | 00022 | 0.0014 | 0.0009 | 0.0006 e 5 ¥ .
o= =% r———
3
\% -
Present Value Interest factors for Annuity of 1 Discounted at r Percent for n Periods:
PVIFA .o =[1—1/(1+) "I /r

Period | 1% 2% % 4% 5 &% 7% 8% | o%- | 0w | A% | 12% ] 3% | % | 5% | 6% | 20% | 24% | 25% | 30%
1 00001 | 09804 | 06700 | 00615 | 0.0524 | 0.9434 | 00346 | 097450 | 00174 | 09001 | 0.8009 | 08029 | QBRSO | 0.87/72 | 0.8606 | 0.8621 | 0.8333 | 08065 | 0.8000 | 0.7692
2 1.9704 | 19416 | 19135 | 1.8861 | 1.8504 | 18334 | 1.8080 | 1.7B33 | 17591 | 1.7355 | 17125 | 1.680% | 1.6681 | 1.6467 | 1.6257 | 1.6052 | 1.5278 | 1.4568 | 1.4400 | 13600
3 20410 | 2.8839 | 28286 | 27751 | 29232 | 26730 | 25243 | 25071 | 25313 | 24860 | 24437 | 24018 | 2.3612 | 23210 | 22802 | 22450 | 29085 | 19813 | 19520 | 1.8161
4 39020 | 1BOTT | J7I74 | 16299 | 35460 | 34651 | 33872 | 33 | 323097 | 34699 | 31024 | 0073 | 29745 | 20137 28550 | 27982 | 25887 | 24043 | 23616 | 21662
5 48534 | 435 | 45797 | AAS18 | 43205 | 42124 | 41002 | 30037 | 38807 | 37008 | 36050 | 36048 | I5172 | 34331 | 33522 | 32743 | 2.9006 | 27454 | 26893 | 24356
& 5.7955 '_5'_30!-1 SAN72 | 52421 | 50757 | 49173 | 4.7685 | 46220 | 44850 | 40553 | 47305 | 49114 | 10975 | 38BET | 37845 | 36847 | 33955 | 30205 | 20504 | 26427
L 67282 | 64720 | 62300 | 60021 | 57864 | 55824 | 53803 | 52064 | 50330 | 468684 | 47122 | 45638 | 44220 | 42883 | 415604 | 40086 | 16046 | 32423 | 19611 | 280
8 78517 | 73255 | 77 | 67327 | 64632 | 62008 | 50713 | 57466 | 55340 | 53349 | 59461 | 40676 | 47088 | 46309 | 44873 | £3436 | 38372 | 34H12 | 3a0m0 | 29M7
2 B.5660 | B.1GZ2 | 77861 ?.41_“_‘ 71078 | 68017 | 65152 | 62450 | 55952 | S7500 | 55370 | 53202 | 5437 | 40464 | 47716 | 46065 | 40310 | I5655 | 14631 | 10100

|10 9471 | BOE26 | 85302 | RI109 | L7 | 70601 | T02% | 67101 | 64477 | G446 | 58692 | 56507 | 54262 | 52161 | 5.0188 | 48332 | 49925 | 36810 | 35/05 | 20015
1 10.368 | 97868 | 02526 | 87605 | BI0G4 | 7.8860 | F40B7 | 71300 | 6BUSY | 64951 | 62065 | 59377 | 56869 | 54587 | 52337 S0286 | 43971 | 37757 | 3.6564 | 3473
12 11255 | 90575 | 90540 | 93851 | B.8633 | 83438 | 7.9427 | 7.5361 TAGDT | BB137 | 64024 | G944 | 50176 | 56603 | 54206 | 59071 | 44302 | 38514 | 37554 | 11903
43 | 12934 | 1e | 0635 | o095 | 93936 | 88527 | 83577 | 70038 | 74860 | 74034 | 67490 | 645 | a1me | 50404 | 553 | 53403 | 4537 | 3024 | arem | 3z
" 13004 | 12106 | 11206 | 10.563 | U.B086 | 92050 | B7455 | 442 | TB62 | TI667 | 608198 | 6.6282 | 63025 | 60021 | S5T245 | SA675 | 46106 | 30616 | AN | 36T
15 13865 | 12849 | 11938 | 11.918 | 10.380 | 9.7122 | 91079 | 85595 | B.0607 | 7.6061 | 7.1900 6.819_9__‘ 64624 | 69422 | 58474 | 55755 ’Lﬂﬁ 40013 | 1asa3 | J6A2
18 $4.718 | 13578 | 12561 | 11.652 | 10.838 | 10106 | 94456 | 88514 | 83926 | 78237 | 7.3792 | 60740 | 66038 | 62651 | 59542 | 56685 | 47206 | 40333 | 3pa74 | 32802
17 15.562 | 14292 | 13166 | 12166 | 11274 | 10477 | 9.7632 | 9.1216 | 8.5436 | 80216 | 75488 | 71196 | 67291 | 63720 | G.O472 | 57487 | 47746 | 40501 | 30008 | 32948
18 16.398 | 14992 | 13754 | 12650 | 11600 | 10.828 | 10055 | 93718 | 87550 | 89044 | 77016 | 72487 | GR106 | 64674 | 61280 | 58178 | 48122 | 40799 | 39279 | 13037
19 17226 | 15678 | 14324 | 13134 | 12085 | 11158 | 1033 | 9606 | 809501 | 83640 | 78303 | 73658 | G.0380 | G.5504 | 0.1882 | 58775 | 48435 | 40067 | 1944 1)1_05-___

_lll_ 18046 | 16351 14877 | 13500 | 12462 | 19470 | 10:504 | 88181 | 9.1285 | A.5136 | 7.963) | 7.4604 | 7.0048 | 68231 | 62593 | 50088 | 4.8606 | 41103 | 19530 | INME8
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CPA PART III SECTION 5
ADVANCED FINANCIAL MANAGEMENT
WEDNESDAY: 27 November 2019. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings,

QUESTION ONE

(a) (i} Distinguish between “insolvency” and “bankruptcy™ as used in business restructuring. (2 marks)
(ii) Highlight four causes of business failure, {4 marks)

{b) Sunny Technologies Ltd. is’ considering investing Sh.50 million in a new machine to manufacture computer micro

chips with an expected useful life of 5 years and no salvage value. It is expected that 20 million units of micro chips
will be sold each year at Sh.3.00 per unit. Variable production costs are expected to be Sh.1.65 per unit, while
incremental fixed costs will-be Sh.10 million per annum.

The cost of capital is 12%.

Required:

Evaluate the sensitivity of the project’s net present value (NPV} 1o the following changes:

(1) Sales volume. > (3 marks)

(ii) Sales price. \ {3 marks)

(i) Variable costs. \ (3 marks)
(c) Further analysis of the company in (byabove suggests that sales volumes could depend on expected economic state as

follows:

Economic state ' Poor Normal Good

Probability 0.30 0.60 0.10

Annual sales volume (units) 17,500,000 20,000,000 22,500,000

Required

The expected net present value (NPV) of the project using scenario analysis. : {5 marks)

{Total: 20 marks)

QUESTION TWO

(a) Kanga Limited is considering the design of a new conveyor system. The management must choose among the
following three alternative courses of action:

Option'1 )
The firm could sell the design outright to another corporation with payments over 2 years.

Option 2
The firm could license the design to another manufacturer for a period of 5 years which is likely to be the product life
cyele of the conveyor system.

Option 3

The company could manufacture and market the system itself. This alternative will result in 6 years of cash inflows.
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Cash flows associated with each altemative are as shown below:

Alternative Sell License Manufacture
Initial investment, I, (Sh.) 400,000 a00 60 - 900,000
Year Casgh inflows (Sh.)

1 400,000 500,000 400,000

2 500,000 200,000 500,000

3 - 160,000 400,000

4 - 120,000 400,000

5 - 80,000 400,000

6 - - 400,000

The company has a cost of capital of 12%.

Required:

Advise Kanga Limited on the best alternative based on:

(i} Net present value (NPV) approach. {3 marks)

(ii) Annualised net present value (ANPV) approach. (3 marks}

(iii) Compare and contrast your results obtained in (a) (i) and (ii} above. - (2 marks)
{b) The finance director of Babito Ltd. wishes to determine the company’s optimal capital structure, The cost of debt

varies according to the level of gearing of the company as follows:

Percentage debt (%) Pre-tax cost of debt (%)
11) 6.5
20 7.1
30 7.8
40 8.5
50 11)
60 12
70 15¢
Additional information:
1. The company’s ungeared equity beta is 0.85.
2. The risk-free interest rate is 6%.
3. The market return is 14%.
4. Corporate tax rate is 30%.
Required:
Advise the company on the optimal weighted average cost of capital (WACC). (12 marks)
{Total: 20 marks)
QUESTION THREE
{(a) Summarise five functions of the International Monetary Fund (IMF). (5 marks)
(b) Duncan Kipchumba has an investment capital of Sh.1,000,000. He wishes to invest the fund in two securities, X and Y

in the following proportion; Sh.200,000 in security X and Sh.800,000 in security Y.

The return on these two securities depend on the state of the economy, as shown below:

State of economy Probability Returns on security X Returns on security Y

Boom 0.40 18% 24%

Normal 0.50 14% : 22%

Recession 0.10 12% 2t%

Required:

(i) The expected retum on the portfolio. (3 marks}

(i) The correlation coefficient between security X and security Y. o {4 marks)
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(i) The portfolio risk. (2 marks)
(iv)  The reduction in risk due to portfolio diversification. (2 marks)

(c) Job Qchieng, an investor, believes that there are three important factors that determine the expected return for a
particular common stock. Job uses the following factor betas and factor risk premiums:

Factor Factor beta Factor risk premium
1 0.70 2.5%
2 1.20 5.0%
3 -0.10 6.0%

The risk-free rate is 5%.

Required: .
(i) The expected return for the stock using the arbitrage pricing theery (APT) model. (2 marks)

(ii) Explain two differences between capital asset pricing model (CAPM) and arbitrage pricing theory (APT)
maodel. . (2 marks)
{Total: 20 marks)

QUESTION FOUR

{a) Distinguish between the following terms as used in the context of derivatives market:
(i) “Currency option™ and “currency swap™. (2 marks)
“(ii) “Interest rate swap™ and “interest rate collar™, (2 marks)
(iii) “Hedgers™ and speculators”, (2 marks)
(b) Property A and property B are categorised under the real estate category. Property A is all equity financed while

property B is financed partly using debt and partly by équity finance.

Both properties generated operating profit (EBIT) of Sh.41,245,900 annually. This is expected to remain constant each
year in perpetuity. Unlike property A whichlis wholly equity financed, property B is findanced partly by equity and
partly by 10% debt of Sh.215,000,000.

The cost of equity is 12% for both properties and there are no corporation taxes. Each unit of debt is trading at par,

Regquired:
The current value of each property using the Net Income (NI) approach. (4 marks)
(<) Smoothdrive Ltd., a motor vehicle assembly company issued a 10 year, 16%, Sh.100 million par value bond five years

ago. The bond was issued at 2% discount and issuing costs amounted to Sh.2 million.

Due to the decline in Treasury bill rates in the recent past, interest rates in the money market have been falling
presenting favourable opportunities for refinancing. A financial analyst engaged by the company to assess the
possibility of refinancing the debt reponts that a new Sh.100 million par value, 12%, 5-year bond could be issued by
the company. Issuing costs for the new bond will be 5% of the par vaiue and a discount of 3% will have to be given to
attract investors.

The old bond can be redeemed at 10% premium and in addition, two months interest penalty will have to be paid on
redemption. All bond issue expenses (including the interest penalty) are amortised on a straight-line basis over the life
of the bond and are allowable for corporate tax purposes. .

The applicable corporate tax rate is 40% and the after tax cost of debt to the company is approximately 7%.

Required: .

(i) The initial investment required 1o issue the new bond. (4 marks)

(ii) Annual cash flowsavings (if any) expected from the bond refinancing decision. (4 marks)
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(i) The net present value (NPV) of the refinancing decision. ' {1 mark)

(iv) Advise the company on whether to refinance the bond based on your results in (c} (iii) above. (1 mark)
{Total: 20 marks)

QUESTION FIVE

(a) Briefly describe the following types of mergers:
(i) Hotizontal. {1 mark)
(ii) Vertical. (1 mark)
(iii) I. Congeneric. (1 mark)
{iv) Conglomerate. (1 mark)
(b) A Ltd. and B Ltd. are companies operating in the same line of business. In the past few years, A Ltd. has experienced

stiff competition from B Ltd. to an extent that A Ltd. is now contemplating acquiring B Lid. in order to consolidate its
market share.

The following financial data is available about the two companies:

Alsd. B Ltd.
Annual sales (Sh. million) 400 60
Net income (Sh. million) 40 9
Ordinary shares outstanding (million) 10 3
Earnings per share (EPS) Sh.4.0 Sh.3.0
Market price per share (MPS) Sh.60 8h.30

Both companies are in the 30% income tax bracket.

Required: _
(i) The maximum exchange ratio that A Ltd. should agree to assuming that it does not expect dilution in its post
acquisition earnings per share (EPS). (2 marks)
(i) The total premium the sharcholders of B Ltd. would agree to receive at the exchange ratio in (b) (i} above,
(2 marks)
(iii) A Ltd.’s post acquisition eamings per share (EPS) assuming that the two companies agree on an offer price of
Sh.30. ‘
{2 marks)

(iv) A Ltd.’s post acquisition earnings per share (EPS) assuming that for every 100 ordinary shares of B Lid.. the
shareholders are offered two, 12 % debentures of Sh.500 par value. {3 marks)

(c) Twiga Limited has 500,000 ordinary shares trading at Sh.150 each in the Securities Exchange.

Additional information:

1. The dividend payable in one year period is Sh.3 per share.

2. An investment opportunity worth Sh.25 million is to be undertaken. The profit to be earned is Sh.15 million.
3. The cost of capital for the company is 10%.

Required:
Using Maodigliani and Miller approach, show that the payment of dividends does not affect the value of the firm.
{7 marks)
(Total: 20 marks)

........................................................................
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Present Value of 1 Received at the End of # Periods:
PVIF = V/(1+e)y = (o)

Period 1% 2% 3% % % &% % a% % 10% 1% 14% 15% 16% ] 18% 20% 4% 2B% pre W%
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* The factor is zero to four decimal places

Present Value of an Annuity of 1 Per Period for n Periods:
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CPA PART HI SECTION 5
ADVANCED FINANCIAL MANAGEMENT
THURSDAY: 23 May 2019. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question, Show ALL your workings.

QUESTION ONE
{a) Discuss four applications of the capital assct pricing model {CAPM). (8 marks)
(b) Dzikunze Manufacturing Limited is considering to raise an extra Sh.10 million in order to finance an expansion

programme,

The company’s current capital structure is given as follows:

Sh. “000”
Ordinary share capital (Sh.20 par value) 50,000
Reserves 20,000
14% debenture capital 20,000
10% preference share capital 10,000
100,000

Additional information:
I The company is considering raising the funds usingdwo alternative financing options namely:
' Option I \
To raise all the funds through the issue of newcotdinary shares at par.
Option Ii:

To raise half of the funds through thedssue of new ordinary shares at par and the balance through the issue
of new 12% debentures at par.

2. The corporation tax rate is 30%.

Required:
{n Earnings belore interest and tax (EBIT) at the point of indifference in company’s earnings for each
financing option. {8 marks}
(in Eamings per share (EPS) at the point of indifference in (b (i) above. {4 marks}
(Totak: 20 marks)

QUESTION TWO
{a) The Unclaimed Financial Assets Authority (UFAA) was created under the Unclaimed Financial Assets Act, No.40

of 2011 to admmister unclaimed financial assets.

Required:
With reference to the above statement, summarise six specific roles of the Unclaimed Financial Assets Authority or
equivalent authority in your country. {6 marks)

{b) ABC Lid. is a company listed in the local securities exchange, The company is foreseeing a growth rate of 12% per
aonum in the next two years. The growth rate is likely 1o be 10% per annum for the third and fourth year, then it will
stabilise at 8% per annum in perpetuity.

The latest dividend to be paid was Sh.1.50 per share,

The required rate of return is 16%.

Required:

The intrinsic vatue of the share. {4 marks)
CAS3 Page 1
Out of 4

Suggested answers available: www.someakenya.com/cpa-revision-kits



(c) Umoja Group of companies belongs to a risk cfass of which the appropriate capitalisation rate is [0%.

The company currently has in issue 200,000 ordinary shares selling at Sh.50 each. The company is ¢ontemplating,
the declaration of dividend at the rate of Sh.3 per share at the end of the current financial year which has just begun.

Required:
Using Modigliani and Miller proposition on dividend irrelevance, determine:
(i The price of the ordinary shares at the end of the year, assuming a dividend is not declared.

(2 marks)
(i) The price of the ordinary shares at the end of the year, assuming a dividend is declared. {2 marks)
{iin) Assuming that the company generates a net income of Sh.2,000.000 and makes new investments of

Sh.4.000,000 during the period.

Show that under the Modigliani and Mitler's assumption, payment or non-payment of dividends has no
effect on the company’s value. (6 marks)
(Total): 20 marks)

QUESTION THREE
{a) Discuss four types of risks associated with investment in real estate investment trust (REITs) securities. (8 marks)
(b) Zomolo Limited is a firm operating in the manufacturing industry. The firm’s current capital structure is given as

follows:

Sh. =0002

Ordinary share capital (Sh.10 par value) 80,000

Reserves 20.000

10% irredeemable debenture capital (Sh.100 par value) 30,000

8% preference share capital (Sh.20 par value) 20,000

150,000

Additional information:
The current market price per share {MPS) of the firm’s ordinary shares is Sh. 34.80 cum-dividend.

1
2. The firm adopts a 60% dividend payout ratio.
3. The most recent earnings per share (EPS) of the firm is Sh.8.00,
4 The historical dividend per share (DPS} over the last four years are given as foliows:
Year Dividerid per share (DPS)
(Sh.)
2015 4.00
2016 4.20
2017 4.50
2018 4.80
5. The firm’s management is contemplating to invest in a project which would cost Sh.40 mitlion. The project

is expected to generate Sh.9 million each year in perpetuity.

6. The project has an estimated beta of 1.50,
T The return from a well diversified market portfolio is 18%.
8. The debentures are considered to be risk-free and are valued at par.
9. The existing 8% irredeemable preference shares are currently trading at Sh.25 each.
10. The corporation tax rate is 30%,
Required:
(i) The firm’s return on equity (ROE) using Gordon's growth approximation method. (3 marks)
(D) The firm’s existing weighted average cost of capital (WACC). {6 marks)
(i) The project’s risk adjusted discounting rate (RADR). {3 marks)

(Total: 20 marks)
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QUESTION FOUR
(a) Kadzenga Limited is a Kenyan company with a substantial proporiion of its trade with companies in the United
States (US). Kadzenga Ltd. invoiced a US firm 60,000 United States Dollars (USD) receivable 3 months from now.

Additional information:

I The borrowing rate is 3% above the bank base rate while the investing rate is 2% below the bank base rate.
These rates apply both in Kenya and the United States.

2. The bank base rates in Kenya and the US are 15% and 10% per annum respectively.

3. The exchange rates in the forex market between the Kenya Shilling (Kshy and the United States Dollar

(USD) are as follows:

Ksh/1 US (%)

Spat exchange rate: 103-105

Onc month forward rate: 102-103

3-months forward ratc: 101-102
Required:
Calculate the amount to be received by Kadzenga Limited using:
() Forward contract hedge. (2 marks)
(ii) Money market hedge. (6 marks)
(i) Using the resulis obtained in ta) (i) and (a) (i) above. advise the management of Kadzenga Limited on the

best hedging strategy. (2 marks)

(b) Ziam Lmmited. an unlevered fiem has in issue 10 million ordinary shares that are currently selling at the securitics

exchange for Sh.20 cach.

Additional information:
The firm’s most recent earnings per share (EPS) is Shi4.0 and adopts a 100% dividend payout.

l.

2 It is expeeted that the firm’s future dividends ipjeach year will remain constant in perpetuity.

3. The firm is considering to issue 12% new debentures 1o raise Sh.50 milfion in order 1o finance an cxpansion
programme. This will effectively changehe staius of the firm from unfevered to a levered firm,

4. The [itm pays cerporation lax at the rate'of 30%.

Required:

Using Modigliani and Miller’s pl'oposilic;ns, determine:

(0 The cost of equity before and after issue of the long-term debt. (3 marks)
(i) The weighted average cost of capital (WACC) before and after issue of the debt. {3 marks)
{ifi} The current market value of the firm before and after issue of the debt. {2 marks)
{iv) Advise the management of Ziani Limited on whether to change its capital structure. (2 marks)

(Total: 20 marks)

QUESTION FIVE

{a) Jeza Tours and Travel ks a private timited company in the tourism indusiey.  in order 10 improve customer service
and provide the management with timely and quality information, the company is contemplating (o purchase
8 micro-computers at a cost of Sh, 190,000 cach.

Installation cost for all the computers will amount 10 Sh.80,000. It is estimated that once installed. the computers
will increase the company’s carnings before deprectation and tax from Sh.12.000.000 to Sh.12,500,000 annually.

The computers are expected to last for 10 years after which they will be obsolete with no resale value.
The Operations Manager proposes that the computers will be usefut for 15 years with no resale value.
The Marketing Manager, on the other hand argues that the company necds the computers for only 5 yvears, after

which they can be disposed of at Sh. 50.000 each.
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The probability distribution of the useful life of the computers is given as follows:

Probability Useful life of computers (years)
0.20 5
0.50 10
0.30 15

The company is in the 30% 1ax bracket.

The company’s cost of capital is 24% and uses the straight-line method of depreciation.

Required:
(i The expected net present value of the project. : (4 marks)
{it) The standard deviatten of the expected net present value. (3 marks)
{uii) (1" the net present value (NPV) of the project is iess than Sh.200,000, the firm will be exposed 10 a financial
distress.
Determine the probability that the firm will avoid financial distress. {Assume normal distribution).
(3 marks)
(b) Excellent Lid. is considering acquiring Best Litd. a firm in the same industry in order to consolidate its market share.

Best Lid. has been tess profitable. so it has paid an average of only 20% in taxes during the last several vears. In
addition, it has used listle debt having a debt ratio of 25%. If the acquisition would be implemented, Excellent Ltd.
could operate Best Lid. as a separate. wholly owned subsidiary. This will increase Excellent Ltd.’s gearing ratio to
40%.

The following is a forecasted (inancial data for Best Ltd. over the next five years:

Yeur 1 2 3 4 5

Sh. “million™ Sh, #million” Sh. *million”  Sh, “million”  Sh. “million™
Net sales 50 & 60 75 70 65
Operating costs b 10 15 15 12
Sclling and admintstration costs 10 10 8 9 I
Acceptable investment project costs 0.5, 0.70 .60 .20 0.20

Additional information: N
The risk-Tree rate of returnys 8% and debt is considered 1o be risk-free.

1.

2. Expected return of the market portfolio is 13%.

3. The firm’s levered equity beta after acquisition is cstimated at 0.80.

4. After 5 years. the net cash flows of Best Ltd. shal) increase at a constant rate of 6% per annum in perpetuity.
5. Corporation tax rate is 30%.

6. The firm’s gross profit margin is 40%.

7. Best Lud. incurs fixed financing cost of Sh.2 million per annum.

8. The firm’s equity shares and bonds are currently trading at par.

Required:

Determine the maximum price payable 1o acquire Best Lid. using the discounted free cash flow basis. (10 marks)

(Total: 20 marks)
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CPA PART 1 SECTION 5
ADVANCED FINANCIAL MANAGEMENT
THURSDAY: 29 November 2018. Time Allowed: 3 hours,
Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

(a) In the context of corporate restructuring and reorganisation, differentiate between the following terms:
() “Leveraged buy-out” and “management buy-out” (2 marks)
(ii) “Divestiture™ and “spin-otf" {2 marks)
(iii) “Unbundling™ and “sell-off”. {2 marks)
{b} Mavueni Limited is considering undertaking a financial reconstruction during which it would repurchase its

outstanding ordinary shares using debt. This will raise its debt to equity ratio to 1.20. The following information
was available for the company:

Existing debt 10 equity ratio is 0.80.

[
2, The asset beta {ungeared beta of equity) is 0.30,
3. The risk-free rate of return is 8%,
4. The return of market portfolio is 14%.
5. The company adopts 50% payout ratio as its dividefid policy.
6. The company expects to generate earnings per share (EPS) of Sh.6.
7. Debt finance is considered to be risk-free.
8. The corporate tax rate is 30%.
Required:
Evaluate the impact of financial reconstrugtion on Mavueni Ltd.’s weighted average cost of capital {WACC).
{8 marks)
{c) The following data relate to the probability distributions and returns of securities A and B:
Probability (P;} Security returns (%)
Security A Security B
0.10 -5 10
0.25 10 15
0.40 15 10
0.25 20 0
Required:
The proportion of each security to be invested in the portfolio in order to attain a zero portfolio risk. (6 marks)
(Total: 20 marks)
QUESTION TWO
(a) Discuss three practical challenges that could be encountered when making capital investment decisions. (6 marks)
(b) Galanema Ltd. is considering to introduce new cheap plastic rulers into the market. This will involve investing in

a new plant at a cost of Sh.280 million.

The plant is expected to have a useful life of § years at the end of which salvage value will be nil. The firm’s
policy is to depreciate all of its fixed assets on a straight line basis.
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Due to market uncertainties, the unit selling price, unit variable cost and annual sales volume of the new plastic
rulers have been estimated stochastically as follows:

Unit selling price Unit variable cost Annual sales volume
Value  Probability Value  Probability Value Probability

(Sh.) (Sh.) (Sh.“million”)

35 0.30 13 0.20 4 0.10

30 0.40 10 0.50 7 0.60

50 0.30 25 0.30 9 0.30

Additional information:
i The firm expects o incur fixed operating costs excluding depreciation of Sh.36 million in each year.

2. The company’s cost of capital is 17%.

3. The corporate tax rate is 30%,

Required:

(i) The expected net present vatue (NPV) of the new product. {6 marks)
{ii) Simulate the net present values (NPV) using the following random numbers:

(802560 638351 057530 150353 603785 553525 245239 369948 160252
857015) and compute the expected net present value of the project. (8 marks)
{Total: 20 marks)

QUESTION THREE

(a) The following are summarised financial statements of Dzikunze Limited as at 31 December 2015 to 31 December
2017:
Income statement for the year ended 31 December:
2015 2016 2017
Sh.«000” Sh.“000” Sh.«0002

Turnover 90,000 100,000 120,000
Operating profit 15,000 20,000 25,000
Interest (2,000} (4,000} {5.000)
Profit before tax 13,000 16,000 20,000
Taxation (30%) (3.900) {4.800) (6,000)
Profit after tax 9,100 11,200 o) 14,000
Proposed dividends 2,100 {2,500% (3,000}
Retained profit _1.00g _8.300 11,000
Statement of financial position as at 31 December 2017;

S$h.“000” o
Non-current assets 60,000
Current assets 40.000

100,000
Financed by:
Ordinary share capital (Sh.20 par value) 30,000
Reserves 20,900
10% long term debentures (Sh. 100 par value) 30,000
Short-term debts 20.000

100,000

Additional information:

1, Stock market analysts expect post-tax earnings and dividends to grow at the rate of 25% per annum for
the next three years. Thereafter, the annual growth rate will revert to the company’s growth rate and
remain constant in each year to perpetuity.

2. Dzikunze Ltd.’s overall beta is 0.80 and the beta of equity is 0.75.

3. The risk-free rate of return is 12%.

4, The market rate of return is 28%.

5. The current market price of ordinary share is Sh.67,70 cum-dividend.

6. The debenture price is Sh.89.50 ex-interest.

7. The corporation tax rate is 30%.

Required:

(i) Evaluate whether Dzikunze Ltd.’s share is currently overvalued or undervalued by the market forces.

(8 marks)

(ii) Advise a prospective investor whether to buy the ordinary shares of Dzikunze Limited. {2 marks)
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(b) Chigiri Investment Limited is a company based in Kenya. The company exported goods on credit to a firm in the
United States of America (USA). The company expects to receive US$ 800,000 in one year’s time.

The current spot exchange rate is LUS3 = KES.60.

However, Chigiri Investment Limited created a probability distribution for the forward spot rate in one year as

follows:

Prebability Forward spot rate
KES/1 US$

0.20 61

0.50 63

0.30 67

Additional information:
1. One year put options on the USS are available with an exercise price of KES.63 and a premium of KES.

4 per USS.
2. One year call options are available on the US$ with an exercise price of KES.60 and a premium of KES
3 per USS.
3. The future spof rate is estimated in a year’s time to be KES. 62 per [USS.
4. The following are the money market annual rates:
Kenya USA
Annual rates (%) Annual rates (%)
Borrowing 18 12
Deposit 9 6
Required:
(i) Determine whether a forward market hedge, money market hedge or currency option hedge would be the
most appropriate hedging strategy for the company. (9 marks)
(i) Advise a prospective investor, the most appropriate hedging strategy if no hedging takes place. (1 mark)
N {Total: 20 marks)
QUESTION FOUR ‘
(a) A financial analyst is interested in using the Black-Sgholes Model (BSM) to value call options on the stock.

The following information is available:
The price of the stock is Sh.335.

k.

2. The strike price is $h.30.

3. The option matures in 9 months,

4. The volatility of returns of the stock is 0.30.

5. The risk-free rate is [0%.

Required:

The value of a call option using the Black-Scholes Model. (4 marks)
{b) The following information relate to two securities, namely A and B and the market portfolio for the year 2018:

Probability Forecasted rate of returns (%)

Sccurity A Sccurity B Market portfolio

0.20 15 12 16

0.50 10 (5 i2

0.30 8 10 7

The treasury bills yield rate is expected to be 8%.

Required:

(i) The Beta coefficient of securities A and B. (4 marks)

(ki) Using capital asset pricing model (CAPM), determine the minimum required rate of returns for securities
A and B. (2 marks)
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(¢) Chilulu Industries Limited is considering acquisition of Roka Corporation Ltd. in a share for share exchange. The
financial data for the two companies are given below:

Chilulu Led, Roka Litd.
(Sh.) (Sh.)
Sales {millions) 500 100
Net earnings {millions) 30 2
Ordinary shares outstanding (millions) 6 2
Ordinary share market price, per share (MPS) 50 40
Dividend per share (DPS) 2 1.50

Additional information:
L. Chilulu Limited is not willing to incur an initial dilution in its earnings per share (EPS).

2. Chilulu Limited will have to offer a minimum of 25% of Roka Ltd.’s current share market price.

Required:

(i} The relevant offer price range. (4 marks)

(ii} It Roka Ltd.'s shareholders accepi an offer by Chilulu Ltd. of Sh.40 per share in a share for share
exchange. Determine the post-merger earnings per share (EPS). (4 marks)

(i) Using the results obtained in (¢} {ii) above and assuming that Chilulu Ltd.’s price-earning (P/E) ratio will
remain unchanged after the merger, determine the post acquisition marker price of a share of Chilulu
Limited. {2 marks)

(Total: 20 marks)

QUESTION FIVE
(a) Analyse three assumptions of the income approach of valuing real estates business in your country. (6 marks)

(b) A large manufacturing firm based in Kenya is tendering for an order in South Africa. The tender conditions state
that payment will be made in South African Rands (ZAR) in 24%nionths’ time from now. The company is unsure
of what price to tender. The company’s marginal cost of production at the time of tendering is estimated to be
Kenya shillings (KES}) 2,000,000 and a 20% mark-up is applicable for the company.

Exchange rates:
KES/l ZAR \

Spot rate: 8.025 - 8,125

Additional information:
1. No forward rate exists for 28months’ time.

2. Market information between Kenya and South Africa:
South Africa Kenya

Annual inflation rates 6% §%

Annual interest rates available to the manufacturing firm:

Borrowing rate 2% 8%

Investntent rate 8% 6%
Required:
Using the purchasing power parity model, recommend the tender price to be used. (7 marks)

(c) Embakasi Investment Lid. contemplates to determine its optimal capital structure which currently consists of only

debt and common equily,
The company does not use preference shares in its capital structure and does not plan to do so in the near future. —

[n order to estimate how much its debt would cost at different debt levels, the company’s financial controller has
consulted with investment banks and the following information was obtained:

Debt to equity ratio Bond rating Before tax cost of debt (%)
0.00 A 0
0.25 BBB 85
0.60 BB 10
.70 C 14
2.50 D 16
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Additional information:

I. The company uses the capital asset pricing model (CAPM) to estimate the cost of capital.

2. The risk-free rate of return is 5%.

3. The market risk premium is §%.

4, The corporate tax rate is 30%.

5. The company uses the Hamada model to determine its levered equity Beta.

6. The asset Beta (unlevered equity Beta) is 1.20.

Required:

(i) The optimal capital structure of Embakasi Investment Ltd. (6 marks)
{ii) The optimal weighted average cost of capital (WACC) of Embakasi Investment Ltd. (1 mark)

(Total: 20 marks)
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* The factor is 2ero (o four decimal places
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b 1% 2% % 4% % &% Th Y% % 10% 12% 14% 15% 168% 8% 20% 24% 28% 3%

1 0.3%01 09604 09709 09615 0.9524 08434 09M6 09259 0974 G0N 08929 0E77Z 06696 08521 0.6475 08333 02065 07313 0.7576
2 1.9704 13446 13135 19961 18534 183X 18080 17832 17591 17358 16901 18467 16257 1.6057 1.5656 15278 14568 1.3916 1.3315
3 28410 28633 28286 27751 27232 26730 26243 25771 2I5MI 24869 24008 23296 22832 2.2459 21743 21065 1.9813  1.0664 1.7663
4 5020 ABOY? 3 TIT1 26299 35460 34651 338TT 33121 1397 11698 30373 28137 26550 2.7982 2.6901 2.5897 24043 22410 20957
3 4853 47135 45797 44518 4.32_95 42124 41007 3.9927 18837 37308 36048 34331 33522 12743 31272 2.9N06  2.T454 25320 23452
6 57933 36014 34172 5242 30757 49172 4T6B5 46229 4.4853 43553 41114 30897 3TBAS 36847 34976 33255 025 2.7584 25342
T 67282 54720 62303 6.0021 57854 55824 53893 52064 50130 48684 45638 42803 44604 4.0386 IB115 36046 32473 29370 28775
8 78517 73255 TOM9T 67327 B4632 62088 55713 57466 55348 503349 49676 463089 44873 40436 40776 3BIT? 34292 I0TS8 2 7HED
3 8.5560 836212 77661 T4332 TH078 6807 65152 62469 49952 57590 53202 49464 4TVIE 46065 43030 4030 35655 31847 28561

10 94713 89826 85302 81109 T7AT 73601 TO236 MO 6AIVT 61446 56502 5761 50183 48332 S4343 41925 35819 3.7689 2.9304

1 103676 9.7968 92526 B.7805 BJI0Sd 78063 74987 71390 £.0052 54951 55377 54527 52337 50286 426560 4.327%  B.7TST 33354 23 176
12 112551 105753 9.9540 93651 B&6I3  83AM  7.0427 75361 71607 68137 61344 56803 54206 54971 47932 44397 31.B514  3.3868 30103
13 124337 113484 10,6350 9.9836 93336 B8.8527 B.ISTT 79038 74069 71034 64235 S5.B424 55031 53423 49095 45327 35124 24277 30404
14 12.0037 121062 112961 10.5831 9.8986 92950 B.7453 B8.2442 77062 73667 66202 60021 57245 54675 50081 46106 2.9616  3.4587 o609
15 128651 12,8493 11,9379 114384 103797 S.7122 51079 B.5595 0.0607 76051 S£8109 69422 58474 55755 50946 45755 40013 34834 307T6d

16 B4T179 135777 123611 116523 10.8378 104059 94468 8514 BI126 1237 69740 52650 59542 S6685 51634 47296 40331 15076 l.0882
17 15,5623 14,2918 131661 12,1657 112741 104773 97632 914216 85436 BO0216 71196 EIT28 6.0472 57487 52233 47746  4.050 A51?77 30971
1a 183963 149920 13.7535 126592 116836 108276 10.0521 33719 67556 92014 T.2497 €4674 61280 58176 52732 48122 40793 55794 11929
19 17.2260 15.6785 143230 131339 520852 111581 103356 96036 B.9501 $.2643 13658 £.5504 61982 SO775 S.ME? 46435 40967 35186 3 1093
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Standard Normal Cumulative Probability Table

/
/

Zumulative prokabilities for POSITIVE z-values are shown in the following table: et e
z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
0.0 0.5000 0.5040 0.5080 0.5120  0.5180 0.5189 0.5239 0.5279 0.5319 0.5359
0.1 0.5398 0.5438 0.5478 0.5517 0.5557  0.5596 0.5638 0.5675 0.5714 05753
0.2 £.5793 D.5832 0.5871 0.5910 0.5948  0.5987 0.6026 0.6064 0.6103 0.6741
93 { 08179 06217 0.6255 0.6293  0.6331 0.6388  0.6408 0.6443 0.6480 0.6517
0.4 0.6554 0.6591 0.6628 0.6664  0.6700 06736 06772 0.6808 0.6844 0.6879
0.5 £.6915 0.8950 0.6985 0.7018 0.7054  0.7088 0.7123 0.7157 0.7190 0.7224
0.6 ¢ 0.7257 0.7231 0.7324 0.7357 0.7389  0.7422 0.7454 0.7486 0.7517 0.7549
07 - 07580 0.7611 0.7642 07673  0.¥704  0.7734 0.7764 0.7794 0.7823  0.7852
0.8 | 07881 0.7910 0.7839 0.7967 07995  0.8023 0.8051 0.8078 0.8106  0.8133
0.9 ! 0.8159 0.8186 0.8212 0.8238 0.8284 0.8289 0.8315 0.8340 0.8365 0.8389
1.0 ! 0.8413 0.84338 0.8461 0.8485 0.8508  0.8531 0.8554 0.8577 0.8598 0.8621
11 | 0.8643 0.6665 0.8686 0.8708  0.8729  0.874%9  0.8770 0.8790 08810 0.8830
1.2 J 0.8849 0.8869 0.8888 0.8907  0.8925 0.8944 0.8962 0.8980 0.8997 0.9015
1.3 0.9032 0.9049 0.9066 0.9082 0.8099  0.8115 0.9131 0.9147 0.9182 0.8177
1.4 ’ 0.9192 0.9207 0.8222 0.9236  0.9251 0.9265 0.8278 0.9292 0.9306 0.9318
1.5 | 09332 0.9345 0.9357 08370 09382 0.9394 0.9406 0.8418 09429 09441
1.6 E 1.£452 0.9483 0.9474 0.9484 0.9495 . %0.8505 0.9515 0.8525 0.9535 0.9545
1.7 0.9554 0.9564 09573 0.9582  0.9591 0.9599 0.0608 0.9616 0.9625 0.9633
1.8 | 0.9647 0.9649 0.9656  0.9664  0.9671 0.9678 0.9686 0.9693 0.9699 0.97086
1.9 ‘ 0.9713 0.9719 0.9728 0.9732 09738 0.9744 0.9750 0.9756 0.9761 0.9767
2.0 | 0.9772 0.9778 0.9783 0.978315°% 0.9793  0.9798 0.9803 0.9808 0.9812 0.9817
24} 09821 0.9826 0.8830 0.9834  0.9838  0.9842 0.9846 0.9850 0.9854 0.9857
22 | 0.9861 0.9864 0.9868 0.9871 0.9875  0.9878 0.9881 0.9884 0.9887 0.9890
23 | 09893 0.9898 0.9898 0.8901 0.9804 0.9906 0.8909 0.9911 09913  0.9916
2.4 | 49918 0.9920 0.9922 0.9925 0.9927  0.9929 0.9931 0.8932 0.9934 0.9936
2.5 £.9938 0.8940 0.9941 0.9942 09945  0.9946 0.9948 0.9949 0.9951 0.9952
28 | 09953 0.9955 0.9956 0.9957  (.9959 0.9980  0.9961 0.9952 0.9963 C. 2964
2.7 1 0.9965 0.9986 0.99867 0.9958 0.9969 0.9970 0.9971 0.8972 0.9973 09974
2.8 0.9974 0.9975 0.9976 0.9977 0.8977  0.9978 0.9979 0.9979 0.9980 0.8881
2.9 0.9981 0.9982 0.9982 0.9983 00984 0.9984 0.9985 0.9985 0.9986 0.2086
3.0 0.9987 0.9987 0.9987 0.9988 0.9988  0.9289 0.9989 0.8988 0.999¢  0.8990

3.1 0.9820 0.99¢1 0.9981 0.9991 0.9992  0.9992 0.9992 0.9992 0.9993 0.9993 -

3.2 0.99893 0.9993 0.9994 0.9954 0.9994 0.9994 0.9984 0.9995 0.9985 0.9995

33 1 09995 0.9985 0.9995  0.9%96  0.9996 0.9996  0.9996 0.2996 0.89986 0.9997 —
34 1 09997 0.9997 0.9997 0.9997 0.9997 0.9997  0.9997 0.9987  0.9997 09998

Suggested answers available: www.someakenya.com/cpa-revision-kits

eI




kasneb

CPA PART UISECTION 5

ADVANCED FINANCIAL MANAGEMENT
THURSDAY: 24 May 2018, Time AHowed: 3 hours.

Answer ALL questions. Marks allecated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

{a) The objectives of a corporate governance system are to eliminate or mitigate conflicts of interest among stakehoiders,
particuiarty between managers and shareholders, and 1o ensure that the assets of the company are used efficiently and
productively in the best interest of the investors and other stakeholders.

Required:
In the context of the above statement, discuss four core attributes of an effective corporate governance system.
{4 marks)
(b} In relation to invesiment appraisal. evaluate four limitations of sensitivity analysis. (4 marks)
() Tabby Ltd. has a potential investment opportunity for which the initialcash outlay and future cash flows are uncertain,
The analysis carried out provided the following probability estimatgs;
Probability estimates
Cash outlay Annual cash inflows
Probability Amount Probability SAmount
Sh. 000~ Sh.=000"
0.40 250,000 020 45,000
$.25 280,000 <
0.40 50,000
0.25 300,000
.10 305,000 0.40 60,000
Additional information:
i The cost of capital is 10%.
2. Life of the project is expected to be 10 years.
3. The salvage value is zero,
Required:
(i) Construct a decision tree for the investment to show pay offs, probabilities and net present value (NPV) for
each aliernative, (6 marks}
(i) The expected NPV of the project. (3 marks)
(iii) [f the NPV of the project is less than Sh.5 million, Tabby Ltd. would be exposed to a hostile takeover.
Compute the probability that Tabby Ltd. will avoid a hostile takeover,
(Assume a normal distribution and that the variance of the NPV is Sh.1,861.47 million). (3 marks)

{Tetal: 20 marks}
QUESTION TWO

(a) The capital asset pricing model (CAPM} is subject to theoretical and practical limitations. Theoretical limitations are
inherent in the structure of the model, whereas practical limitations arise in implementing the model.

Required:

Summarise two practical limitations of CAPM. (2 marks)
CAS3 Page 1
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(b}

{c)

A portfolio manager creates the following portfolio;

Security Expected annual return (%) . Expectéd standard deviation (%)
{ 16 - B 20
2 12 20
Required:
(i) The proportion invested in Security 1, if the portfolio of the two securities has an expected return of 15%.
: {1 mark)
(ii) The expected standard deviation of an equal-weighted portfolio, if the correlation of reiums between the two
securities is -0.15. (2 marks)

(iiiy  The expected standard deviation of an equal-weighted portfolio, if the returns of the two securities are
uncorrelated. _ (2 marks)

Kent [nvestment Fund (KIF) in which you plan to invest has a total capital of Sh.500 million invested in the shares of
five companies as follows:

Company ' Amount Beta
invested in shares coefficient
Sh.“million”

Alpha Ltd. o : 140 0.8

Beta Ltd. 80 1.5

Chatter Ltd, 120 3.0

Dinner Ltd. 100 1.0

Eastern Lid. 60 2.5

Additional information:
l. The beta coefficient of KIF can be determined as a weighted average of the fund’s investment,

2. The current risk-free rate of return is 8%. _
3. The market returns have the following estimated probabilitydistribution for the next period:
Probability Market return (%)

0.1 7

0.2 9

0.4 11

0.2 13

0.1 15
Required:
(i) The estimated equation of the security market line (SML). . {3 marks)
(ii) The fund's required rate of return for the next period, (3 marks)

(iii} Suppose Anthony Muli, the Chief Investment Officer (CI10) of KIF receives a proposal to invest in a new
company. The investment needed to take a position in the new company’s shares is Sh.50 million.

The forecasted rate of return from this investment and the probability of their occurrence in different states of
nature, are given as follows:

State of Probability Forecasted rate
Nature - .of return (%)
A 0.1 : 10
B 0.2 15
C 04 20
D 0.2 10
E el 15
Using the cabifal asset pricing model (CAPM), advise Anthony Muli on whether to invest in the new
company's shares. {7 marks)
{Total: 20 marks)
CAS3 Page 2
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QUESTION THREE

(a) Describe the following pre-offer takeover defensive mechanisms:
(i Poison pills. (! mark)
(i) Golden parachutes, {1 mark)
(i1i} Fair price amendments. {1 mark)
(iv) Supermajority voting provisions. {1 mark)
v) Restricted voting rights. (1 mark}

(b) Explain five factors that Multinationa! Carporations (MNCs} should consider when making long-terny investment
decisions. {5 marks}

(c) Nangina Ltd, is considlering acquiring Bwiri Ltd. Nangina Ltd. is contemplating financing of the acquisition of

Bwiri Ltd, using any of the following options:

Option 1: An ordinary share for ordinary share exchange

Under the terms of acquisition, Nangina Ltd. will offer one of its ordinary shares for every two shares in Bwiri Ltd,

Option 2: Ordinary shares for debentures exchange

Nangina Lid. expects to offer 2 units of 10% debentures for every 100 ordinary shares in Bwiri Ltd. Each unit of
debenture has « par value of Sh.100 each.

The summarised financial information relating to the two companies for'the year ended 30 November 2017 was as

follows:
Nangina Ltd. Bwiri Ltd.

Profit after tax (Sh.) 120 million .30 million

Number of shares 20 million 6 million

Earnings per Share (EPS) (Sh.) o 5

Market price per share (Sh.) : 50 \ 25

Price earnings ratio _ 8.33 times’ 5 times

The corporate tax rate is 30%.

Required:

Determine the combined operating profit of the two firms and the post acquisition earnings per share (EPS) at the

point of indifference in the firm’s earnings under financing options (1) and (2) above. {10 marks)

(Total: 20 marks)

QUESTION FOUR
(a) In relation to derivatives markets and contracis;

(i) Highlight four characteristics that are common to both forward contracts and futures contracts. {4 marks)

(i) Differentiate between a “straddle” and a “strangle™. {2 marks}

(i) Outline three methods of terminating a swap contract, {3 marks)
(b) Lagdara Ltd., an unlevered firm, operates in the textile industry. The firm’s current capital structure is summarised s

follows:

Sh. “000™

Ordinary share capital (Sh.50 par value) 120,000

Share premium 40,000

Retained earnings 80,000

Sharcholders’ funds 240,000

The firm is considering borrowing 10% debt finance of Sh.40 million in order to finance an expansion programme,
making it a levered firm,

CAS3 Page 3
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Additional information:
i Annual earnings before interest and tax (EBIT) generated by the firm are Sh.60 million. This is expected to
remain constant cach year in perpetuity.

2. The firm’s ordinary shares are currently trading at a market price per share (MPS) of Sh.200 at the securitics
exchange.

3. The corporate tax rate applicable is 30%.

Required:

(i) Using the Modigliani-Miller {M-M) approach and the information provided above, analyse the financia
implications of the change in capital structure of Lagdara Lid, (9 marks)

(ii) lustifying your answer, advise the management of Lagdara Ltd. on whether to change its capital structure.

(2 marks)

(Total: 20 marks)

QUESTION FIVE

(a) Assess five limitations of applying the free cash flow (FCF) approach using the weighted average cost of capital
(WACC) as a discount rate when evaluating projects with different risks or debt capacity. {5 marks)
{b) The issue of taxation relating 1o international trade has become important as business transactions become more

complicated. Transfer pricing is one such area which has come under scrutiny by tax authorities all over the world.
Transfer pricing has been of great concern to the government as it has made the government lose huge tax revenues.

Required:
In relation to the above statement. summarise three objectives of transfer pricing other than reducing tax liability.
{3 marks}

©) Kikumi Lid. expects to receive 750,000 Euros from a credit customer’in the European Union in 6 months™ time.
The spot exchange rate is 2.349 Euros (EUR) per United States Dallar (USD) and the 6-month forward rate is 2.412
Euros per USD.

The following commercial interest rates are available to Kikumi Ltd.

Deposit rate per annum {%o) Borrowing rate per annum (%)
EUR 4.0 ¢ 8.0
UsSb 20 1 35

Kikumi Ltd. does not have any surplus cashto use in hedging the future Euro receipt.

Required:
Evaluate whether the money market hedge or a forward hedge would be preferred. (7 marks)
(d) Kisima Lid. expects free cash flows of $h.7.36 million this year and a future growth rate of 4% per annum. Currently,

the firm has $h.30 million in debt outstanding. This leverage will remain fixed during the year but at the end of each
year, Kisima Ltd. is expected to increase or decrease its debt to maintain a constant debt/equity ratio.

Kisima Ltd. pays 5% interest on its debt and has an unlevered cost of capital of 12%.
The corporate tax rate is 40%.
Required:

Compute the value of Kisima Ltd. : . (5 marks)
: {Total: 20 marks)

CAS53 Page 4
Outof 4

Suggested answers-available: www.someakenya.com/cpa-revision-kits




Present Value of 1 Received at the Iind of # Periods:
PVIF, = U140y = (1+r)"

Perigd 1% 2% % a% 5% &% I 8% 3% 10% 12% 1a% 15% 16% 18% 20% 24% 28% 2% 36%

1 894 9804 9709 9615 9524 S434 936 9953 SIT4 S0 @928 ATI? @SS Q621 B4TS 813 B0SS . TE11 7876 7iS)
2 3803 5612 9426 9246 90TD 8900 8734 BSTY 847 824 TIT?  TESS ASEL F432 7182 634 6504 BI04 5739 5407
3 G706 9471 9151 @890 638 639 B163 79318 7T22 Y513 7119 B¥50 6575 6407 G086 .SVOT 5245 AT6R 4B 3975
4 9610 9239 88965 8548 8227 ISR 7629 7350 7084 G830 8355 5921 ST19 5523 5158 4823 4230 375 3284 2973
5 9513 3037 BE26  B219 YB35 74TI TI30 6806 6499 609 L SET4 S194 4972 4TET 4371 4015 3441 2910 2495 2149
€ S420 8880 8375 T3 7462 7050 6663 6302 5953 5645 5066  4%S6 4323 4104 D704 334D 2785 2204 1930 15880
7 8327 6870E  BI31 7559 T107 6651 6227 S35 5470 5132 4523 3996 ITHY 3538 338 TS .224A 1TTE 432 4162
a 9IS 8533 TR TI0T EYER G274 5820 5403 SOHD 4665 4039 3508 4269 3050 2660 2326 1789 1388 1085 0854
a 9143 B3GR 7684 Y026 6446 5519 5439 50027 4604 4241 3606 3075 243 2630 XSS 4938 443 1084 0822 0528

13 9053 8203 7441 E736 6139 5584 5083 4832 4224 3055 3220 2697 2472 2267 A9 815 1984 0847 0623 de2

11 8963 8043 Y224 6496 5847 5268 JATS1 4283 3875 3505 2BTS 2366 2143 1954 1615 4346 0938 A862 0472 030
12 8874 TEET  T0M4 6246 5568 4970 4440 3971 3585 3196 2567 2076 1063 1685 1372 1122 0757 0517 Q35T 0250
13 BTB7 7730 6810 8006 5303 4688 4950 3GT7 3262 2897 2292 1621 AB25 1452 1163 0935 0610 0404 0271 0184
14 BT00 7579 G611 5TTS  .5051 4423 3878 405 2882 2633 2046 1597 {413 1252 0985 0TI 492 .aME 0205 0135
15 863 7430 6413 5553 4810 MIT3 3624 3152 2745 2384 1827 1401 1223 3073 0EIS 064% 0337 0247 0155 0059

16 8520 7284 6232 5339 4581 3936 3BT 2919 2MM9 76 4631 1229 1069 0930 0708 0541 0320 0192 0118 Qora
17 8444 7142 6050 5134 4363 3ITI4 3165 2703 231 4878 1456 1078 0938 0502 0800 0451 0258 0150 GOBS 0054
18 8360 7002 5674 4936 4155 3503 2853 2507 2120 1798 1300 0946 0809 0681 0508 036 0208 4116 006E 0035
19 8277 4884 5TC2 4746 3957 2305 2765 2T 1545 1635 1461 00829 Q703 0596 0431 0213 0168 0092 0051 002
20 B193 6730 8537 4564 3763 3118 2584 2945 T84 1486 1037 0728 0611 0514 0IES 0281 M35 G072 0039 001

5 J798 6095 4776 3731 2953 2330 .1BAZ 1460 1150 0923 .0S88  03TE 0303 0245 0160 Q105 0046 @021 0010 0005
0 F419 5521 41200 3083 234 AT4L 1344 0934 0TSS4 0573 03M 0M96  OASE A1 0070 O0M7 0016 0006 0002 .00M
40 4717 4529 3066 2083 1420 0972 0668 (MB0 0318 0221 0107 0053 0037 0026 0043 0007 DO0Z 0001

50 6080 375 2281 .4G7 0872 0543 0339 0211 0134 0085 0035 0014 0009 0006 0003 oo

60 S804 23042 1897 0951 0535 0303 M73 0093 0057 0033 0011 DOGA. NOOG?  OOGH .

* Tha facter is zero to four decimal places

Present Value of an Annuity of | PesPeriod for n Periods:
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Sy 1% 2% % A% 5% 6% % B% o% 10% 12% 14% 15% 16% 18% 0% 24% 28% 3%

09931 0.5804 Q9703 0.9615 09524 0.3434 (.96 29259 074 0S091 0.6329 C0B7?? G.0696 0.8521 08473 0.8322 08065 07853 07576
19704 1.9416 19135 1.5861 18554 1.83M 1.8080 17833 17591 17355 16801  1.8467 1.6257 16052 1.56856 15278 14566 1.3915 1.3315
3410 28833 28286 2.7YSY 27232 26730 26243 25771 25313 24869 24018 23246 22832 2.34% 21 743 21065 19883 1.8684 1.7c62
35020 38077 AT 3.6299 35460 4651 33872 33U 32997 1689 30373 29137 28550 27982 26901 25887 2.4043 22410 2:0957
4.8534 47135 45797 44518 43235 52124 41002 2.9327 18897 27900 36040 3.43M 33522 32743 31272 29906 27454 25320 23452

Lo S

S.7855 56044 S.4172 532421 50757 49173 4.7665 46229 44853 43553 41114 38887 3.7B45 36547 34976 32255 30208 27594 25342
6.7282 654720 62303 6.0021 57884 5.5824 53893 52064 50330 49684 435638 4.2603 4.1504 4.0386 38115 38046 32423 29370 25775
TA517  T.A255 TOMST 57327 64632 £.209d 59713 57466 556 53M9 49676 46389 4.4973 43498 40776 38372 3422 30758 27960
BS660 81622 T.7861 T.4353 TAOVS 68017 &£.5152 6.2469 38332 5.7590 5.3282 4.3464 47746 4.6065 43030 40MO0 25655 31842 Zgso4
10 94713 B.9026 85202 411069 T.INT TN 7023 ET101 64177 63446 56502 52161 50188 48337 445341 41925 36813 32685  2.9304

Wom o~

11 10,3676 9.7868 92526 B.7605 B.I084 7,886 7.4507 T1.1390 6.8052 £.4931 59317 54527 52337 50286 46560 43271 A7FST 23351 2977%
12 102551 105753 9.9540 93851 08633 53936 71.5427 75361 TI60T 6.8137 61944 56603 54208 54871 A.TI37 44392 28514 23868 10133
13 121337 91,2484 10.6250 9,985 93936 8.9527 83577 75038 74865 71034 64235 58424 5.583¢ 53420 49095 45327 A.5124 342727 30404
14 120037 121082 11.2961 10.5631 96986 39,2950 57458 8.2442 7.7862 73667 66202 60021 57245 5.4675 $.008t 46106 3.5616 3.4587 10609
15 12.8651 128493 11.9379 11,1584 10,3797 9,722 91079 85595 00507 VEDS1 48109 81422 38474 S5755 5.0916 46755 40043 34834 10764 —

18 147878 135777 12,5611 11,6523 t0.8378 10.4059 94466 B8514 83426 78237 63740 §.285% 59542 56E85 51624 47296 40313 35076 1.0892
17 1535623 14,2919 124661 (24657 11.274% 104773 97632 99216 8.5436 BO16  TAISE 63729 60472 57487 $.222)  ATT46 40591 IS1IT 30974
18 163983 14,9920 13.7535 12.6593 11,6896 10,8276 10.0591 9371 87556 9.20H4 12437 4674 6.1280 50178 52737 48422 40793 235234 31039
19 172260 156785 14,3236 131339 $2.0853 10 1591 103356 98036 B.9501 B.38643 7.3658 6.5504 6.1 982 S8BITS 52162 48435 40967 35386 11050
0 180438 163514 14877 12,5903 12.4622 11.4699 10.5940 98101 91285 65136 74634 £62M 52593  5.99u8 53527 4BEE6 40303 35458 S (423

23 220232 19.5235 174131 156221 14,0839 12,7634 116536 10,6748 98226 90770 7.8431 59725 64841 BOIT1 54869 49476 41474 35840 )220
30 238077 22,3965 19.6004 17,2920 153725 13.7648 124090 $1.2578 10,2737 9.4269 B6.0552 7.0027 U680 BATTZ 55168 49763 49601 15603 3 1242
40 329347 27.3555 231143 19,7928 174591 15.0463 133317 119246 107574 97791 82438 71050 66418 £.2335 55482 45988 41559 35712 34250
S0 391961 214236 257230 214827 152589 157619 12,8007 122335 109617 9.9148 8.3045 TA32T  6.6605 65.2463 5.5541 4.9995 41666 2.5Tta 11250
B0 44.9550 34,7609 27.6756 22.622% 109793 16.1614 14.0392 123766 11.0480 9.9677 P340 7.1401 66651 62402 55553 49999 4 1667, 35714 1250
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CPA PART LIL SECTION 5
ADVANCED FINANCIAL MANAGEMENT
THURSDAY: 30 November 2017. Time Allowed: 3 hours.
Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE
(a) Discuss how corporate governance might impact the dividend policy of a firm. (6 marks)

(b) Viwanda Lid. is considering purchasing a machine at a cost of Sh.40 million. The company will incur an additional
$h.20 million to modify the machine for special use.

The machine is expected to have a useful life of 3 years and a scrap value of Sh.15 million after 3 years.
This investment will require an increase in net working capital of Sh.2.million at the beginning of its useful life.
The additional investment in working capital will return to normalat the end of the machine’s useful life.

The machine’s purchase will not affect revenues but it is.eXpected to save the company Sh.25 million each year in
before tax operating costs, mainly labour.

The corporation tax rate is 30% and the company’s’cost of capital is 10%.
[ pany

Required:
(i} Advise Viwanda Ltd. on whether 1o:buy the machine. (6 marks)
(ii) Suppose the firm’s management is unsure about the savings in before tax operating costs. Carry out a
sensitivity analysis on this variable assuming that the variable shall vary adversely by 10%. {8 marks)
{Total: 20 marks)

QUESTION TWO

(a) Discuss three reasons why economic value added (EVA) is gaining prominence as an alternative measure of 2
company’s financial performance. (6 marks}

(b) With reference to financial management in the global context, distinguish between the following terms:

(i} A “Eurcbond” and a “Euro note”. (2 marks}
{ii) An option being “in the money” and “out of the money™. (2 marks)
{c) Wekeza Investments has initiated an investment fund called “Faidika® the funds of which will be invested only in

stocks and bonds of infrastructure and construction companies.

60% of the fund value is invested in companies engaged in commercial construction services and the other 40% in
companies engaged in developing residential properties. The average beta of returns from development of residential
properties is 1.9 and that of commercial construction services is 1.4.

The benchmark market return is 11.2% while Treasury bonds carry an interest rate of 4.25%.
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The following information on the net asset values (NAV) per share is provided:

Month January February March April May June
Closing NAV 18.60 17.80 18.20 18.00 17.80 16.80
|\Sh‘\ i

!
Dividend - 0.75 - - - 1.20
payout “Sh”
Month July August September October November December
Closing NAV 17.20 17.80 ! 17.90 18.10 18.80 18.50
“Sh” i
Dividend . . ! . - . -
payout “Sh™ |
The opening NAYV for January is Sh.17.75.
Required:
Calculate Jensen’s alpha relating to “Faidika™ and use it to evatuate the fund’s performance. (10 marks)

{Total; 20 marks)

QUESTION THREE

(a) Discuss three reasons why acquisitions often fail to enhance shareholder value. (6 marks)

(b Mkuki Ltd. is considering making a bid for 100% of the shares of Ngao Ltd., a company in a completely different
industry. The bid of Sh.200 million, which is expected tobe accepted. will be financed entirely by new debt with a
post-tax cost of debt of 7%.

5. Pre-acquisition information:
Mkuki Ltd.
The company has debt finance totalling Sh.60 million at a pre-tax rate of 10%.

The company has 50 million equity shares each with a current market value of Sh.22. The equity beta is 1.37.

The posi-tax operating cash flows of Mkuki Ltd. are as follows:

Year 1 2 3 4 3
Sh“million” 60.3 63.9 67.8 71.8 76.1
Ngao Ltd,
The company has an equity beta of 2.5 and 65 million equity shares in issue with a total current market value
of Sh.156 million. .
The company’s debt, which will also be taken over by Mkuki Lid,, stands at Sh.12.5 million at a posi-tax rate
of 7%.
2. Post-acquisition information:

Land with a value of Sh. 14 miilion will be sold.
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The post-tax operating cash flows of Ngao Ltd's current business will be:

Year I 2 3 4 5
Sh*million™ 15.2 15.8 16.4 17.1 17.8

3. If the acquisition goes ahead, Mkuki Ltd. will experience an improvement in its credit rating and all existing

debis will be charged at a post-tax rate of 7%.

4, Cash flows after year 5 will grow at the rate of 1.5% per annum.

5. The risk-free rate is 5.2% and the market risk premium is 3%.

6. The corporate tax rate is 30%.

Required:

Advise whether the acquisition should proceed. (14 marks)

(Total: 20 marks)

QUESTION FOUR

(a)

(b)

Suggested answers available: www.someakenya.com/cpa-revision-kits

Two CPA graduates have formed a company to write, market and distribute text books and revision manuals,
The company’s text books and revision manuals have already been piloted and the market prospects are good. All that
is lacking is adequate financing to continue the project. A small group of private investors is interested in financing the
new company. Two financing proposals are being evaluated.

i, Financing option one:

This is an all equity capital structure. Three million shillings would be raised by selling ordinary shares at
Sh.40 per share.

2. Financing option two:
This will involve the use of financial leverage.

One million shillings would be raised by selling corporate bonds wilh an effective interest rate of 14 per cem
per annum, The remaining Sh. 2 million would beraised by selling ordinary shares at Sh.40 per share. The use
of financial leverage is considered to be a permanent part of the firm’s capital so no fixed maturity date is
needed for the analysis.

3. The corporation tax rate appropriate for this analysis is 30%.

Required:

() Find the operating profit (EBIT) indifference level associated with the two financing plans. {4 marks)
(i) Construct an EPS-EBIT graph for the two financing plans. (4 marks)

(iii)  Determine the range of operating profit (EBIT) within which each financing plan above would be

recommended.
(2 marks)
The following data relate to two companies; Alpha Ltd. and Beta Ltd. which belong to the same risk class.
Alpha Ltd. Beta Lid.
Number of ordinary shares outstanding 90,000.000 150,000,000
Market price per share Sh.18 Sh.10
6% debentures (market value) $h.60,000,000 -
Profit before interest and tax Sh. 18,000,000 $h.18,000,000
All profits after debenture interest are distributed as dividends.
Required:
(i) Using suitable calculations, demonstrate how under the Modigliani and Miller approach (without taxes), an
investor holding {0 per cent of Alpha Lid’s shares will be better off in switching his holding to Beta Lid,
(8 marks)

(ii) Explain when, according to Modigliani and Miller (without taxes), the process described in (b) (i) above would
come o an end. (2 marks)
(Total: 20 marks)
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QUESTION FIVE
(a) In refation to financial management in a global context, explain how the following theories could be used to forecast
exchange rates:

(i) Interest rate parity. (4 marks)
(i) Purchasing power parity. {4 marks)

b Jacques Ltd. is a company based in France where the Euro (€} is widely used. The company has recently imported raw
materials from the USA and has been inveiced for US Dollars ($) 240,000 payable in 3 months’ time.

In addition, the company has exported finished goods to the USA and Australia. The customer in the USA has been
invoiced for US Dollars ($) 69,000 payable in 3 months’ time and the Australian customer has been invoiced for
Australian dollars (ASD) 395,000 payable in 4 months’ time.

The current spot and forward exchange rates are given as follows:

US Doliars (3) / | Euro (€)

Spot rate 0.9830 —0,9850

3 months’ forward 0.9520 - 0.9525

Euro (€)/ 1 ASD

Spot rate 1.8890 — 1.8920

4 months’ forward 1.9510 — 1,9540

The current moncy market interest rates per anaum are given as follows:

Lending Borrowing

USA 10% 12%

Australia 14% 16%

France 11.5% 13%

Required: \

Show how the company can hedge its foreign exchange exposure using:

(i) Forward market cover. (6 marks)

(it}  Money market cover. (6 marks)

{Total: 20 marks)
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Present Value of 1 Received at the End of n Penods:
PVIF = 1/(1+r)" = {1-te)y”

Period 1% 2% 3 A% 5% &% % a% 9% 10% 12% 14%, 15% 6% 18% 20% 2a% 8% 3% 6%

1 9901 3804 9709 9615 9524 M3 536 9259 %174 9091 B2 ATT?  BEHE M6  .B4ATS  BIID 8065 TNI  T576 1S
2 9803 9612 9426 9246 .9GT0  B300 BT 6573 Ba1F 8264  TO9r:  Te85  TA61 T432  TI82 6544 6504 BI0M 579 MOT
3 9706 5423 M3 8890 8638 B206 .B163 798 ¥R TSI 7D 6750 £575 6407 6085  5YAT 5245 4768 aM@ 1975
4 SG10 9238 8805 9549 22T 79N TeZ9 TISO Y084 6830 .63SS 5921 . 5T8  .5523 5158 4823 4230 Q75 3294 2923
H 9515 (3057 8626 A9 .7A3S 74T T130 6006 6499 6209  5ET4 St34 4972 ATS1 4371 4019 MEE 2810 2495 48
] 4420  £8BG  A3FS  TI0Y T4 YOSD €663 6102 953 5645 5066 4556 4321 4404 3TG4 3AM9 2750 224 1830 1380
T 9327 8T06 81X 7399 TIOT 6651 6227 S5 SATO 532 4323 3996 3TS9 L3538 3138 2791 2218 M{TTE 1432 162
-] 9235 8533 .TBS4  TMT  £768  62T4 5620 540} 5019 4665 4039 3506 32e8  305¢ 2460 2326 1789 1398 1083 0452
] 9143  B368 .T664 7026 6446 .SM9 5439 5002 4604 4241 3606 IGTI 2843 2630 2255 1939 1443 1084 0622 0628
10 8053 8203 .Tdd1l  BTSE 6139 A3B4 5083 4632 4224 @55 3220 2697 2372 2267 S0 615 4164 0B4T 0623 (462

<1 6363 BO43 7224 G496 . 5BAT 5268 4751 4209 3875 3505 ZEYS 2366 2149 1954 1619  1ME 0933 0662 Q472 0MD
12 8874 7863 .TO14 6246 5568 49T0 4440 3971 3SSS At 2567 2076 1869  18BS 1372 1122 O7TIT 04T 0337 0250
13 8787 T30 6210 G006 5303 4688 4150 I6T? 2262 2997 2292 4921 1623 1432 1183 0935 0610 G404 021 014
14 BTan 579 6611 3TTS 5051 4423 38TA 3403 2992 2633 M6 1587 1213 1252 0585 OTT9 Q492 QM6 0205 0133
15 B613 . T430  &419 5553 4810 4473 3624 M52 2745 2394 1B27 140t 1223 1079 0B35S 0649 BA9T 0247 0155 0099

16 8328 7284 5232 5339 4581 3936 3367 2919 2519 2476 A6 4229 106% .09 Q709 0541 0320 0193 01w 0073
17 B444 7142 050 5134 4363 M4 365 2700 2311 878 1456 GTE 0829 0002 0600 0451 0258 0150 0089 G0OS4
18 8360 7002 674 4936 4185 3503 2959 2502 2120 1799 1300 0946 0808 069t 0508  QIFE 0208 0118 0069 GO39
19 B2TT  EBE4  STC3 4746 3957 3305 2765 IMT 1945 1635 1161 0823 0703 G596 043t 0313 0168 0092 003t 0029
20 B19S  B7M0 5537 4564 ITEH M8 Z5E4 2145 1784 1486 1037 OTZ8 0611 0514  036I 0261 0135 Q0F2 .0G3I Q02§

25 TT9R 6095  ATTE 3751 (2953 2330 4842 1460 1160 .092) 0508 03T8 0304 0245 0160 0305 0046 002 0090 0005
3 7419 5521 4120 3083 2314 t74f A4 0994 0754 GSY3 0334 M96 0131 01iE GOTC 0042 0016 0006 000 .00
40 BTI7 4529 3066 2083 1420 0972 0666 0460 OME 0221 0107 0053 0037 0026 0013 D007 0002 000 .
50 6080 3T13 2261 1407 0BT 0543 0339 013 013 0095 0035 00147\ 0009 L0006  .00O03 0001 . .

) 5504 3048 1897 0951 0535 0363 173 0099 0057 0033 001+ 00047 0007  .QOM .

= The factor is Zero to four decimal places

Present Value of an Annuity of 1 Rer*Period forn Peciods:

l <
I- <
- (1+ 1y
PVIF =2 = 3
o=l (k)
e
ramems 1% 2% 3% 4% 3% 6% 7% BY% % 1% 12% 4% 5% 16% 18% 20% 4% 28Y% 3%

09301 09804 09709 09613 09524 0.9434 0936 09259 09174 09091 08929 06772 008696 08621 0.5475 0.8333 08055 0.7913 49,7576
1.5704 19416 1.9135 1986t 1.8584 1.BIM 18080 1.7033 1.7591 17355 16901 1.6467 16257 16052 1.5656 15778 1.4568 13246 L3115
234010 28819 28286 2.7THC 27232 26730 26243 2571 25113 24869 24018 23216 2.2637 2.24%9 21743 2.4065 1.9813  1.B664 L1653
35020 3.8077 3.7171 36299 35460 14651 13077 33921 32397 1659 30373 25137 2.8550 27982 26901 7.5987 24043 22410 2.0957
4833 4713% 45797 44318 423295 42124 41002 39977 35697 37908 G048 34339 33522 32743 31272 29906 27454 25370 23452

L

6 57955 56014 S5.4172 5.2421 50757 49173 47665 46229 44855 43553 41114 30987 37645 6847 34976 3.325% 30205 2. T5a4 25342
7 67282 &.4720 62303 6.0021 357854 55824 53893 52064 50030 48684 45638 452003 40604 40386 IB115 6046 32473 29370 28775
] TEHT 70255 TM9T7 67327 64632 52008 59713 57466 55340 53349 49676 46309 44873 4.0436 40776 3PIFZ  3427i? 30758 2 7EEQ
9 8.3660 81622 T.7RE1 T4 7078 BB0I7 6.5152 62469 59952 5.759¢ 53202 49464 4TTIE 46065 43030 40210 I.3655 1847 28604
10 94713 83826 B.5302 S.1109 7TN7  TIE0f T.0236 STI01 S4UTT 61446 56502 52161 SO1B3 48337 44549 41925 36819 37689 2.9304
11 103676 97868 $.2526 B.T7603 BI0S4  7.BBEY T4987 TA290 50052 £4951 59377 54527 52337 50286 AG560 4.3271  3.ITST 2.2351 23776
12 112351 105753 99340 23831 82633 8.3833 T.3427 75361 7607 68137 £1%44 56603 54206 S5.99T1  4.79327 44392 38514 3086 301 13
13 121337 11,484 10,6330 99835 93936 98527 @577 70038 74069 71034 6.4235 58424 55831 53423 49085 45327 35104 34272 3.0404
14 13,0037 1219 062_ 11.2961 103621 98986 9.2950 BT455 82442 7.7062 13567 6£.6282 60021 57245 54675 SO0O) 46106 39616 34597 30603
15 13.8651 128433 11.9379 141184 10,3797 97122 91073 85555 9.0607 76061 69109 69427 58474 55755 50916 46735 4.0043 34834 30764

16 147179 $2.5777 12,5611 11.6523 108378 10.1059 94466 9.95t4 B2126 J.8237 69740 62650 59542 56685 51624 4.7296 4.0333 35026 loeaz
17 155623 142919 131861 121637 11.2741 104773 97632 01216 65436 BOME T.1196 63729 60472 S 7487 $.2223 47746 4.059 23.5177 30974
18 $6.2983 14.9920 13.7535 12,6393 11.8896 10.8276 100591 93710 B.7556 02014 72497 64674 61280 S8178 52702 468122 40798 25794 11039
19 17.2260 156765 14.3238 131239 12,0853 11,1581 103356 96036 B.E501 03643 13658 65504 61082 SO77TS 53162 48435 4097 3.5386 31990
20 TA0436 163514 14.8775 135901 174622 11.4699 10.5940 98101 914265 BS5136 74694 £.6231 6£.2$93 59208 §.3527 46696 41103 35458 3 1za

25 220737 19.5235 17.4301 155221 140839 127934 11.6536 106748 9.8226 9O0TT0 76431 £.8729 G461 E.0971  5.4669 49476 41474 35640 21220
30 258077 23965 19.6004 17.2920 153725 13,7648 124090 11,2570 10,2737 94269 BQ552 70027 65660 61772 55168 45769 4.1601 3.3633  d242
40 32.8347 27.3555 231948 197920 ATA590 150463 13337 11.9246 107574 7791 82438 7.1050 66418 62335 55482 49966 41653 35712 213250
S0 39961 14236 ZR.TI9E 114822 182559 157619 1380CT 122335 10.9617 99148 BI0A5  TA3IT 66609 6253 15541 49995 41666 15714 11230
60 429550 347609 27.6736 22.6205 18.9293 16,1614 140392 120766 110480 99672 E 3250 71401 £6651 B.2402 5 5553  4.9399 41667 35F14 11750
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THURSDAY: 25 May 2017,

KASNEB

CPA PART 111 SECTION 5

ADVANCED FINANCIAL MANAGEMENT

Time Atowed: 3 hours.

Answer ALL questions, Marks allocated 10 each question are shown at the end of the question. Show ALL vour workings,

QUESTION ONE

ia) Explain two ways in which increased investment in corporate social responsibifity (CSR) activities might enhance the
value of a firm. (4 marks)

tb) Kenzel Lid. has the following capital structure which it considers optimal under both the present and forecasted

conditions:

Source of capital

Yo

|
I"Long-term debx
i Equity capital

&

| Total

100 !

The management of Kenzel Lid. forecasts the after-tax earnings for the forthcoming vear at Sh.2.5 million. The
company has been paying 60 per cent of its earnings as dividend and this payment ratio is expected to continue Jnto
the foreseeable future. The company’s present loan commitment will allow it to incur additional leverage according to

the scheduie presented below:

Loan amount (Sh.)

Interest rate on incremental debt_,‘

900,000 and above

0 - 500,000 9%
1%

500,000 - 900,000 $
13%

The company’s corporate tax rate is 30%, The cuirent market price of the equity shares of the company is Sh.22. The
last dividend on equity shares was paid at Sh.2.20 per share and the expected growth rate is 5%. New equity shares
can be sold at a floatation cost of 10% of theissue price.

Kenzel Lid, has the following investment opportunities for the coming year:

Project Cash outlay Annual net Project life internal rate of
cash flow {years) return
Sh. Sh, Yo

A 675,000 155,401 8 ’

B 200,000 268,484 5 15

C 375,000 161.524 3 7

D 362,300 185,194 4 12

o 750,000 127,351 i0 I
Required:
(i) The amounts in shillings at which breaks in the marginal cost of capital (MCC) schedule occur. {3 marks)
(i1} The weighted marginal cost of capital (WMCC) in each of the intervals between the breaks in the MCC

schedule. {6 marks)
(i) The internal rate of return (IRR) for project A and project C. (4 marks)
(iv}) Using the investment opportunities schedule (108), advise on which project(s) should be accepted. (3 marks)

Suggested answers availlable: www.somea
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QUESTION TWO

(a) Analyse three factors that might be responsible for financial distress in a firm. (6 maurks)
{b) The following information relates to the performance of six portfolios over a seven-vear period:
Portfolio Average annual Standard deviation of the average Correlation with
returns (%) annual returns (%} market returns
F 18.6 27.0 0.8]
Q 14.8 180 0,65
R 5.1 §.0 0.98
S 220 21z 0.75
T -9.0 1.0 D43
U 26.5 (9.3 0.63
Market return 12.0 12.0
Risk-free rate .G
Required;
Rank the performance of the above portfolios usiny:
(i) Sharpe’s method. (4 marks)
{1} Treynor's method. {6 markss
(ch Compare the rankings using the two methods in (b} above and expiain twe reasons behind the differences. (4 marks)

{Total: 20 marks)

QUESTION THREE
(a) Examine four strategies that 2 company couid adopt to defend itseif against a hostile wakeover. (8 marks}

(b The following data relate 10 two companies namely; V Ltd. and ) Ltd”operating in the same line of business.

Financial data as at 30 April 2017:

V Ltd. J Lid.

Market value of debt (Sh. billion™) \ 6.60 11.60

Market value of equity {Sh."billion™) 19.80 13.40

Number of shares in issue (“million™) \ 63000 880.40

Share options outstanding (“million™} ¢ 5080 -

Exercise price per option (Sh. per share) A 22.00 -

Corporate tax rate 30% 30%

Equity beta .85 0.95

Default risk premium 1.6% 3.0%

Net operating profit after tax and net re-investment (Sh."million™) 900.00 410.00

Current earnings pet share (Sh. per share) L 19 0.44

Additional infermation:

1. The global equity risk premium is 4% and the most appropriate risk-free rate derived from government
securities is 3%,

2. The share options held by the employees were exercisable subject to the employees working for the company
for the next three vears.

3. The company has an annual employee aurition rate of 5% as employees leave and out of those remaining,
20% are expected not to have achieved the standard of performance required to exercise the options.

4, The options have a time value of Sh,7.31,

5. ] Ltd. operates a defined benefit pension scheme which, at its current actuarial valuation, shows a deficit of
$h.860 million.

6. V. Ltd. which has managed to sustain a 3% growth rate in earnings per annum, is considering a debt-financed

acquisition of J Ltd. In addition, V Ltd. believes that J Lid. could register a growth rate of 4% per annum
under its current management.

Required:
(i The weighted average cost of capital (WACC) of both J Ltd. and V Lid. {4 marks})
(ii} The current value of both J Ltd. and V Lid. {8 marks)
(Total: 20 marks)
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QUESTION FOUR
(a) Explain three functions of the African Development Bank, (6 marks)

(b) Biashara Ltd. is an impon-¢xport company based in Kenya. On 1 January 2017, the company exponed cotfee worth
LS $140.000 16 the United States (U'SY of Ametica on & tive-month credit.

Additional imformation:

1. The exchange rates in the forex markets were {are expected 10 be) as tollows;
KSh/1 USS
1 January 2017 1
31 May 2017 102
Ry The lending and borrawing rates in the two countries are as foilows:
Annual lending rate Annual borrowing rate
Kenya 18% 19%,
USA 14% 5%
kN The importer will settle the outstanding amount on 31 May 2017,
Required:
(i3 Using the interest rate parity relationship. compute the expected 3-month forward exchange rate as at 31 May
2007, (4 marks}
(iid Advise Biashara Ltd. on which is the better hedging strategy between a forward contract and a money market
hedge. {10 marks)

{(Total: 20 marks)

QUESTION FIVE

{(a) A Ltd. is considering acquiring B Lid. The selected financial data fer'the two companies are as follows:
A Ltd: B Ltd.
Annual sales (Sh. *million™) 600 120
Net income (Sh,“million™} o3s 3
Ordinary shares cutstanding ("miilions™} iLH 2
Earnings per share (EPS) - Sh. 3.8 1.5
Market price per share (MPS) - 3h. ¢ ; 10 15

Both companies are in the 30% 1ax brackets

Required:
(i) The maximum exchange ratio that A Ltd. shouid agree to if it expects no dilution in earnings per share.
{2 marks)
(ii) Total premium that the shareholders of B Ltd. would receive at the exchange ratio caiculated in {a) {i) above.
{2 marks)
{iii} A Ltd.’s post acquisition camings per share, if the two companies settle on a price of Sh.20 per share,
(2 marks)
{iv) A Ltd.’s post-acquisition earnings per share if every 50 ordinary shares of B Ltd. were exchanged for one 8%
debenture of a par value of Sh.1,000 each. (2 marks) ~
(b} Chuma Ltd, operates a machine which has the following maintenance costs and resale values over its four-vear life.
The purchase price of the machine is $h.25,000,000,
Year1 Year2 Yeard Year 4
Sh.=000" Sh.*000” Sh. 000" Sh.*000”
Maintenance ¢osts 7.500 11,000 12,500 15,000
Resale value {end of vear) 15,000 10,000 7,500 2,500
The company's cost of capital is 0%,
Required:
Advise the management of Chuma Ltd. on how frequently the machine should be replaced. (12 marks)

(Total: 20 marks)
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Present Value of 1 Received at the ind of » Periods:
PVIF, = /(14 = (1)

Period 1% 2% 3% 4% 5% 6% % B % 10% 12% 14% 15% 16% 18% 200 2dY% 28% A% I6%
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KASNEB

CPA PART 11 SECTION 5
ADVANCED FINANCIAL MANAGEMENT
THURSDAY: 24 November 2016. Time Allowed: 3 hours,
Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE
{a) Summarise three assumptions of the Grossman-Hart Model (1986). {6 marks)

(b) SKB Lid. is considering a proposal to manufacture a new drug named “Millenium™, The drug will be manufactured
using a machine which will cost Sh.13 million.

The cash flows and drug life relating to “Millenium™ have been estimated as stochastic exogenous variables with the
following distributions:

Annual after tax cash flow (Sh.*006™) Probability Drug life in years Probabilicy

£.000 0.02 3 0.05
1,500 0.03 4 0.10
2.000 0.15 5 0.30
2,500 0.15 6 0.25
3.000 0.30 7 015
3.500 0.20 8 0.10
4,000 0.15 9 .03

{0 0.02

The minimum required rate of return from this investment is 16%.

The company has approached you as a financial management-éxpert to perform an analysis of the above project.

Required: \ : ]
(i} Using the following random numbers, pertotin 10 simulation runs of the net present value (NPV) of this
project.
5397 6699 3081 .\ 1909 3167 8170 3875
4883 9033 5852
(12 marks)
(i) Determine the expected net present value (NPV) of the project. {2 marks)

(Total: 20 marks)

QUESTHON TWO

{a) Explain three challenges likely to be encountered in the application of the capital asset pricing model (CAPM).
(6 marks)
(b) Moses Mapesa is in the process of evaluating investments in two companies whose percentage returns in the last 10

years are as shown below:

Year 1 2 3 4 5 G 7 8 9 10

Company and pereentage retwm

IS Ltd. (%) i7 24 -7 6 18
SN Led. (Ya) 32 29 | -12 | 15 30 0 | 18 27 10
Required:
() Correlation coefficient of the companies’ returns. (6 marks)
(i) Porttolic risk assuming equal weighting. (2 marks)
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{c) Mary Chege has been investing in the shares of various companies quoted on the securities exchange. Currently, she
holds a portfolio of shares in four companies; W. X, Y and Z.

The tollowing information has been provided:

Company Number of Equity Market price Expected return
shares held beta per share (Sh.)} on equity

W 10,000 1.12 130 18%

X 15,000 0.89 160 23%

Y 15,000 0.70 90 1%

Z 10,000 .60 160 17%

The current market return is 14% per annum and the Treasury Bill's yield is 9% per annum,

Required:
(i) The risk of Mary Chege's portfolio relative to that of the market. {4 marks)
{ii) Determine whether Mary Chege should change the composition of her pontfolio. (2 marks)

{Total: 20 marks)

QUESTION THREE
(a) Explain three assumptions of the tracitional theories of capital structure, (6 marks)

(b} Majuu Lid. is just about to commence operations as an interational trading company, The firm will bave a book value
of assets of Sh.320 million and it expects to earn 6% return on these assets before interest and taxes. However,
because of certain tax arrangements with foreign governments, the company will not pay any taxes.

1t is known that the capitalisation rate for an all equity firm in this business is 12%. The company can borrow debt
finance at the rate of 7% per annum. The management is in the/process of deciding how to raise the required Sh. 10
million debt {inance. Assume that the Modigliani and Miller (ANM) assumptions apply.

Required: \

Using the MM model without taxes, determine:

(i} The current value of the unlevered firm. (2 marks)
(i} The current value of a levered tirm if it uses Sh. 10 million of 7% delt. (2 marks)

(iii) The weighted average cost of capital {(WACC) ol a levered tinm at a debt fevel of 7%, Sh.10 million.
(3 marks)

(<) Assuming that the company in (b) above now pays taxes at the rate of 30%, compute the following in & Modigliani
and Miller {MM) world:

(i) The current vabue of the firm if it uses no debt. {2 marks)
(i1} The current value of the fiem if it uses the debt level of 7%. Sh. 10 million. (2 marks)
(iil) The weighted average cost of capital (WACC) at 7% debt level of Sh.10 million. (3 marks)

(Total: 20 marks)

QUESTION FOUR

(a) In relatton to corporate restructuring and re-organisation, distinguish between the Tollowing terms:
(i) "Boot strapping™ and "management buyout™, {2 marks)
(i} “Sell oft™ and “spin oft™ (2 marks)
(b Kubwa Lad., a supermarket chain, is proposing to take-over Small Ltd., a smaller fiem in the same industry, in its bid.,

Kubwa Ltd. has offered four of its shares for every three shares of Small Lad,
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The following are the latest summarised accounts of the two companies:

Statements of financial position

Kubwa Ltd. Small Lud.
Non-current assets: Sh.*million” Sh.*miltion™ Sh."million™ Sh.**million™
Land 966 84.6
Other non-current assets __300 34
1,266 118.6
Current assets:
Inventory 656 102.8
Accounts receivable 24 12.6
Cash __88 10.6
_768 126.0
Carvent liabilities:
Trade payables 894 922
Other accruals __68 8
962 100.2
Net current assets (194) 258
Long-term liabilities:
14% loan stock 400 . -
Floating rate loans 228 33
(6238) (35)
Total net assets 44 (09,4
Sharcholders’ funds:
Ordinary share capital 150 40
Reserves 294 _69.4
Total sharcholders® funds 444 109.4
Income stat¢nyent
Kubwa Ltd. Small Ltd.
Sh.*million™ Sh.*million™
Turnover 2,260 \ 362
Earnings before interest and 1ax 230 28
Interest _(80): C))
Prolit belore 1ax 50 24
Taxation «[50) {8)
Earnings available to shareholders 100 i6
Dividends _{48) (10)
Retzined earnings 52 )
Additionaf information:
l. The par value of the shares of Kubwa Ltd. is Sh.0.50 while the par value of Small Lid's shares is Sh.1.00.
2. The cwirent share price of Kubwa Lid. is Sho4.64 while tha of Small Lid. is Sh.5.90. The current loan stock
price of Small Ltd. is Sh. 125,
3. Recent annual growth trends are as lollows:
Kubwa Ld. Small Ltd,
Dividends 7% 8%
Earnings per share e 10%
4. The following will wake place alter the acquisition:
° Surplus warehousing facilities will be sold for $h.13.6 million.
. Sh. 18 mitlion will be paid out for redundancy of employees.
° There will be savings of Sh.5.4 million from wages every year for at least five years.
5. Kubwa Ltd. has an estimated cost of equity of 14.5% and a weighted average cost of capital of 12%.
6. Small Ltd. has an estimated cost of equity of 13%.
Required:
(i) Evaluate whether the bid is likely 1o be viewed favourably by the shareholders of both Kubwa Ltd. and Small
L. {10 marks)
{ii} Discuss three factors that are likely to influence the views of the shareholders in the analysis in (b} (i) above,

{6 marks)

(Total: 20 marks)
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QUESTION FIVE

(@)
(b)

(<)

(d}

Suggested answers available: www.someakenya.com/cpa-revision-kits

Explain how currency swaps could be used to hedge against the foreign exchange operating exposure of a firm.

{4 marks)
International Bank expects that the Mexican Peso (MXP) will depreciate against the US dollar (USD) from its spot
rate of $0.15 to $0.14 in ten days. The following interbank lending and borrowing rates exist:

Annual lending rate Annual borrowing rate
US dollars (USD) 8.0% 8.3%
Mexican Peso (MXP) 8.5% 8.7%

Assume that International Bank has a borrowing capacity of either 10 million USD or 70 million MXP in the
interbank market, depending on which currency it wants to borrow. Further. assume that one year has 360 days.

Required:
(i} Demonstrate how International Bank could capitalise on its expectations without using deposited funds.

(5 marks)
{ii) Estimate the profits that could be generated from the strategy adopted in (b} (i) above. (I mark)

Assume all the information provided in (b) above with this exception: International Bank expects the MXP 10
appreciate from its present spot rate of $0.15 to $0.17 in 30 days.

Required:
(i) Demonstrate how International Bank could capitalise on its expectations without using deposited funds,

(5 marks)
(i) Estimate the profits that could be generated from the strategy adopied in (¢) (i) above. {1 mark)
Highlight two shortcomings of the Black-Scholes option pricing model, (4 marks)

{Total: 20 marks)

..............................................................................
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KASNEB

CPA PART 111 SECTION 5
ADVANCED FINANCIAL MANAGEMENT
THURSDAY: 26 May 2016. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

{a) In the context of appraisal of capital investments under conditions of uncertainty, explain four limitations of utility
analysis. (8 marks)

{b) Planet Ltd. is considering undertaking a 20-year project which requires an initial investment of Sh.250 million in a

real estate partnership and whose present value (PV) of expected cash flows is Sh.254 million. Planet Ltd. has the
option to abandon the project any time in the next five years for Sh.150 million. The variance in the present value
{PV} of the cash flows is 0.09 and the 5-year risk-free rate is 7%,

Required:

(i) The net present value (NPV) of the project including the option to abandon the project. (10 marks)
{ii} Comment ¢n the results of your analysis in (b){i) above, {2 marks)
Note:

1. The Black-Scholes Option Pricing Model

C =P, N(d)) - P, N(dz)e™"

Where: [Pa \
In + {r+0.55°)t
P.
d| =
syt
dg = d; -5 \{T
2, The Put-Call Parity Relationship
P=C-P,+Pe™"
{Total: 20 marks)
QUESTION TWO
(a) Biashara Ltd. wishes to invest in stocks M and N in two different industries. The following information relates to the
two stocks:
Stock M Stock N
Expected return (%) 18 16
Standard deviation (%0) 8 6
Beta coefficient 1.80 1.50
Amount of money invested (Sh.) 1,200,000 800,000 —
Required:
(i) The expected portfolio return. (4 marks)
(it} Explain the effect on the portfolie risk if the returns of stocks M and N were perfectly positively correlated.
Include suitable calcutations. (6 marks)
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b) Mapeni Ltd’s investment fund comprises four major projects. The details of the projects are as follows:

Project Market value Expected Standard Cocfficient of correlation
of the fund (%) return (%) deviation (%)  with the market
1 28 10 15 0.55
2 17 i8 20 0.75
3 31 15 14 0.34
4 24 13 18 0.62

The risk-free rate is 5% and the market return is 14%. The standard deviation of the market return is 13%.

Required:
(i) The beta coefficient of the investment fund. {4 marks)
(it) By comparing the expected return and the required return, advise whether Mapeni Ltd. should change the
composition of its portfolio. (6 marks)
(Total: 20 marks)
QUESTION THREE

On 1 Janwary 2016, Mavuno Limited was in the process of raising funds to undertake four investment projects. These projects
required a total of Sh.30 million.

Given below are details relating to the four investment projects;

Project Required initial Infernal rate
investment of return (%)
Sh. “miilion™
A 8 26
B 7 te
C 9 20
D 6 22
Additional information: \
I. The company had Sh.9 million available from retaiwed earnings as at [ Janvary 2016. Any extra equity finance would
have to be sourced through an issue of new ordinary shares.
2. The market price per ordinary share on 1 January 2016 was Sh.25.60 ex-dividend. Information on earnings per share

(EPS) and dividend per share (DPS) over thelast 6 years is as follows:

Year ended 31 December 2040 2011 2012 2013 2014 2015
EPS {Sh.) 4.5 4.8 4.9 5.2 5.5 6.0
DPS (Sh) 2.5 2.8 29 3.0 3.2 3.5
3. Issue of new ordinary shares would attract a floatation cost of Sh.4.60 per share.
4, 9% irredeemable debentures (par value of Sh.1,000 each) could be sold with net proceeds of 93% due to a discount on

issue of 2% and a floatation cost of $h.30 per debenture. The maximum amount available from the issue of the 9%
irredeemable debenture would be Sh.4 million after which debt could only be obtained at 12% interest with net
proceeds of 90% of par value.

5. 10% preference shares can be issued at a par value of Sh.80.
6. The company’s capital structure, which is considered optimal, is as follows:
%
Equity capital 45
Preference share capital 30
Debenture capital _25
100
7. The corporate tax rate applicable is 30%,
8. The company has te exhaust internally generated funds before raising extra funds from external sources.
Required:
(a) The levels of total new financing at which breaks occur in the weighted marginal cost of capital (WMCC) curve.
{2 marks)
)] The weighted marginal cost of capital (WMCC) tor each of the 3 ranges of levels of total financing as determined in
(a) above, {10 marks)
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(c) (i) Advise Mavuno Limited on the project(s} to undertake assuming that the projects are divisible. {6 marks)

(ii) Determine the optimal capital budget. (2 marks)
(Total: 20 marks)

QUESTION FOUR
{a) With reference to corporate valuation, describe the importance of enterprise value (EV). (6 marks)

(b) Huge Ltd. intends to take over Tiny Lid., another company in the same industry. Tiny Ltd. is expected to post earnings
of Sh.86 million next year.

If Huge Ltd. acquires Tiny Ltd., the expected results of Tiny Ltd., for the next three years will be as follows:

Year after acquisition

Year 1 Year2 Year 3

Sh. “000” Sh. “000" Sh. *000”
Sales 200,000 280,000 320,000
Cash costs/expenses 120,000 160,000 180,000
Capital allowance 20,000 30,000 40,000
Interest charges 10,000 {0,000 10.000
Cash to replace assets and finance growth 25,000 30,000 35.000

From year 4 onwards, it is expected that the annual cash flows from Tiny Ltd. will increase by 4% each year into
perpetuity.

Tax is payable at the rate of 30% and this tax is paid in the same year the profits to which it relates are earned.

If Huge Ltd. acquires Tiny Ltd., it estimates that the gearing after the’acquisition will be 35% measured as the value of
debt as a proportion of the total equity and debt. After the acquisition of Tiny Ltd., Huge Ltd. would have a cost of
debt of 7.4% before tax and a beta of 1.60.

The risk-free rate is 6% and the return on the market pogtfolio is 11%.

Required;

(i) The offer price for Tiny Lid., if Huge(Ltd. were to value Tiny Ltd. on a forward price earnings (P/E} multiple
of 8.0 times. A (2 marks)

(i) The weighted average cost of capital (WACC) for Huge Lid. after the acquisition of Tiny Ltd. {2 marks)

(iii) The offer price for Tiny Ltd. using a discounted cash flow (DCF) based valuation. (10 marks)

(Total: 20 marks)

QUESTION FIVE

(a) Discuss four techniques that a company might use to hedge against the foreign exchange risk involved in foreign
trade, (8 marks)
(b) Jasper Ltd. is a company based in Nairobi, Kenya which does business with companies based in Tanzania. From such

trade, Jasper Ltd. expects the following cash flows in the next six months, in the currencies specified:

Payments due in 3 months Ksh. 116,000
Receipts due in 3 months  : Tsh.1,970,000
Payments dug in 6 months  :  Tsh.4,470,000 —_
Receipts duein 6 months  : Tsh.1,540,000

The exchange rates in the Nairobi market are as follows:

Tsh/Ksh
Spot 17.106 — 17.140
Three months forward 0.82 - 0.77 cents premium
Six months forward 1.39 — 1.34 cents premium
CAS3 Page 3
Out of 4

Suggested answers available: www.someakenya.com/cpa-revision-kits
e e i—SSS L —




Interest rates

Borrowing Lending
Ksh. 12.5% 9.5%
Tsh. 9% 6%

Reqluired:
The net Kenya shilling receipts/payments that Jasper Ltd. might expect for both its three month and six month
transactions if the company hedges foreign exchange risk on the:

(D) Forward foreign exchange market. ' {6 marks}

(ii} Money market. {6 marks)
(Total: 20 marks)
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NORMAL CURVE

AREAS
under the
STANDARD
NORMAL CURVE
from Oto z
z 0o 1 2 3 4 5 6 7 8 9
0.0 .0000 .0040 .0080 .0120 .0160 0199 0239 0279 0319 .0359
0.1 .0398 .0438 0478  .0517 .0557 .0596 0636 0675 0714 0754
j 0.2 0793 .0832  .0871 0910 .0948 0987 1026 1084 A103 1144
0.3 1179 4217 1255 1293 1331 1368 1406 .1443 1480 1517
0.4 .1554 1591 1628  .1664 .1700 A736 0 1772 1808 1844 1879
0.5 L1915 L1950 1985  .201. 2051 .2088 .2123 .2157 2190 2224
0.6 .2258 .2291 .2324 2357 .2389 2422 2454 .2486 .2518 .2549
0.7 .2580 2612  .2642 2673 .2704 2734 2704 .2794 .2823 .2852
0.8 .2881 .2910 2939 2967 .299€ .3023 L3081 .3078 .3106 3133
0.9 .3159 L3186 3212 3238 .3264 .3289 3315 .3340 .3365 .3389
1.0 .3413 .3438  .3481 .3435 .3508 3531 3554 35877 .3599  .3621
1.1 .3643 .3665 .3686 .3708 .3729 3749 3770 .3790 L3810 3830
1.2 _.3849 .3869  .3888 .3%07 .3925 .3944 3962 .3980 .3997 4015
3 4032 4049 4066 4082 .4099 4115574131 4147 4162 4477
4192 4207 4222 4236 4251 42656 4279 4292 4306 4319
1.5 4332 4345 4357 4370 4382 \..4394 4406 4418 4429 4441
1.6 4452 4463 4474 4484 4495 4505 4515 4525 4535 4545
1.7 4554 4564 4573  .4582 .4591 4599 4608 4616 4625 4633
1.8 4641 4649 4856 4664 4671 4678 4686 4693 4699 4706
1.9 4713 A719 4726 4732 74738 A744 4750 4756 4761 4767
2.0 4772 4778 4783 4788 4793 4798 4803 .4808 4812 48147
21 4821 4826 4830 4834 4838 4842 4846 4850 4854 4857
2.2 4861 4864 4868 4871 .4875 4878 4881 4884 4887 4890
2.3 4893 4896 4898 49501 .4904 4906 4909 4911 491 4916
24 4918 4920 4922 4925 4927 492% 4931 4932 4934 4936
2.5 .4938 4940 4941 4943 4945 4946 4948 .4949 4951 4952
2.6 4953 4955 4956 4957 4959 4960 4961 4962 4963 4964
2.7 4965 4966 4967  .4968 .4969 4970 4971 4972 4973 4974
2.8 4974 A975 4976 4977 4977 4978  .4979 4979 .4980 49881 |
2.9 4981 4982 4982 49383 .4934 4984 4985 4985 .4986 4386
3.0 4987 4987 4987 49388 4938 4989 4989 4989 4990  .49%0
3.1 4990 4991 .4991 4991 4992 4992 4992 4992 4993 4993
32 4993 4893 4994 4994 4994 4094 4994 4995 4995 4995
3.3 4995 4995 4995 4996  .4996 4996 4996 4996 4396 4997
34 4997 4997 4997 4997 4997 4997 499 4997 4997 4998
|
3.5 4998 4998 4998 4998 4998 4958 4998 .4998 4998 4998
3.6 .4998 .4998 .4999 .499% 4999 .499% 4999 .4999 4999 4999
3.7 4999 4999 4999 4999 4999 4999 4999 49899 4999 4999
3.8 4999 4999 4999 4999 4999 4999 4999 4899 .4999 4999
3.9 5000 5000 5000 5000 .5000 5000 5000 5000 5000 .5000
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KASNEB

CPA PART 111 SECTION 3
ADVANCED FINANCIAL MANAGEMENT

THURSDAY: 26 November 2015. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE
{a) In the context of financial management, explain what is meant by “stakeholder theorv”. (6 marks)

(b} A company is considering whether to purchase equipment to increase its production and sales volumes. The equipment
costs Sh.500,000.000 and has a useful life of three years after which it can be sold as scrap for $h.80,000,000. For each
of the three years of usage. the equipment is expected to increase both sales revenue and operating costs by
$h.600.000,000 and $h.390.000.000 respectively. The company’s cost of capital is 10%.

Required:
— Compute the percentage change required in each of the following factors for the project to be rejected:
(i} Initial cost of the equipment, {4 marks)
(i) Scrap value of the equipment. {2 marks)
{iii) Sales revenue. {4 marks)
(o) Evaluate four advantages of employing organic growth strategies. (4 marks)

{Total: 20 marks)

QUESTION TWO
(a) In most cases. the assumption is that investors are risk-averse. thar isithey like returns and distike risk.

With reference to the above statement, explain why it is argued that only systematic risk and not total risk is important.
{4 marks)

{b) In the context of portfolio theory, explain the meaning of*beta coefficient”. (2 marks)

i(c) The following data have been provided with respect 1o three shares traded on the Nairobi Securities Exchange (NSE):

Share A Share B Share C
Risk-free rate of return 12% 12% 12%
Beta coefficient 1.340 1.000 0.750
Return on the NSE index 0.185 0.185 0.185
Required:
() Interpret the beta coefficients of shares A, B and C. (3 marks)
{in Using the capital‘asset pricing model (CAPM), compute the expected return on shares A, B and C. (3 ntarks)

(d) The following information relates to portfolios P and N:

Portfolio P Portfolio N
Average retum 35% 28%
Beta 1.25 1.00
Standard deviation 42% 30%
Non-systematic risk 18% 10%

Assume that the risk free rate is 6% and the average market return is 13%.

Required: )
(i) Sharpe’s performande measure for portfolios P and N. (2 marks)
(ii) Treynor’s performance measure for portfolios P and N. (2 marks)
(iri) Jensen’s performance measure for portfolios P and N. (2 marks)
(iv) The appraisal ratio for portfolios P and N. {2 marks)
(Total: 20 marks)
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QUESTION THREE
(a) Comment on the assertion that capital structure is strongly influenced by managerial behaviour. {4 marks)

{b) The finance director of Nyuki Lid. wishes to estimate what impact the introduction of debt finance is likely to have on
the company’s overall cost of capital. The company is currently financed by equity only.

Nyuki Lid.- Summarised capital structure
Sh.000™

Ordinary shares (Sh.2.5 par value) 5,000

Reserves 11.000

16,000

The company’s current share price is Sh.4.20 and up to Sh.4 million of fixed rate five-year debt could be raised at an
interest rate of 10% per year. The corporate tax rate is 30%.

Nyuki Ltd."s current earnings before interest and tax are Sh.2.5 million. These eamings are not expected 1o change
significantly for the foreseeable future.

The company is considering raising either Sh.2 million in debt finance or Sh.4 million in debt finance. In either case.
the debr finance will be used 10 repurchase ordinary shares.

Required: -
Using Modigliani and Miller’s model in a world with corporate tax, estimate the impact on Nyuki Ltd.’s weightc
average cost of capital of raising:

(i) Sh.2 million in debt finance. (6 marks)
(ii} Sh.4 million in debt finance. (6 marks)
(c) Comment on the accuracy of the estimates produced in (b) (i) and {ii) above. {4 marks)

(Total: 20 marks)

QUESTION FOUR

(a} {i) Define the term “free cash flow to equity”™. < (2 marks)
(ii) Explain how free cash flow to equity could’'be used for valuation. (4 marks)
(b) Discuss two advantages and two disadvantages'of economic value added (EVA). (4 marks)

(c) The following information relates t¢ JashoiLtd.:

Statement of profit or loss extractsfor the year:

2013 2014
Sh.*million”  Sh.*million™ -
Revenue 326 380
Pre-tax accounting profit 67 84
Taxation 23 29
Profit after tax 44 58
Dividends 15 18
Retained earnings 29 37
Statement of financial position extracts for the year:
2013 2014
Sk.“million” Sh.“million™
Non-current assets 120 156
Net current assets 130 160
. 250 316
Financed by;
Shareholders” funds 195 236
Medium and long-term bank loans 33 80
250 316
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Additional information;:

Jasho Lid. had non-capitalised leases valued at Sh.1¢ million in each vear from 2012 to 2014.
Capital employed as per the year 2012 financial statements was Sh.223 million.

The pre-tax cost of debt was estimated to be 9% in year 2013 and 10% in vear 2014.

Jasho Ltd.’s cost of equity was estimated to be 15% in year 2013 and 17% in year 2014,

The pre-tax accounting profit is obtained after deducting the economic depreciation of the company’s nen-current
assets. This is also the depreciation used for 1ax purposes.

The target capital structure for Jasho Ltd. is 60% equity and 40% debt.

The effective tax rate was 30% in both year 2013 and vear 2014.

Economic depreciation was Sh.30 million in year 2013 and Sh.35 million in year 2014,
Other non-cash expenses were Sh.10 million per year in both 2013 and 2(114.

0. Interest expense was Sh.4 million in year 2013 and Sh.6 millicn in year 2014,

e

il

Required:
(i) Stating any assumptions made, estimate the economic value added (EVA) of Jasho Ltd. for both year 2013
and year 2014, (8 marks}

tii} Comment on the performance of Jasho Lid, {2 marks)
{Total: 20 marks)

QULESTION FIVE

an (a) The main driver of option valuation is the volatility of returns of the associated asset.
Support the above statement. {4 marks)
(b Explain how triangular arbitrage ensures that currency values are essentially the same in different markets around the
world at any givern moment. (4 marks)

(c) Granada Ltd.. a UK-based company, imports computer componentsifrom the Far East. The trading currency is the
Singapore dollar (83) and the value of the deal is S328 million,; Three month’s credit is given. The current spot
exchange rate is S$2.8 to one sterling pound (£). Because of recent volatility in the foreign exchange markets. Granada
Ltd.’s directors are worried that a rise in the value of the §3.could wipe out the profits on the deal. Three alternative
hedging methods have been suggested as follows:

¢ A forward market hedge.
* A money market hedge.
*  Anoption hedge.

Granada Lid.’s treasurer has provided:the following information:

The three-month forward rate is $3$2.79:£1,

1.
2. Granada Lid. can borrow Singapore dollars at 2% interest rate per annum and sterling pounds at 5% per annum.
3. Deposit rates are 1% per annum in Singapore and 3% per annum in the UK.
4. A three-month American call option to buy $$28 million at an exercise rate of $32.785:£1 could be purchased at
a premium of £200,000 on the London OTC option market,
Required:
(i) Indicate which would be a better hedge between the forward market hedge and the money market hedge.
(6 marks)
(i) Evaluate the option hedge if the following spot rates were applicable in three months’ time:
+ S§2.78:£1.
o S$2.82:£),
(6 marks)

{Total: 20 marks)
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KASNEB

CPA PART ITII SECTION 5
ADVANCED FINANCIAL MANAGEMENT
PILOT PAPER
September 2015. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

The managers of Kawaida Ltd. are investigating a potential Sh.25,000,000 investment. The investment would be a
diversification away from existing mainstream activities into the food manufacturing industry. $h.6,000,000 of the investment
would be financed by internal funds, Sh.10,000,000 by a rights issue and Sh.9,000,000 by fong term loans. The investment is
expected to generate pretax net cash flows of approximately Sh.5.000,000 per year for a period of ten vears. The residual value
at the end of year 10 is forecast to be Sh.5.000,000 after tax. As the investment is in an area that the government wishes to
develop. a subsidised loan of $h.4,000.000 out of the total Sh.9.000,000 is available. This will cost 2% below the company’s
normal cost of long term debt finance which is 8%.

Kawaida Ltd."s equity beta is 0,85, and its financial gearing is 60% equity and 40% debt by value, The average equity beta in
the food manufacturing industry is 1.2 and average gearing 50% equity and 50% debt by market value.

The risk free rate is 5.5% per annum and the market return is 12% per annum.

Issue costs are estimated to be 1% for debt financing (excluding the subsidised loan} and 4% for equity financing. These costs
are not tax allowable.

The corporate tax rate is 30%

X

Required:
(a)  Estimate the adjusted present value (APV) of the propased investment. {15 marks)

(b)  Comment upon the circumstances under which APV might be a better method of evaluating a capital investment than
net present value {(NPV). \ (5 marks}
(Total: 20 marks)

QUESTION TWO
(a}  ABC Lid., a small manufacturing firm, wishes to acquire a new machine that costs Sh.30.000.

Atrangements can be made 1o lease or purchase the machine . The firm is in the 40% tax bracket. The firm has gathered
the follewing information aboui the two alternatives:

Purchase: ABC Ltd. can finance the purchase of the machine with a 10%, 6 year (oan requiting annual end of year
installments. The machine would be depreciated using the reducing balance method. It would have a salvage value of
$h.6.000 after 5 years. The company would pay Sh.1,200 per year for a service contract that covers all maintenance
costs. The firm plans to keep the machine and use it beyond its 5 year recovery period.

Lease: ABC Lid. would obtain a § year lease requiring annual end-of-year-lease payments of Sh.10.000.
The lessor would pay all maintenance costs. Insurance and other costs will be borne by the lessee.

ABC Lid. would be given the right to exercise its option to purchase the machine for Sh.3,000 at the end of the lease

term.

Required: '

Advise ABC Lid. on which alternative to take using suitable computations. {16 marks)
{b)  Briefly explain how the arbitrage process may lead to an equilibrium in the financial markets. {4 marks)

(Total: 20 marks)
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QUESTION THREE
(a)  Briefly discuss the meaning and importance of the following terms as used in option pricing:

(i Delea. {2 marks)
(i) Theta. {2 marks)
(iif) Vega. (2 marks)
{iv) Rho. (2 marks)
(v} Gamma. (2 marks)

(b)  Assume that your company has invested in 100,000 shares of Usaidizi Ltd., a manufacturer of light bulbs. You are
concerned about the recent volatility in Usaidizi Ltd.’s share price due to the unpredictable weather in Uganda. You
wish to protect your company’s investments from a possible fall in Usaidizi Ltd. share price until winter in three months
time, but do not wish to sell the shares at present.

Ne dividends are due to be paid by Usaidizi Ltd. during the next three months.

Market data:

s Usaidizi Ltd. current share price; Sh.20

s (Call option exercise price: Sh.22

* Time to expiry: 3 months

* Volatility of Usaidizi Lid. shares 30% (standard deviation per year)

Assume that option contracts are for the purchase or sale of units of 1,000 shares.

Required:

(i) Devise a delta hedger that is expected to protect investment againsi changes in the share price until the weather
changes. Delia may be estimated using N(d,). {8 marks)

(i) Comment on whether such a hedge is likely to be totally successtul. (2 marks)

{Total: 20 marks)

QUESTION FOUR ¢

Omena Ltd. is a firm in the manufacturing industry:\The management of this company are considering purchasing a new
machine at a cost of Sh.125 million. This investmentis expected to reduce manufacturing costs by Sh.45 million annually. The
firm will need to increase its net operating working capital by Sh.12.5 million when the machine is installed, but the required
operating working capital will return to the original level when the machine is sold after 5 years.

Omena Ltd. will use the straight line method to depreciate the machines and it expects to sell the machine at the end of years
operating life for Sh.11.50 million. The company pays corporation taxes at the rate of 30% and uses 10% cost of capital 1o
evaluate projects of this nature.

Required:
{a)  The project's net present value. (3 marks)

(b)  The firm's management are unsure about the annual savings in operating costs that will occur with the new machines
acquisition. Management believes that these savings may deviate from their base case value (Sh.45 million) by as much
as a plus or minus 10%.

Determine the net present value of the project under both situations and comment on the sensitivity of this variable. (5 marks)
(¢} Suppose the firm's chief finance officer suggest that the firm does a scenario analysis for this project because of the
concerns raised about data assumptions, particularly the annual operating cost saving, the salvage vatue and the net

operating working capital (NOWC) requirement. After an extensive analysis, she arrives with the following
probabilities and values for the scenario analysis:
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Annual operating Salvage

Scenario Probability cost saving value NOWC
Sh.""000" Sh." 000" Sh." 000"
Worst case 0.4 36,000 9,000 15,000
Base case 0.4 45,000 11,500 12,500
Best case 0.2 54,000 14,000 10,000

Determine the project's expected net presemt value (ENPV), standard deviation and its coefficient of variation. (7 marks)

(d)  If net present value of this project is less than Sh.5 million, this company will be exposed to a hostile takeover.
Determine the probability thar this company will avoid a hostile takeover (Assume normal distribution). (5 marks)
(Total: 20 marks)

QUESTION FIVE
(a) In relation 1o corperate restructuring and re-organisation, distinguish between the term "demerger" and "spin off™.

{3 marks)
(b)  ABC Ltd.'s investment fund comprises of four major projects, detatls of which are as follows:
Number of Market price Expected Standard deviation Correlation
Stock shares per share return (%) of return with market
A 2,000,000 30 10 15 0.55
B 1,000,000 25 18 20 -0.75
C 2,000,000 20 15 14 0.84
D 3,000,000 25 13 - 18 -0.62

The risk free rate of return is 5% and the probability distribution of a market portfolio return are given as follows:

Forecasted
Probability return of market

%
0.2 15
0.15 10 \
0.30 15
0.25 20
.10 25

The variance of return of the market porifolioys 169%.

Required:
(i) Using portfolic theory, evaluate whether this portfolio is super-efficient, efficient or inefficient. {6 marks)

(i) Using the capital asset pricing model (CAPM), advise whether management of this company should change the

compaosition of their pottfolio or not. (6 marks)
ic)  State and explain any three conceptual differences between portfolio theory and the capital asset pricing model
(CAPM). (5 marks)

(Total: 20 marks)

CAS3 Pilot Paper Page 3 Outof 3

Suggested answers available: www.someakenya.com/cpa-revision-kits




